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The test is a race against the ¢
1:

> Things to note before tackling the practice tests

Using this book

» Features of this book

: The practice tests in this book contain the same number of questions as the actual

Japanese-Language Proficiency Test N3. There are two different practice tests, with
a CD for each.

- The questions on each practice test feature a time marker that specifies how long

you should spend on that question. Answering each question within the indicated
time will allow you to go back and review your answers after you finish.

-When you finish the first practice test, calculate your score (perfect score

is 60 points) for each part of the test ( “Language Knowledge”, “Reading
Comprehension”, and “Listening” ). Sections for which you fail to score at least 80
% (48 points according to this book's scale) represent the areas where you need to
improve.

:Each answer is followed by a detailed explanation. Make sure to read the

explanation for each question you missed and try to figure out why you were unable
to determine the correct answer.

. The end of the additional booklet that comes with this book contains a few pages

devoted to test taking strategies and study methods. Read the information provided
here and try to master the sections on which you got a low score.

Keep track of the time as you answer the questions.

2: On the N3 test there are 30 minutes for the “Kanji Reading and Vocabulary”

parts, 70 minutes for the “Grammar and Reading Comprehension” parts, and
40 minutes for the “Listening” part. Be careful not to spend too much time on
“Grammar”, otherwise you will be unable to devote enough attention to the “Reading
Comprehension” questions. Look over all of the questions before you begin and
think about how to manage your time. '

. Skip the questions that you find difficult and answer them later. Don't forget to

clearly mark the questions you skipped.



Please complete the first practice test.

Use the indicated times for each question

as a guide.

s |

is refer to mai
book.

AT,

Fill in your marks.

e TR

e

is refer to separate
answer booklet.

You achieved less than 80% You achieved 80% or

in one or more sections. more in all sections.

Read the explanation for each
section to get a clear idea of
what your mistakes were.

For sections that you find
difficult, read the techniques
and study the section-specific

practice questions again.

Please complete the second practice
test, paying special attention to areas

where you went wrong on the first test.

Fill in your marks.

e

ST,

Please read the techniques for any sections that you find difficult, and
then make sure that you apply them before taking the actual Japanese
Language Proficiency Test!

This is because the new exam requires a minimum acceptable score
for each section, so if your marks on one section are low, you could fail
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3% The content below was created based on information from The New Japanese Language Proficiency Test Guidebook: Overview
and Test Questions N1, N2 and N3 { The Japan Foundation, Japan Educational Exchanges and Services ).
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The new test features two scoring systems that are used to determine whether you pass or fail: the overall score, and
the minimum acceptable score for each scoring section. To pass each scoring section ( Language Knowledge/Reading
Comprehension / Listening ), you must get at least the minimum acceptable score. Regardless of how high your overall score is, if
you are unable to clear the minimum acceptable score for one section, you will fail the entire test.
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5% The content below was created based on information from The New Japanese Language Proficiency Test Guidebook: Overview
and Test Questions N1, N2 and N2 (The Japan Foundation, Japan Educational Exchanges and Services).

SFEMPAREL FE (BN fe s R A N1, N2, N3 £ (HarfTEE A BRiEs , MHEA AARER#E
frd ) B8 BORRARMER Y.

%0l5te] LIZ S FAMZ S rUEolsHAIR, 7t0|=8 72 E3 BAIE N1, N2, N3 B, (SEYEHY SHZFIIE, Meel
uEaRx|EE ) o HES 7= sHAE el
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Eﬁﬂ%ﬂ)f‘ﬂ%ﬁ/ Language knowledge questlons / mlﬁiﬂl H‘] Cﬂ;’?ﬁ/ O*O-leé—l T_’?_-Iﬂ

rﬁnuiUH&J Wi Dﬁ’?’ Eﬁj 7b§f-[7,l%§hi'§-o

In “Language knowledge" , vocabulary questions will appear.
[EHIEALR) 9 M30F - HiL) $EE.
rodof X141, ol TE2X- offly 7 EFELCE.

ﬁ{EEﬁlﬁJﬁ‘E/—-—xk of#l 2R |

N3 TI3F - iBfen MEIE, 2009 4 % TOHAREIEIRBED 2 % 3 OMEL
Db EEMAL % o TVWET. 20094 TOREBTIE, EFOIELVWiih % &
AEEAT20 M, FLWEESZEAME 15 MY £ LA 2010 550 N3 Tl
SRR BEAMEMS M., ELVETE BEAMED 6 MEELMIESINTE A,

In N3, there are fewer vocabulary questions than in there were in JLPT Level 2 and Level 8 until 2009. In the old exam, there were
20 questions where you choose the correct reading for kanji, and 15 questions where you choose the correct kanji for a particular
reading. From 2010, there are only 8 questions of choosing readings, and 6 questions of choosing kanji.

N3 B - IR E R 2009 40 A0 HIERED IR 2 450 3 AV E EED. 2 2009 435 AT AR | SRR IE
WS EE A 20 B, SR ERSEMMEA 15 8. EM 2010 FFFEE N3 of, RAERNFEREEN 8 B SR i
B IETRE HhAY 6 12 E A

N3 Ol A BXF- 02 2A= 2000 Vi7tx|ol YEolsAIE 2 20Ut 3 BECH BRI £7F EU&LICH. 2009 x| Aol A
= 3% 9 e n=2s 2M7F 20 --xﬂ ot sixtE pEs 2807115 28 AgiaLich. 2010 HREI N3 olME = He 1
2E 2HM7t s A, ';'J: A2 n2= 2876 2X Hzbol| ZXEIX| gh&LIch.
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[EFER & Kanji Reading /10 i/ 8t &b 271]

EFETEPNEORA L ZRES (8 FH),
Choose the correct reading for the indicated word written in kanji (8 questions).
VR FRYIERRIEE (8 5 ).

EHRE Kl tofe el W 27| (8 B).

R : DCEEDHEAFELTRBELVEDE, 123 -4h5—

ABUBREL,
Bl BhBrZvdS LTV,
L Lz 2 L= 3 L 41w

B12) BERIZBEERD T %L oz,
1, Lo 2 Ik 3. 4. U5

B2 200—-

[ZR5E~ Orthograph /455 £7)

Do TEPNIZEY, EFTEDOL ) ZEINLILZES 61,
Choose how the indicated word written in hiragana should be written in kaniji (6 questions),

S PR B R IE A SRR (6 ).

SIEt7HI R HEl Ho1S BHRIZ of%iH| MEX| 12| (6 2).

[ : DNCEBEEFTECLEZ, RBLVEDE, 1:2-3-4h5—

ULy,
1) HEAPEBEWEBRDLRWEDRLFEF RV,
1. &R 2. f& 3 W 4. H

B12) HHEIZZ ) PVORIEATHLS,
1. B4 2. Wyt 3.z 4, RE

A

5

BEZIE 20—y

[SCARIRTE .~ Contextually-defined expressions /BEE3Ck /B U7 5]

RO AN 2 EY) 275 % 25 (11 B,
Choose the most appropriate word in the context given (11 guestions).
MBS 0 3@ A E A (11 3 )e

F9 otoll Soiz MFet Hroj 12| (11 2).
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BE: ( ) KCAhZDIZELEVDHDE, 1 -2 -3 - 4HDP5—2Z5VK&ELY,

Bl1) HOAFTVDOL ( ) WICHZWT, 7SS PER) LTwa,
1. #F 2. R 3 =¥ 4, B

BROME i+

B 2) @hrTcErhni ( ) DL NHRITICAT o 720

1. i 2. 1B 3 & 4. &
Bzld 20 =Y
ol _ BV E
[\ v 2 $83% ~ Paraphrases /4T Lid / § 2| % 5]
BEZICRENDERRAL BERBICHEWERLEI 2 EE G M),
Choose a word or phrase with a similar meaning to the one highlighted in the sentence given (5 queslions).
AR ) Y AR R A R R B A T A (5 ).
2ol Lot 2l ErofLt EET ol0l7t It 2 D27 (BB ).
e : ICBEPREEVEDE. 123 - 4p5—2DFBVKEEL,
Fl1) HOFBEZEBIZREL { TWWEAET,
1. fijHT 2. BT 3. &M|T 4 BHLALT

B 2) BEEZ ANTL 723w,
1. EFa+ 2 o 3 AF—F 4 IHIbb
Bz 20—

[Fi%./ Usage /M 2]

Lyakin =

WEFESLORTED L ) IfEbh s 0% ES (BH).
Choose how the indicated word should be used in a sentence (5 questions).
VAR IR AP AT B TRIRTIE BRI (5 ).
ERloi7t 250IM o{ZH ABEIET 12| (5 8).
Bl : 2EDZEEDFENFELTRELIVEDEZ, —D2BEV KRS,
Bl A
1. S o AiBTrANE2IES,
2. DDA FIABES,
3 MREEZZDICAHEZE -7
4 AFBCBAZRARTE, £)LEAES, .
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B12) PRrE

RIIio726, IV,
10F¥THBHN0, BAFREICE 72,
HOHIRUAAZE S, JRHEICE 572,
PREBETESTH L, FOPIZANTLEE W,

= W N

BHAIZ20R=Y

...............................................................................................

2009 4E FTO 2 OB O ML, BiakBr [SLOIE: 1] & e 5 HIEA 20 FIFLEE,
3HTIE 15 MEEHEE N TWE L7z, 20104E4 5D N3 T 13 HIRBEEICR ) 9,
TOND YIS, G2 WAFR THEY 2 LREEMERLT 5 [ X0 2] 35 AR HE
SNFET, SHIC, FRRTIE [XEOXE] L) FLIoXBEOHLS, &
B) 7% SORRBIRCBebean % &2 BN 2 MESHEENE X H12% 0 3,

Until 2008, there were around 20 questions in Level 2 and 15 in Level 3 of the type found in the new exam’s “Sentential grammar 1"
section. This section now contains 13 questions at N3. There are a further 5 questions in “Sentential grammar 2" , where you must
put words in the correct order to make a sentence. Furthermore, in the new section “Text grammar” , there are questions where
you choose the correct sentence endings, conjunctions, etc. in a longer piece of writing.

FE2] 2009 4F 4 1EAY 2 SUER N | WEA MY THMKA OFEE 1 0BH 20 B 3 BebA 15 AW, EM0 2010
FIFIAN N3 s Al 13 8 . M2 AR 5 MHER MO IER A 7 [RFR0EE 2) BE. S5, Beehmlitgs
A [SCRERIER ) R, LA B B SRR P 24 30645 SO A3 507 A ] 1

2009 ANR| 2 2o BY BAlE Al AlEo| T28to| 2 1, of siEste 287 20 28 ME | 3 2olME 15 2/ M5 Zx=|
A& LCH. 2010 AREI N3 Ol 13 28 HE 7 LhSLCH. I oAl &8 #2cH2 Wi Qstod Maist A8 RHMste r2ato| 2
©2, 7t 5 2 T EXIELCH £8, & AlEolME "2o| B, Ol2ts o= M 71 2 otollA Mus B B HO|L HEA
E& MeistE 2x7F EXIELIct.

[I@I;ﬁ 1 (Iﬁﬁ?ﬁaﬁﬁjﬁ) /" Sentential grammar 1 ( Selecting grammar form ) .~
WTRIEE (GBEERHN) 28 2y (2ugs o))

XOHEICE o 7230ERR» LD » 215 (13 1),
Judge which one is the correct grammar form to use in the sentence (13 questions).
HIBHEEE ARG/ FHA (13 ).

2 LIS U= 2Y HAQIX| HEHST| (13 2).

FE: 2FDOXD () CAhZDICRELVEDE, 1 23 -4Hh5—>
ALV &L,
Bll) FELDOZANLT o LY ( WY A—HRELWICEoTLE S,
1. 2EHHLRTC 2 X297 3 ‘v 485
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Bl2) fERL7z< v b, Lk ( o
1. ok 2. pw

3. THbhrEbiwn 4 THLLLEDo7
B2 20—V

[32D30E 2 (STOIHAILT)  Sentential grammar 2 ( Sentence composition )
WFHEE 2 (TSR ) /2R By 2 (23 BEY|) ]

FERNICIEL LN 20, BRDPBANEZMANTAI LB TESL»EMH.
NETORBICII Lo/ Ly A4 7oOMETT G,

Use your knowledge of grammar to construct sentences that are syntactically correct and semantically coherent. This is an entirely
new set of questions ( 5 questions ).
BREGREAAGEE EFIF AR+, XEES N ILAXE T AR ER R e (5 ).
SHHoR H21, SAlM| 0|7t S35t BEE BHE = Uk 2. XZ27F|2 AlEdE GYUE MER2 Bele| 8
MeUCH5 = ).
MR : RDXD H ICAZERHBELVEDE, 123 -4Dh5—DA5UVHKELY,

w1) FARZLE * IS E 5T ho

1. fT&7 2. B9 3. 725 4. N5
#2) WHIE * Bolo

L 2RI 2. Xt 3 &ole 4. R3

BERAIF20R—-T

[MXEDOIE Text Grammar /LR g/ 22| 2]
NEDORNIZE > T2 RHAZ B OFR 2 6B F 3, 2009 4 F TOREIZIZ %
Mol w4 7oMETT M),

Choose the correct expression according to the progression of the text. This is a new type of question that has not appeared in
the exam before ( & questions ).

ML R & BN AN LT 2. 20EF] 2000 EMF AP AT IFTZEN A 5 ).

=2 550l ¥= B3 MR 7t 200 DELICH.2009 A7 X2 AlEols SE M2 2 Btge| EXMYLICH(5 2).
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ﬂﬁ: : 'FEI%/ Read:ng Oomprehensm 7/ Iﬂl&-ﬁfﬁﬁﬁ‘]ﬁﬂﬁ/ E“H e

2009$if@—ﬂ2£@0)2?& 3T [FfE - 3] A%400 i 200 &2 GO F L7z,
2010 4E 70 & DB TIE, CES [SEMR OrF - 3% ] LRUELARGS. ol
ML L2 BRI R ) 5. AHORBRY» S& [FHaXs] THRERUTZL
MORGTEERLLTH, AERICR->TLEVE T, 20720, HEMMIHE
bbb, TTHMEEZTNTHALTBEILE ). NEICHMEZ»TTEL L
AT % REP R BT LEWVE T,

Until 2009, at Level 2 and Level 3, the “Reading and Grammar” section made up 200 marks out of the total 400 marks. From
2010, “Grammar” is part of the same scoring section as the new “Language knowledge ( Vocabulary )" , and “Reading” is an
independent scoring section.  From now on, if you achieve below the minimum acceptable score in any scoring section you will
fail the examn, even if your marks in other sections are good. For this reason, please check all the guestions when you first receive
your exam paper. If you spend too much time on the grammar questions, you will not have enough time to complete the reading
questions.

3 2009 4534 1ERIRESMLAT 2 4 - 3 Bk TIRIEIEAR - 3B ¥BAME 400 WA T 200 4o M 2010 FFEFFIREIHIRIT AR | /K
RS T EIBAIR (SCF-13I0 ) ) HA— P EE L, SRR RS WXRERTT , MRS (B Ea )
R AL TR | BRI R RS iR A, FrLL, SBIBEE , ARG A BE KB —iE. MRIEEE L1
WASHE , FHE R AR RS2

2000 TR 2 2- 3 2ollA= TSl - 28, 0] 400 H F 200 M2 AX[FH&LICH. 2010 HRE{E 220] THoix|Al (2} -
o - Be), 1} A2 SH TRoZ , Sl Salstol oHE S TEO| Euict. ofH AIHRE Z TSH TR, oM 7IEH o
57t S of2 TEoA Mavt Sols B8zo| £l1 guct, iU 2x SX(7t iR EH 94 BAE of I8 SAcH. B
Holl LS AlZtS 2H S35l 28I Z Alztol 2 35HAH Elulct.

[AEIEME (F83L)  Comprehension ( short passages ) /N2 (/T ) /LIgolsl (EHE )]

NG - R EVAVALRFEED &, HELRERL R L 150 ~ 200 FHEED
EXTALDOTFFA M 2HAT, WEICHTAERELZENETT Q).

Read invented explanatory or instructional texts of 150-200 words on topics including daily life, work, etc. and choose answers
relating to their content ( 4 questions ).
EHER , LESEFER  E3E5 150 F ~200 FRIHSEIER UG | W S OCR N AR T (4 31 ).
M. o So| of2] 7hX| B HIE EE BI04, AERO|L} X|AIR 5 150 ~ 200 A} MEo| HAES @7, LI BHEh MEIX|E
DELICHE4 ).
: N L BB
DTOL) RHESTFRINET,
The following types of questions are likely :
B LAMEIAE T T2 A Al
olstet 22 |7t ol & ELICt.

HES : EEFATRDBBV AV AR,
Question: What is the main point the author is trying to make here?
IR VEE AR AT 4 2
Exlo) of Ex7to7|M 7haE Tatm e 22 FUUIE? '
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FIER . EhiIfAZEL TULBH,
Question : What does ﬁ refer to?
BRG] ZHAaRR 4 2

=ML o ThE FAUES 7IEZIEN?

FIREH - ( ) KABRBBEULETRIEI EhD,
Question : Which is the most suitable word to fill the gap ( ] &%
G EA () BRiE YRR
Exlelof ( )ol Sodzt 7hE XMEE AR o= ZiQITL2

[REIEME (Fh3L) ~ Comprehension (mid-size passages) ./ AT AR ( thirEs ) /LI 0|5l (E2)]

BITAHLAEN, 2ol 2EBOFTREDTFA M 2HAT, F—T7—F%

RARBERZ: &3 5B 2RO E 3 (6 /)

Read invented analytical lexts, essays, etc. of around 850 characters, and choose answers relating to the keywords, the reasoning
used in the text, etc. (6 questions).

FESRSEMRL , BOCHE 350 FAARINER | igFilMERX Z%5ET ¢ ).

i, ol Mlo] & 350 At HEQ| HIAES olm , 7|9=Lt ola g7 Sof 28t MEX|E DELICH(E &)

. k%>

DT X ZREINFERINE T,
The following types of questions are likely :
AT AR T T e (a] 4
olstet Z2 27t ol 4t .

Ef] EEENELDEREMAL (FRIZEXDOXET),
Question: Why does the author think that { Underlined phrase is the actual line from the passage )?
(FHRGI EEIANEG ____ WSEmRM 4 ( FRIKNASEXES )

A2l o o Zro| "Al7t 4Z5t= OlRE PRI (HUE2 BEE BE)?

FREI : EHB2D, FEEDEZEZLISEVWEDIEE END,
Question : Thetextsays ___ Which of the following is closest to the author's opinion?
FEB XA, SRS R
Brlelo 2t m Leb i, EXlol Mziof it He o= 7RIt 2

FERER Elds E2VICED,

Example question : What is the meaningof 7
1772017 N {1 77 74

2Xelof 8, 22 20|zt
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[AETERE (3T) ~ Comprehension ( long passages ) / PIZFELR (1CHSCEE ) /LIS O8] (& )]

Bat. TvkA, DNHREBOTFEEDT XA PEHRAT, BELWHEOERNRZ
IS AR ETET (40)o

Read analytical texts, essays, fiction, etc. of around 550 characters, and choose answers relating to the overall theme,
development, etc. { 4 questions ).

TEFEMR, , RO, /M2 2 so0 FEAMXEZ T, EELERTNIE S BT SR 4 & ).
i, ofMlo], 24 S 550 A HE ol HAEE o1, JQLt =2 F7H Sof 5k MER|E DELIC 4 £).

KDL EEFTFEREINI T,
The following types of questions are likely :
AT LA T TR L

Cho 22 X7 g gt

EIRER Elds EFVI el
Question : What is the meaningof ___ 7
(255107 O 115 = | ks
Sxlojof g, 2 onleizte

FREG] : ZNIEEZE L TWVE D,
Question : What does % . refer to?
s ZAUER R4

2Holo zh £ fuUg ItelZ|lEr?

REEG] : 22 TD EBEALBZEREEZZONE D,
Queslion : What kind of thing is meant when the author says ?
RG] A o, ATLAEEI A 2

Exlel o oi7lMel ___ 2k offH Zdolet b A=t ?

HEf : cONELSOOICD2WThIPBZEE, EABI ED,
Question: What do we learn about X X from this text?
IR XTFOO , WSRICHR , AL 4 2
BNl of o] 20ilM ooof Chatod & 4= Qe W2 ofH Zdelst?
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[1E%R#RFE " Information Retrieval /% % /54 2 74 44]

JRE - XY 7Ly bR EDHFETA LEHREN (600 218E) obirs, FEIC
TR FELBINEZRBOE T, 20004FEF TCORBRICIE DT LY £ FORE
75"'5_ (2 rl"'l:l)o

From invented informative materials such as adverts, pamphlets, etc. ( around 600 characters ), choose the information that
answers the question. This is a new type of question that has not appeared in the exam before ( 2 questions ).

W6 - EEFH - HERE - BECESEREM (00 £54 ) T, R RBI B LER, X2 2000 255 - B ER TR
FRF2RIAEE 2 ).

o HWER 5o ME 4K (600 Xt HE ) StoilA , AR0] s sts MEX|IE DELICH. 2000 HHK|S] AlEolE ST A
22 Efelo| 2Lt (22 ).

RO X)) LHEERTFEINTT,
The following types of questions are likely :
Al AU T ERX L R

cham 22 EX7t ol 4ELicH.

((BERA] [FEA OS5 €] O& > LIBTY)
{ A text on a notice board such as a course outline, or information for students
i THHEETRRT ) [R2E b A9 2 36M &Ry
("3 ety TEMUEOIA 2Bl It Z2 AAE)

EEp - A SADPBRUADBHEEILE N,
Question : Which course can student A enroll in?
[FUE] A R AR B A E R 7
EHol o AMZ} MEE £ e ZHE o= 24017},

FEf | B S APEEEZ TICWMS RIThIEVFEVEAEVL DH,
Question : How many credits does student B need to achieve before graduating?
[P B 7RV ATUE I A AL b 2
EX2| ol B M7t ELUE m7tx| FSaHok sHs EH2lE LUnlelst.
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Hﬁﬁﬂw F'TEE/ Llstenlng / Lﬁfﬁiﬁﬁ‘{ﬁ IEI / oH—v—Hl

2010 SEDORERD &, JEMIIELE D 343D 1 % Ko, 2009 4 F T HAGHE N AR
YHART HERE L o T ET (2009 TR A5 1) [SifH#k OLF i)
(3043) ). [S&Emas ok - & (105) ] b L CHE@Ir 4055 T3, HiliE
MEDOSH EIE, VT v 7 AL TROERORBKIMZEL £ )o

From 2010, listening counts for one third of the total marks, which is an increase in relative weight from the old exam ( until 2009,
listening counted for one quarter of the marks ). After “Language knowledge ( vocabulary )" ( 30 minutes ) and “Language knowledge (
grarmmar ) and Reading” ( 70 minutes ), the listening exam lasts for 40 minutes. After the reading section, try to relax and prepare
for the listening exam.

M 2010 SEFF R SEHERGSE R TT NG | DT IRIR BG4 e o T HEAREY 1/ 3, ERAEE] 2009 £ 1LY HiERE AT, HELERANT (2009
SRR/ 4)e 76 30 SHE0R (HIBAER (0 -1@0) ) 70 4M8009 [ HIBATR () - (FERMR)) 285, 40 S B RIVTRES
TEfSERE AR BT E 2 5 |, B O R A ik

2010 11 AlEIEE]| Has HiEel 3 89| 18 #xIsHAH Elod, 2000 HA7HK|e| Y2ois Al HIstod HIBO| FOPR&LIC
(2009 A7 K| 4 E0| 1). Tedo] X|A| (EAH- 01 )(30 8 ), Medof x|4 (BY) S8l (708 ) Eloj &sH7} 40 2 A&UCt.
S35 2M7F B Ch2ols 7IES 23 4B Fall AlEol oid] & AICH.

A

[E2EETEAR ~ Task-based Comprehension / [a/ A%/ Bt A 0|3 ]

FLEH 033‘97;)'7‘#1 FEEWT, NEPHEMCEZ 0D 2 (6/).
o ad )

(Eﬁﬁﬂ@&w’ﬁﬁﬁ%ﬂ VB WRE B XD RIS %Z T 5 0ANEY P ERTE L0 %R D)
1. #PEIR » 2. ZEE ’ 3. =FEe » 4. Bz
Fi&Rs miEZEE < < <

You listen lo an extended text and are tested on how far you understood it (6 questions). (This tests whether, after having heard
the information necessary to solve a concrete problem, you are able to understand what the appropriate next step would be. )

1. Look at the pictures » 2. Listen to the setting ’ 3. Listen to the ’ 4, Listen to the
or options provided and the question conversation guestion

EERGAEN ERENER , B ELAZENES (6).
(BHETRETIGRAAREFEENERZE , BE TE Skt 4 )

1. BESEET *Zuﬁtir,ﬁulnjﬁ_’ 3. T &% » 4,

o HE ZIHAEE ET LHES OlsiE + &E X 26 E).

(FA=Q A ol Eed HEE ED, o zZ

rL

o MGEtx| olsiE = UETHE 2

Ellﬂ
i
1
2
o
,Q,I.'_
mnr

rir
in}

1. 2 3oL 4 * 2 4L EA ’ 3. 3l5t& ’ 4. ENE
ct

=g £t g e=0t i
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[ > B Point Comprehension SEEEM Zo1E0|5]]

FLIEVDOHLTHFAPEHMCT, NEDSEBTEX 20920215 61),
(FHIRENTOBHMREEEST L, B4 Y M Ko TR I EATELPED)

1. BEIRA% ’2.%@& ’ 3 BRFEHRE
2R3 BiREZE < OEE H B)

’ 4. =Fh%Z » 5. B %
F< F<

You listen to an extended text and are tested on how far you understood it (6 questions).

(This tests whether, after having boen instructed to listen for something in particular, you are able to correctly pick out
this point.)

1. Look at the options 2. Listen to the setting ’ 3. Read the options provided
provided . and the question (you are given time to do this)

’ 4. Listen to the 4. Listen to the
conversation ’ question

HERATHATET R EBRAEG , AR NARIRES (6 4 ).
(B ASTREEF RS IR R A EER |- | $TE%E Sk ).

1A || 2 e | SRR B 4 e | s v

Ol HE ZBAEE ET LSS OleHE 5 U=X| B0t 6 2).
(AFEIOl HAI=]o] Q= Sofof 2t LSO 2ztstod, ZOIEE U0 ES £ Qx| 20

1. M| 2 4&1 2x 3. UEiX|E ed=rt 4. 3|38 5 2XM&
g 2ot ’ g ecrt » (812 AlZHo| i) ’ === ’ S

AL H iy

[BEZIERE~ Summary Comprehension /A REEAR,/ 712 Of5H]

ELEVDOBHLTFHR N EMVT, WANERTE 205005 (3.
(7% 2 Ml bEEOBRC Lk CAEETE 525 15)

1. GE% » 2 SEEPRM. B » 3. % ’ 4. FIRIL
< B EzmE< F< z@E<

You listen to an extended text and are tested on how far you understood it ( 3 questions ).
( This tests whether you can pick out a particular speaker's opinion or intentions from the text.)

I

1. Listen to the » 2 Listen to the conversation, » 3. Listen to the ’ 4. Listen to the list of
setting monologue, explanation, etc, questions possible answers
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HEBEATEVTERBINAR ARG G &D-
( AR HEAS B AR TP R T A (AR IS )

’ 2. WTXHE N AFIRYE, ’
LSS

1. Wiz 4. WridkI

3 (B

ol HE 7IHAEE E7 LIS OlSHE = JUEXI BEL (B E).
=X

(HAE Mo M BtALe| oLt FEE 0|3 £ Xl E&C)
1. d¥8 » 2 3stLt 24, ’ 32Xl ’ 4, Meix| 8
=== MH 58 E=rt E=rt ser}

[5E5ETH ~ Utterance expressions /& iEsik /&3t %)

45 b % REAS R 2B T M) 2R RINTE D202 ().
COREIEMEAKCEED D T T. T BESHI S, ZORIC [ZOL
I BRPHTIME S ) NEp] L v ) ME RS 3, BB SN T I Ao

1. IR ’ 2. BEE » 3 BIREZ
KkzR% RIREZ E < & <

Looking a picture while listening to an explanation of some situation, you are asked to choose the best expression for the situation
(4 questions). For these questions, pictures are printed on the exam paper. First, you hear an explanation of the setting, and then

the question “What should you say in this situation?” The possible answers are not printed on the exam paper.

1. Look at the pictures ’ 2. Listen to the setting ’ 3. Listen to the list of
or options provided and the question possible answers

ZRATEENEBLRR BN T | A GRS @ & ).
XAHEE | EAER LEE. AR, EXZ RN (a5 T RIZB AL B EROR IR,

1. % EAE )zu}ftﬁ%mﬁnrﬂiﬁ ) 3, I

ORg B 48 MYe E1 MY WalE MUY = USRI EECH(E ).
ol Exe 28 gxlol 20| YU&Lict. UM ¥ ’é"éokil , 2 o] roleEt HgolMEs ofgH Lalor st St EX

7} olofElLict. MEiX|E

QI z|o fIx| SherLiCh.

1. ZZloL} M=y ’ 2 srgn ERE ’ 3. MER|E
x|2 2ot E= E=
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2 U B3ED
[ENESFIEZ . Quick Response /RIS 7,/ 5 Al Q&)

Tl OB RE R BIGT, B ASENTEZHEES (9 ),

LBl ED ’ 2. BN &
ARVREREZRE <

B — BSR4 LHNTE T, HELBVT, IEMXEMEFLL S,

You hear a short question and responses, and you choose the most appropriate response to the question {9 questions ).

1. Listen to a question or ’ 2. Listen to the possible
other short utterance ANSwWers

The gueslions and responses are read in quick succession. The important thing is to remain calm and pay careful attention to each
choice that is read.

R REATEN TR MG RAES , FHIE Y E MRS 9 ).

1. v B 2 viem

IXEHEIR TR R RS ESER. AEES, (FAVTRE.
AR E W2 USE ED MU Y2 & £ AR BECH(OR).

» 2. dYx|E
Sy

&2 - 8&, ol WOt LEELICH, Zx6) 6tx| Y1 ZES & SSAlCH.

o

=L

o ﬂ"l
mu Ho
m o
e r[g
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BABEENHE #EedE N3 —BE - 85 - WRE—

| 2

the antonym pairs 2FSFRFE and FIH L .

BT MERBAWAMELTHE. MR, YT HEEAZH
MHEA [HF] (TH). #0080 FliE) HEEEEN, H
BSR4 ) (R). Wil TEFoRT M iH
ok Bekkicte.

TRF, £ XIZEc +e/of B2 HWolct, gtoi= U=t x|
E0| Y2 NE "FFI(HA) 2t got. "3 Wi, £ 0I5
S UEZoZ BOiUS THRX(EY) "RFoFFILTH
ok, 2 #0| Y5 FAL.

BB Bk vowssisresisssnsassassssvionin

Section 5 Usage /Al s F¥k/BH 5 &Y

[<{hLw] BEHEALEEH PN E, 11T [58

W, 33 [B#] 413 EATLE-L] &,
ZhENEVHEAD NS,

{ b L \* means detailed, as in a detailed explanation, so the
correct answer is (2). The most appropriate word for sentence
{1) would be 3L (strong). In answer (3) the best word would

be % (complicated), while answer (4) would be # A T L
¥ - /- (increased).

M{hLbv HEERRRFTRIFM. B RHATLLE T8
(38), H=MATLL THEME) (S4y), PUELEMALLS 147
ATLE o7 (BmT) MEREH.

r<hLL, & LB KHAIEH 2. 18 TR, (23,
32 THM.(SE), 4ETMATLE £, (S0iuD og
Ch) 2 22 BhH 2 g 4 9lch .

[Bratl B3 [EBAE] EVWHBKRT. [Be

AE+EE] ODRTEIONF—KE, 11E B
At Llsst]. 313 [BEEE»AETS]. 4
i [HFENATIDHNELA] £, ZhEFh
VWA LNS,

L4 A & means the same as &5 A & ( properly ), and is
generally used in the form (5% A & +85) . The correct
answer is (2). Answer (1) should be written 5% A & L 7-£4#
{ a good company ), answer (3) should be E¥fSl# 5= A & F

% (to be on time ) and sentence (4) should be £ W HF I
& ) £ A (not many hotels ).

TEphi bl IRER TEBAL] (IE), ML TEsAL
+ W] | MR ER. RS The Al Licgit) (R
EXRARE), F=EWMaTLLY THEE b AL FS ) (B,
HFNE), FEMATLLS (bEbRFAUNSEbERA (B
B4 EE) HERER.

Ts5vAL, =TE&5A L, (MOZ 245 AH ) BtE oDlz,
rs5¥AL+BT, o Ho2 ME Zio| YBtEolct. 12
T5vAELIzftt, (REAUE EAL), 32 THEESYA
EFB(AILE HYUSA RIZICH), 4aETHERYFTILHS
VEEA L ZEHO HE Qi&LICH)2 242t uby »E £ o),

[EUs] 3[R, AF] &0 DBl Bl
LOBEERNVSVDTEELLI, 2. 31 ik
CHTL 4@ [RUBDIZ] ICZhZFhE0#iz
5hd.

{2 U ® , meaning &+, &2 ( start or first part ), is easy to

PRIEE1 MOE 1 (XoRR

confuse because there are many similar words. The correct
answer here is (1). Answers (2) and {3) should be 2 U 8 T
( first time ) and answer (4) should be 13 U 81 (in the begin-
ning, at the start ).

ICH . MEER TRY. A OFk, k), S2E
EMMRFREFMARE. $ RTINS =RUWALE i
CHT) —K), FMEMmEIELS NEEHIZ) (BFTE) #
Hirm.

fEU%, = &9, 53, (2=, ™ut) olats ooloict.
Hize 2ol pfeu] Folatkt. 2, 32 TRUBTL(RHS),
4=TRUSK, (XS0l) 2 22 ol H g +

B [£3E[DLEBLEICHDDTES &S B,

113 [F%-7T) 213 [BA3]. 4 [H-T]
IKZEhEThEWEZ5h 3,

%3 means HELIFIZH 3D THES (more than required),
so the correct answer is (3). Sentence (1) should be £ % -

T (gather), sentence (2) should be 8 A % (to exceed), and
sentence (4) should be % - T (remaining).

%% HEEE TRELLECHL0TES) (BIHLHEN, F
FT)e WAL (4EF - T CREE) , B maTLis 13
A% (), BIETATLLY (-7 (HT) AfkddA.
%2, E"2ELLEHD2O0TED, ( HR 0422 oM
Hoh)= 2ol 18 TkF2TL(20iM), 2ETHAB (X
ach), 4= TER2Ta( HobM ) 2 ZH2 ub 2 E = Q)

B [T-oh1] i [BEIZ] EVWSBKRT, #3

WCELERTEEN <3, 13[EE] 21[U>
W] 3R [T-o20] ICEFhZFhEVRAS
n3,

T o4, meaning T2 IC ( completely ), is generally followed
by a word indicating a change of state. The correct answer
here is (4). Sentence (1) should be 558 ( perfect ), sentence (2)
should be UF - 7= ¥} ( just right ), and sentence (3) should be
T o &) (refreshed ).

oMb MEER IRel] (52), FESREETEN
Bialife RS (5E8 (ER), B_EmA LS50
72D I (), SBZIEMaT Ll 9 o &0 ) () AfReEm.

FEaAY, £ TR (2HS) 2te 202 Fol W E
LEHUIE ol 2T}, 18 TRE, (&%), 25 (TR,
(%, % 9= 29, 38 TFo84), (438 28) 22 7
2t e e 4 2t

1—. MGE  Grammar /524 ._I

------

Sentential Grammar 1 (Selecting grammar form) /
m# 1  fFEREE GEEREED
2x1 2 2H1( 2" ue)

@) [(~i) ~3E] BTLERTRE-AEAEVH,

[~IZ2hT] [~EEBIC] LEBEILERT
DT, EHETRATHLELL,

The correct answer is (2). The expression (~ i) ~I1% ¥ is used

10



to indicate change. Remember this along with other
expressions that indicate change, such as ~{Z2hT and ~
sEbic,

[(~1F) ~IEE | REFTAOEE GRS, WEN T~2DhT)
[~ edic) Fthfonl, LRz ERHFCK.

M ~) ~3E, B HSE UEUE FEEHOIOD. T~
hT,T~tEdslC, SE HEE LEH=E 2ol 219 5
Ert.

[BREELh | 12 [RITHUCEY BN /-] EETH 3,
1~4ADOhTERERTOE [4 120H2] DH

This sentence describes a cause and effect relationship,
where 8B%45 (oversleeping) caused the person to R{TH#EIC
SEV)E N = (be late for the plane). Answer (4) 7= 8 iC is the
only phrase that can be used to indicate cause.

TERgEYT | (BER) B (RTEBICED BRI (BE L)
FJE . TS T E] 5 P ep R R A 9 R AT S UL
i TF=shic e

TEEY ) (S5 ) 2 TRITERCEYERL, (HIHT] Algt]
SoiMd 2 ®ch) &= of Helojck, 1~ 4 7h20) Helg U
Bl ZHe g oic, Bolct.

[3 BAT] BHIEMIFLT, WEPEV

¥, HMAEERT, [1 =-0] EHN, BEH. 2
ik (Bl 2FT, 41t [EHW+EAD] OF
TlREATV,

The word 7t A T is used to express surprise or joy at a
situation, so the correct answer is (3). Answer (1) 7 % refers to
the cause or objective, while answer (2) means ¥ (reason).
The 7=+ & A verb form in answer (4) cannot be used in
this sentence.

BoER (oA T) R EA R R T LTI -
T ) MEBREY, MR, FRHMRE THH)
(B, TMBMETIFAU 7R+, HEXER.

r3 AT, £ o YUofl s s2t20lUt 71E ool B
7HE UERCH. M1 oy & S5, 201, 2= "EE.(0IR)
B UEMdCE, 45 TR+ BAN ) O BoRE & 5 80

[1 $»FT] BROWVERICE-EFERERT,
[2 €WT) BEWERICE-AFERA. [3 (A)
DEHIC] BBHNERT, 4OEEEEL,

The expression & #*f T is used to denote the cause of a
favorable outcome, so the correct answer is (1). Answer (2)
# L\ T indicates the cause of an unfavorable outcome, while
answer (3) ( A ) @7 ¥ (Z indicates an objective. Answer (4) is
not a proper word.

F—EW [HEMNF T ARTERFERNER. W% &l
[ 0T BEART AMFNSRMER, 8 =850 (0
Dl | FaaHN. FILEMEREHATE.

M $HFT) £ 2 307 & ¢S UEdc. T2 g0
T, E U AR E LTI (A) 0, = SEHS
Liepdich. 49 2 22 Qlict.

B3 &N B [~ERU] &V ERko 1

2 ASHOELIETES LLWEH] DL

BHMaBlERTBEICED. 2REBEERT,
A3ELCKEN R ZLERT,

The correct answer is (3) £ &Y @, which means ~ &R U
( as expected or the same as ). Answer (1) means A =1t ®
L5 FTES LuvwEdt (a good company such as A ) and
requires a specific example as reference. Answer (2) denotes
degree or extent, while answer (4) denotes a continuing state
or condition.

FEoI TEBh0 ] WRLE (~LAL] (5~HF). #%

EH (A SHOLSHTED LS (A AslRRHE
MAT) X, AFREREATHEEMEH. ms  ®uE
AERE. FIETHEEER —RERIEE,

r3 EBYO, EMT-ERUL (-9 Z2) olzke 2lol. 1
2 rALHOESETESLUAH, (ASIA 22 AT 3
A) M3 ZHEO ol S H0l 0. 25 HTE LIEH
C}. 4= U2 AE|7} Oj0IX|= R LEEHACH .

[MfansfE<] T[2£T] EVWIBK 2~

AMEWEITEL,
The correct answer is fil» 5% T, meaning £7T (all ).
Answers (2) to (4) are not proper expressions.

M B ET) MEER (27T (28). mE EmEnm
TR IR A TR

Mgprs@ET) 22Ty (2F)cte 20l 2~42 2
E#E gict.

[3 DWTIC] BETDZEETAEE BxoOE

WWESEDTREDZEDLTIEVIER, 1
ik [BFEEREN. LVH+I5IC] 418 [&EE
SHRARERHICLAEY-T] OFTEI. 2
(& [#EELH+ERAIL] OFTESD., [FID
CENRIBETCHOIENPERIB] £V
BHREDTEL AL,

The correct answer is (3) 2L TIZ, which is used to denote an
activity or situation that serves as a convenient opportunity to
perform a second activity. Answer (1} should be written in the
form BFHE BRI+ 5 BIC and answer (4) in the form
Zi BEEER+C LY 2T . Answer (2) is written in
the correct form A=+ & 7z A 1T, but it indicates the il
DT EHFRIBETCEDT EHRIS (first event followed
immediately by the second event), and is therefore incorrect.

HEHEM DV TIC ] MEBE, TEHEa—RAEE,
FHANSHERGFhM 7. § Rl riEgEy
W+ S B, RIEMLL T&E BiEaFrEE o Lo
T. MR $ EMBARU TEEE+ LAl B
BRMER, ARAERME MO ENRTISET CROCE
MRC B (EZR—WHEEZ)R, FHE—FathsrfEET)
MER, FrLAEARER.

r3 2Lk, = 9o US & afof oral F2 7|20l 3 H
o] elx fiche olojojct. 12 THFNRE/ ZVWE+SS5
L, 4 TER / BEREE+CLEN 2T, 2 Ho2 &
ch, 2 THRAE+ AL, 2 Ho2 4Ed, THIOZL
FRCBET<HOIENRZ D (Y2l do| Yot HE2
o] o] Yojrict) &= 2lpjoj=2 x| 2t

[CEICBE-TWVWS] FHRBIPEBERTRE-

11




AAFZEENHRE SXLHE N3 —8FE - 3 - 3FEE—

f:gb‘ﬁo

The correct answer is (2). Z &l > T3 (istobe —--)is
a fixed expression used to denote rules and customs.

[T EiLTE-TWS ] (B ~, £~) EFESRUASHREE
ik,

FCeCE2TVWA,( ~H Elof ot ) = 7=loju e L}
Ellle HE B8,

9] (&) & [BFE+O/BFE+TW38F] O
BTV [BLOEZDEE] EVVHEHK,

The correct answer is (4). The word &=, meaning 5 £ 5 &
%M & & (just at that moment), takes the form BE+0 . §
FA+TuwaEmd,

Mgty LT g+ 0/ Ond+ ThARY ) MESER, 18
B 1Ry EFDLE ) (FERETIHE).

TP, =57+ 0/ BHF+TVBEBSP, o Hoz M1
T5£5E8TQLE,(OHE el o ) 2te 2lo|.

[0 [KELBETETI DR [AARICEEZZ3]
EWVWHDBERID0, 1~4DPTEHNEERTDIL

4D

In this sentence, the reason for X & B CET is so that &
ATICE (B Z A B (everybody can hear). Answer (4) is the
only option that expresses an objective or purpose.

I REEFETHYT ) RNTEE (BARICKSHETX3) GEX
ZCETHENT ) BB/, TP BN ik B A AT LA S
M.

TRERETHT, S TRARCE<MORS, (25004 &
S2IEE ) olate Sxg sliMolct. 1 ~ 4 720 2Xg
LIELHE R 4 #olct,

[ [25] @A [FEHATCATT] B [R&BA
1<E6. BFEeRELEIIFVVTT L] DL
I, BFEDE- £ EICH L THEXHELETS
IBFICED B/ /&) ICZOBEIEWL,
The correct answer is (1). The word & 5 is used to express
advice or sentiments about a statement made by the other
party, asin A: REATATT .B: R8T ES. &F%
RAIAZ 2PV TF & . Person A: I'm going to Kyoto. Person
B: If you're going to Kyoto, you should see the temples.

The other answers 7z 5 ./ I£ / & cannot be used in this
sense.

M55 | S AR TEBNTLATYT) (REEES), M
W IHEEANT AL, BEFERREI O LTT L) (E5H
BIE, B FFETARAREER) Xf, Xy rReisEs
BUMBENREEH. W (2o 4/ WRAEXHEAE.
s, EATEBANT<ATT(REN Yoy, BT
BAT<BS, BFERLESHFVVTT &, ( REO 2t}
HHE 2 A Fote ) 9 ZHo| Acigro] 2Et Zdo| cfstod
ZelolLt ga e SEh mio 2ok, TAES /&, of o] Y
2 gictk.

[BEERER+EPY] T [~T3—F5£] [~
THEUE] EVIB 113 [BRABICAS

EZAR] DEHL [BRRER+ECA] TH
212 %ERT, 3UTH. 43FE:E
IEITE D,

The correct answer is (2). The grammatical form B35 &8+
{54 means ~¢ 5—A7 (it is steadily getting/becoming
-} or ~F 3721172 (it only keeps ---). Answer (1) is the form
#HEBRER+ &£ 2 5, which expresses the commencement
of an action, as in BABIZAS & Z A (just about to get in

the bath ). Answer (3} expresses an expectation, while answer
(4} is used to describe one's intention or plan.

THmSEEE @D R EEEENEER (~T5—F1]
(Rff~) T~ 37207 Cbfi~)e MBE—RMBLE [
BICABLTD . (MWRNRER) 28, L TBEEEr+ L
5 MEARRFIMET IR, S =EBERnfsE,
BRI RGA L HB (.

FEENEE+ EAYI T ~TB—F1,( ~st71gh 5ch )T ~
IREGEL(~E #olT)els o0l 12 TERBKAS
ECBH,(SSoieis § ) o 2ol "HRANEE+ L3, 2
SIS AINEY ME Uedct. 32 o, 4= oids oy
mofl £t .

[2 IPETHLEVWET] BEFOFACLTHE

EBTACZE BVERUTBEXIZLL{fED,
1. 3. 4RRDEET, OAFTCEN
IERICE B,

The correct answer is (2) T € TH B3 WE T, a form used
to ask for permission or consent to go somewhere. This form
is commonly used in response to an invitation. Answers (1), (3),
and (4) would be used by the section head to order another
person to attend the party.

BRW ATHETHLVET | MEBE, EETNFHE
EREMREZ. SFERTESEN. MB—, B =ffmik
ARSI BIE T BIAEZMEE.

2 IAETESVET & AiEtol 57t 238 AoiM
te R . HRE Lols mof & £ct. 1, 3, 4&= BEO|
o|2|sted O & AlRtO| ZHete o|oi7t Eict .

PRIEE2 MXODIE 2 (XOMHILT) -+

Section 2 Sentential Grammar 2 (Sentence composition)
[ 2 ATHERE 2 (RAFHRER)
22X 2 2¥el 2H2( 2T BHETY])

[HOBRBE LWL DTRENMINE, BBHLA

WEBBAEEAL XKD [EAxHA] Dfl
ICRBDI2DH, [1 HhE] DEICKZDIE
IP4ED. [BHLAVWHIE, VWL DTR
BWEBHBEATEA] ETHEEHEPESHL,

HOMER VWS DTREVHARE, BHLAVEDLE R
¥ H A (The film wasn't boring, but it wasn't particularly
interesting either ). The only word that can be used before E &
& A is (2). While answers (3) and (4) are both grammatically
correct before (1) (1 &, answer (4) cannot be used because
thesentence BH LAV NE, WD TREVWEHER
% ¥ A does not make sense. Thus the correct answer is (3).

I HOBEIX 2N DT IR E. BELAWVWELERLE
HA | (BTBERAATE, A20IEF EAEE). ke




[M4it. BASE

AT E A EEA I WIRTE MM A S A, Rl
N METE SR ERA B ZIETEEME, BN (5%
LAWINE. WD TRENEEFAZ AL, BETE.

TBOBRBREVSOTRBEVGHE, BELBVEEEAR
BAL(2 YeE xIRSKIE ZX|B MOlYUctn # 4 o
gurch). 2ge "ExstA, do 2= U2 2#0ct. M
The&, o Yol 2= 22 30ILt 420, TEEL BV iThH
E. EVWSO2TREVEETEAEEA, Olctn & 2/a)7t
Sstx| gh=rt.

05 [RBREPELVWEILEDLS, FHREALDED

BETREVEBRBVET L [BFREV] »
RESLEEVAT. [~V EFELTWVWE]
EWVIER, [137] OmMICREERH» CBDT.
[Fs52E>TiIEEV] &8l

HBRIPEALVWEIELS, dHEALLELIRTES
LW BWET & (The exam looks easy, so Nakamura should
have no trouble passing it). & (274 4\ is a standard phrase
meaning # %~ & v & {8 L T3 (unimaginable or highly
unlikely). The verb preceding ¥ ¥ must be in plain form, so
the complete expression would be F5 52 F I E & L. Thus
the correct answer is (4).

HEBEPLELWES D, P EALLELDE T AW
ERVNET X (BUFRREBARET, T VEPHEE,
AHETRERA ). BA DT BRTARARTE, FRLEUREN IH
BARTREN .

MEBREPELVESLENS, BREABSESZETERV
EBVERT &, (AIHE dlctz sz, UsHF et Mete ol
3 2le oicn dZ48e ). Te¥aswn, 7 @8x¥Hoz,
Mgxt~2LhEEUTWS, (HOZ ~ gickz Y Qlch) &
olnl."d¥, o Yoz HEHO L2 TESBTREW,
£t olo{FEict.

f2ERBBBAA. EXHL &
ITEL [~bEAA, ~b] PRELLE
WAT, [~BYURA~T. ThiZUTEEL~b]
EVWHT &, MBEXE [BXRBEOEFEBYART

%, ThifuTclrail, EXHLFE] v

2 BBk,

&, REZEOSTRHBEIA. EXHLU £ 5T £ (Not
only is she good at speaking Japanese, she can write it well,
toa). The correct answer is (2). The phrase ~i1 B2 A, ~
¥ is a fixed expression meaning ~ {3 H&~T. FhiZGT
2 & < ~ % (not only--- but also). The sentence states B &
BORFGYURETED, ThiEUTEEL EXHEFE
{She can write Japanese well, not to mention that she speaks
it fluently).

M43, BAZOLHIREDAA. EXLLEITE: (K
RESIRRNE, REFCOHE). (~dtB5A. ~6. A
BEEE, SBE ~ENR~T TN TREL~) (~
REFTMAN, THRE~FiE~thill~). MEBNEEE T/
AROSTHIURTELThETTIRECAEXB LFIE(R
BHIEEESH. TLRIX, 1FIhRE).

ki, BAENAHREE3A, XEL:5TL,(2
L= Yo igts BB, HEX B o) . T~BE5354,
~H, / BE He 2 T~@GHR~C. ThiHTEELS~

&1 (~= 9938 ~-o|z, OB otL2t ~ &) 2= F0Ict,
EHE THXEOLERIYATED, ThETTREL, F
XELFE, (YR F3e BHs| & 4 Uch. T80k oL
gt ZHEx & #tch) 2l 2jol.

[FEHLEWTZALICEXRNTIELY VWD E

KoTLEWET L [~THELYWB [P RE-
B WA, [ZALGIL] MREICEFEALZVOT
[ZABICK-TLES] ElEVWAEL

EHHLEWVWTTAGZILBATEIPVWR LR TLEW
£ 7 & (If you don't exercise and keeping eating like that you'll
just get fat). The correct answer is (1), which yields the fixed
expression ~ T » H v+ % . The phrase % A & {2 cannot
be used in a hypothetical form, so ZAEILK-TLE D is
incorrect.

HEBE LEWTEAGRERTENI VR ER>TLEVE
T &) (WA 4D, SREALKIE, ST, T~
TEDDNE IREEEE. FANEAZIC IARBIE R EBHER,
FrEAEARRERAE [EARICA-TLES I,

TBHELEVTEFABLEBXTEANAYVWREXAS>TLEVE
T 25T o st A (et 5HH Ao Mz 2ol ),
F-TEAYVE, 7t E8 BHoIcH. TeA R, & 7
EL U0 BRTFARICA»TLES Bl & £ SiCt.

18 [HBEVAEBIrEhWEIETHETT L

Bl [ IFEToh2DI [EVWAE] DA,
[2 Z&T) ORIEAZDIZADAEDT [#
Bruzif] [EhWwiEZET) KZhFhOE
73,

HBEVAEBIEAVWEZI ETERTT LB ( Okinawa
is famous for its beautiful sea ). The correct answer is
(1), because (3) £\ Z IF is the only phrase that can be used
after 48, making ##E VWA, (4) Ehv & has to come
before answer (2) Z & Ttomake EhWEZ LT .

TR EWZITERENVECETEHETT Lh) (REPE
A&, RERESTREEAEMN). TTLLRAE (P8 FEM,
HE vzl meE Em [T R eT L9E AR
HASMED, il T vwid (Ehnikc ¢ 98
.

FHAREVAEBAEhVBRIETCERTT R (7L
oto 5t HiCH THRE ZHez2 RYSKIR ). T, o ol
O £ A= AR TEVAY, #o|1,"22&7T, 2 ool &
Qe A2 40|22 THREVAR, TEhWECET,
7h 2zt ojo{Tict .

PRAEES STEDITE -wovoveeeeeeeeeeees

Section 3 Text Grammar /A5 3 CEMIEIES
253 29 2y

SOLOETFIE1FEIC [KoTWwTl. [EY

BCEVWNDTEBECRAETTIEH S LY
T. X0F (DERE) (2 [3PETHET] »

ELW, 1, 2. 4@35DOLDKEF.

The writer describes his father as & = T \» T (chubby) and
HEHFELAvDTEHBE L RAET (not so tall, so his neck
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BAEEHER EF R N3 —BE - 85 - HERE—

also appears short). Answers (1), (2), and (4) all represent the
father's current condition; therefore the correct answer for the
father's old photo is (3) ¥ € TV £ 7 (thin).

MEMACEMBETFERS —THRESE KoTWT, (BT) ¥
PECRVOTELECRAET ) (M TFAE, BTHREREER
Rig). A, LFLT (MBH) PHZAS=IETR oeT
WET ) (RS, TE—, B oM AMANCEN
HETF

FRY OHE|2| R A Eo TR TV SSsD ) H
FESBEVOTEHEEELSRAET, (717l x| gotH S
Fof 2uch)etm Lieb Qo . w2k ofe |2l Sig ( AFEL)
S M3 PEeTVET, (YaLcH) 7L . 1, 2, 4= &
22| olHx|e| 28 .

RO [#27:] BRIDX THENAZ &S, A
ERIIMAZEZRICHED, CDBER, [EDOL
REE@BE-] ZECHL, [AVELTIR
SERUE -] EWIBBAERIIMA TV S,

The correct answer is (1) 727/ , which is used to qualify or
describe a previous statement. The writer states O3S
& 2438 5 /= (My father looked completely different to how
he looks now), but then offers a qualification ZALVWVEBE H X5
ER L 72 - 7= (Only his round face looks the same).

72721 RFEAURRTIRTE)FRIEHR, hn LAt LAR AR (R .
XX [FORIZ4 L2k GERRLENIER
LR, MET TRWEZHIS ERCIE o) (RARMEH
ERMIRAE—HE) X ik,

Mz, & ¢ 2golM 2 2ol THolL WS F7HE o
of 0. 0l Z9E "FORBS LA o, (AL2| ofHH
Xigt xI2e He FRch) £ Aol disto TAVRLEHRESE
EUE- . (S 22U X120 Z2Uch) 2 ste dB8
F7tstn ok,

‘E-&"

QI [~2&icd3] 3 [RDB] EVWIEKR ¥
FREOHH>IWVWRLEY, SORLLTEIE
{, AVEDONDES>HIFELDT, ENEER
EdH [REVERDE] OT, 4P ELLV,

The correct answer is (3). The construction ~Z &IZ2T %
means 2 2 (to decide or resolve ). The writer prefers her
father as he is now { short and chubby with a round face ) to
the more handsome father of long ago, so she RAWw&R®
7= ( decides that she will no longer look at the old photo of
her father ).

[~Z&lcd5) MEBLE MDD (WE~). BAEELE
VARTRIPIIALSE, SEEMBIENRE, 1138, BXERCE,
FILEE TRITWERST) (REAR) LIATHE A, EibiE
WA R A&,

F~Z&C¥ B, =TS, (AYESCH) & olojo|d) . E&l
= gl HlE olHx|ECt RIZ 2l 885 n 717t 1 &2
20| olHx[7t F7| M2, i ALEIS oM TRAEVER
Wiz, (2 272 ®cH) o|22 47} WLt

@ [zAk] BENCHIZEHTT. [ZDHID LS %]
EWVWI BB,

The correct answer is (3). The word % A% means Z OflD
& 2 % (as in the example), and is used to refer to a previcus

statement.

TEAM. BEWHHET, £ FOfOXIa) (BX1H
Fixt) MRS,

Fean,c dolloZ EoirfrofosSE (20t Td2)
olgt= elotolct .

B [~FWEBI RBEAOFLEHERIEE, 1.

213 FH, 4BBALADAICHT IHE,

The correct answer is (3). The form ~/ W E B 5 (I'd like to
---) expresses a personal desire or ambition. Answers (1) and
(2) indicate one's opinion or expectation, while answer (4}
denotes the expectation of another person.

[~fon& B (~) REURBCHBMFETH. IHE
FIATFIATE, MRS XA R,

F-fWEBS,(~1 40) & X7(2 58 & Yats EHO|
Ch. 1, 2E oj¥, 4 £ x7| 0|2} AlEhol| CHE 3| .

—
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PREIZE4 ABTIEAF (BB -ooveveeeeeeeeens

Section 4 Comprehension (short passages)
4 AEEM (ERXE) /284 WSO (2E)

PA3F7B [EHLOSHPEZIALVDT, --- &5

DPOEFETOLOISLV] ERBRTHD LV
2Z&, 4178 [EME - KELBFEHEEKEY
BENSWEHNECAICLLKES] BEIELL
BEVHITELDT, SHIELLY

The correct answer is (3), since it covers both of the writer's
statements about the potential danger mentioned in the third
line of the passage ¥ DHFEHNFEIAEVOTC, /2D
SEHFETHH LS5 EW ( They can't hear anything else:* if
a car came up from behind they wouldn't know ), and about
ear damage mentioned in the fourth line K& --- X E 4 F
ERERUAENIVENFEIAICC {F S (Ifyoulistento
something at a loud volume for too long, it becomes harder to
pick up softer sounds ).

ME=17 NEPOFSECABOOT, - BANLENET
Lhhoino | (BAR AR EMES, - FEEEFTFRE
AEGE) ] LA AR RAERAT. SN TR - X
EREFEMILETLENAEVENET XL R (KIE
- SRR A EME, AHECEERE ) LG
FMF AL, EbE =m0 ERER.

A ETEXPOSTAMCABVOT, - #ADNSEIFRTE
bAskL, (CHE A7 e Z2l7| M ol --- FHollM =7}
oz 2 ECH) & HEsicte Folct. UM = TREM--- A=
AEEMEAIDENEVEFFRACAILCLLCBD,( FAL
.- B ARIE HS Sod Ee 4271 B orEe|H Ech) &
F7t Ul FcHs Zi0l2 2 30| 2HCH.

P 4FBIC [ArE1—2—DHEZBOZELIN

IS OFBEHEETHS] £HHNDT. EHU.
ALE2—2—PHERFELHROMBLEA




BFELERRTWVS, BREOPT. €550
KELEVIDEIEFEDT, IHVERK,

The correct answer is (3), which is the only answer that states
both forms of study are important. This is consistent with the
writer's statement 3 > F 2 — % — P HERDOET LIS,
OB HEETCH S (other subjects are just as important
as computers and foreign languages).

HASMTHA (32— —PDFEROEELUSNT. D
MHOLEZETHD (RIMMINENEI 2, EhplE ham
ey —4), {EEATRRmIMER TR AR B R E R
BT T RGR. WHEMA LA 4R EEH AFH EW, Fr
LA =3I F A R

Hm Eof FavE1—2—-PHEROLEUNC, tONE
LtEETHD,( LFEY 2S0f & o[l CiE ST B
Q3cH) 1 Lt ez, ERE HFEL =0 HEE,
ag|m oe =g ot Ee3ctn stn ok, MEx] 72
o= rt Z3Ctn 3t S 3#0|BE 30| HE.

28 REOX [EEDIRKESY ., REDTA1IVA

EENFBBAENOTL] L. [EROKEL
WERABOBENFZW] EWHTE, LEDNST.
ERORELYBSICEATEMRGS (. 3
EfZ,

The correct answer is (3), since the writer is more likely to fall
sick than most people. The final sentence of the passage ¥&
BOZFEELY, AROIANLATENFLEAEFAPTL
means EEOFREL Y ARBOBEHI Z L (I'm at a greater
risk of catching a cold than a person of an ordinary family ).

BE— (TEOCKELD. BABOY A VAT ENFELA
Fhedi . BERE, "HEORELDEROFERAZ
(KRR, SRHNERER). B, i —BEE,
BARMTTHEEE R, Ul STV AR,

oix|e B TEAOSRELY . AROIAILARENHSE
REAPTV, B, TEORELEBOBRAZV.(E
£ 7hyEct Z27i9l figol gt ) & Zolct . metd 28 7t
Hech 2ol el 7hsAs g1, 30| WEold.

COFEE HREH7=—] ¥ [HAUHXS

#] ICHULAFRTH 2. AXDERADIC [HF
#HTR - BREERECIECEYELE] &b
i), REBEOXIC [CUOBRICHHLWLLLEL
(ZEASETWVWELEZEET] £HB, DFV,
ZOFHNENBEREIBETIZ &

The correct answer is (4). The letter is from HX&#17 = —to
A U#sEL4t . It begins with DA T - BREEHELZ
EACH 1Y) E£ L /= (We are holding an exhibition) and ends with
FUEBICBHELVWALELE(IERIETVALEZETY
(We would be delighted if you could attend). Thus, it is clear
that the letter is an invitation to the exhibition.

EHSRE THASHT = FHE SUHASH. BifF. &
XH-TFEER DA TE - BRezE bk EL
fo. (BAIMAT - REEFRRS), fikESH dUNE
ERRULWEFERSCENSETVEEEET. GFAEE
S, TR AENGR). AR, XEHENHENELNE
Ingst.

ol Hxle THASHTFTZ— 7t TAU KR &, of 2 2
olct, B2 M Yol ThHFTH- - -BREGERIIELR
YELLL (2 SIAE --- ™AIZIE Ul Eigiaudch) &t
2 YU, oxlY 2ofl TFORBRISHLVWELLELLIRR
TETVERERT ) (0XEN B oF FAA ehi=gILcH)
2tn Qict. =, o] Hx|o| SXM FMAlzjof| Zohstes Zolct.

PRISES PIZSIBAR (D) cwreereereseeesees

Section 5 Comprehension (mid-size passages) ./
mEs WERE (PEXE) /EH5 WSOolE (&)

08 AXDEET [FEOBXHIEFE=AF LWV

IBHEHIHYET] LR M THE=AR
DSBAE L TWD, D%V, [KEEFRD &AD
ICEBHPITHY. HEDEIICRFLVAR
PEPRTWBEWIER] FE=BHOHRMA
BOT. EMEE2,

The opening sentence of the passage states #EID&E 2 HiC
HE=EATE VWS EEHY»SHY £ T ( Newspaper articles are
written in an inverted triangle format ). The following sentence
describes the inverted triangle format : A1 & HAFH EHIC
BHhTHY, BENBFSICHFELVLARR - FEHPATL
3 & R ( The most important information appears
first, followed by more detailed information ). Thus, the correct
answer is (2).

LEXFE AL AROR T THEOEE MicB =M L
SHEMHD ET | RENSEAE=ANIL), ETHEH
CEMFE = AT TR R, TRYEEmA R
E#HINTHD. HEDEFSCFFLOAE - AfdrhTw
BEVHHEL, (BEMBWSERFLE, STEEEFMAHN
Ao xRS EA) R E SRR, HERE
EAF KT,

E2 N FEIMMFROBZHCERE=ARELSKENS B
WET, (MRS 4E wHdE daAgolele §30| A&
Lich) 2= sz, oloixle 2oliM azEs HYEstm 9
Ch. &, "AIEFEFBOCEIhTHY. SEOBSCHE
BHLVAE - FESATLREVSHBEL (S A0 H
o HA{ 7IMEID FHBolls XEAMIEH L& -+ o] al2l® UCHE
T4) ol izt Eol MHo|2 R HHe 2.

P9 3FTEDHBEIC [RETAELEZ1—AD A-

T3, ZNEETRF|EAICASHEVDT, fib
ND=Z1—ARBEO—BEHISHEThELENEE
AlEHDB, 2hidhD =1 —-RAFEHELLT.
PREOKELEZ1—AEHEIEVWIIELD
T. 1PIER,

The third line of the passage states BETAZ L -2 -2
PA-TLAE, FOEETCRHERCAS>ELDT, 2D
Za-XAREO—RBEFISHEUTRITLY EH A . Inother

words, the other articles are shortened to allow the breaking
news article to fit on the page. Thus, the correct answer is (1).

BoATHEEBE RBRTAKERZ2-ABA-TLBE. £
OFFTEHEHICASEVDOT. D=2 —AmHO—5%E
HomirhiEanELA . bl XRERGHMLESE, @
% FREEMEAER, Mt EHREELS .

Hisl & 2ol TRERTAESZZ2—AHFA2TLBE, T
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HAZEENSER EREME N3 —82% - 25 - WEE—

DEETHEBECASEVOT. O 1—BBO—B%
HlsBHhiERY £ A, Ol2lD Uet 9ct. ol= O R &
£ J|AHE B 83, WOl 2 KAR Alecie Zolz
2 10| M.

B RENNIC [FOEREEEbE (HbE. =1 —

ADEBHIRENET] EHBOT. ERE 4,

The final sentence of the passage states B2 E+ b # T
MEE. 21— AOBBHIFEY) £ 7 (Related articles provide
extra information to enable a more complete understanding of
the news). Thus, the correct answer is (4).

ARG THERRESDE TR L, —a—20R
MAREDET | (RAMBRBIRENE, fEmEtmns
##), FrCAFRA RS Sk,

Orx|et 280l TEERBE2EDETHRUE, Z1—-A0ER

HREWET(EH JIAE 2ol YodH F29] 057+ Zo]
Euch) gtn Lo ez Mee 4.

Bl 2f7BIC [HA KTy 7 &BFI2. ETHRK

7]

ZTOERFERT-BEEPUE] £535. AR
TOEANCEEDP I -DRBFEBIT R -0 T,
SHIER, 2EREAR TV, BEL T3
BEE RITEPEILTH-TWShhHS
BULDT, ELL KWL,

The second line states H 41 K 7w 7 2 HF(Z, £ THRE
T2 TERT - B &P (He had a guidebook in one
hand and looked rather worried, so | went up to see if he
needed help ). By going up to the worried taurist, the writer
was attempting to be helpful. Answer (2), though it may
appear correct at first glance, is incorrect because the writer
did not know beforehand why the tourist was anxious. Thus,
the correct answer is (3).

BoATPHE THART v 0B RFIC. ETEREESTHETS
BT RN (RFEFHEWRTIEN, HLEEFTLH
B - RABIRT %), EohMAE EEREMABE, ibxHE
U, PIRE=RMEEMEE. BARESSE R0
W, ERAMMBREZ R, FAMERE B 208, B
A IEHo

EW B THARTYOERFL. ETEFRRESBHTE
RT---FEAHEL(7I0EEE Bt 2ol E0M i 2ot
® st RE [és B3 --- 98 W) 2t3 ust ot
ZH 20i= AHROH 22 7 7S Mriwe soE7| Y
Zo|=22 30| HEolch, 29 BEl7| Hed, e H7| ®o
£ OFE| o™X}t ofmlj M Z&tsll stex| 2202 Ux| ofct.

6fTEIC [KLKLEAIN, - ZZHANES
WL, BIZCE-TLEIPHLALEW) &8 3,
Chid, RTEF—ATITIEHLES HLEL
TWBDT, 4HIERR,

The sixth line states KXLERES I, -+ Z T AN BV,
EICE-TLEI DS Lhiv . The writer was concerned
that the tourist might not be able to reach his destination
without assistance, so the correct answer is (4).

TEHENATPE (KEREASH. - CTRABENL. #ic
HEoTLEIDELAZN] —f). BERTEEBEE— A
RERREXREFHRIBM, FrLASPEMAE FHESE.

PHIEC ARIER (EX)

o4l Zol FAX KL S5 M. - CCHAFBVL, EIC K
TLESIAELAEVL 2t L2t 2l ol ofElxI X
M2 % UKl HYste Wolez 471 WY .

REOYIC [BOBEIAICLTED 14D

IS, PLBRADBVWTEN TEEDEEEZ LY
5] 52, [BDBIEEA] BiRrFTH, B-T
WBEZICRETNCL TN EATHB, OFV),
HHIRITH, BoTWAEEICHMYN-TE -G
EERALPOVWRACES=DT, ERIEI,
The final sentence states HDBIFZAICLTHS LT
. PLBRRDBVWZ ENTELPEEEZEN S | Here,
& D HIE & A refers to the lady who came to the writer's
assistance when he was a tourist in ltaly. The writer is happy

to have been able to help out another person in a similar
predicament, so the correct answer is (3).

Bn—ah THOBETAICLTEE RESIE. FLIEFD
WWZERTEENMREEZZNS . " HOBITX A BiSE
RIRATPLRAIRHERS T RO A LR, BARLERTEH
FALRETERI A BRERI B R FE IR RERIA L OB R4, Frid
IETRE SRS ik,

Ox|% BEO FrBOBEEALLTES &3, DL
BEREVWWC N TELABLERRNS, 2l Q. ™
OHET AL 2 oft Fof ZEY o TS CislE ALY
olct. &, LT of#l Zof et st Altol | 2Rt of
o+ Aot Yztsty 20| FobiicHs Zolzz | Wyt
2 3olct.

..................

Section 6 Comprehension (long passages)
A6 MAEHEME (KREXE) /2x6 Ugols (22)

B4 BHERSHBARRMEOIEET 3, TR

ODEDOUZ [ DTH3B] £HV). Z2HE
HTHd, [FHROZALHIEHE LGV,
FEESTHPOBIPITAR T EY, RRICHE
3PbLAGEW] EHBDT. ERIE3,

In order to answer questions that ask you for the reason,
it is necessary to examine the context on both sides of
the statement. The sentence preceded by the sentence
which contains the underlined phrase (1) ends in O T &% 3 ,
indicating a statement of reason. The sentence states 7 &t
DIBIETFEBEHELEVE, EEESTHEEFIFLY
T, - FmWAKESHHLAK L (Lack of adequate
exercise as a child can lead to an increased risk of bone
breakage and illness in later years). Thus, the correct answer
is (3).

(o] J PR A R 32 B RS 3 TR SF M 7y 1o
DTH5 ., KEFRRHZEH. MYBANE FHOZ DI+
TEHELEVE. FrloTHERIMTNDPTAD, -
MU Tz B LAV (EAHIER MRS GE3191E,
LT FERGBREDE, - WATHRER), FAAERESE
R =T,

Ol & Bt EXE M¥o B¥o| Folgict, YERE O H
ol 2&o|"---oTHB 22 LH2=d|, ol £E0| olg0ICt.
TFROCAC+HEHELEVE, FEE>THSBHFN
PILEY, - FRCEDHEL AW, (o{Rl0] mof &
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235 222 x| goH Lol7t SoiM B7t SXI7| HYX]
B, --- Zdo] ZWRIT = EC}) 2t URBR THE 3.

CORMELEBAEMOBELDOTHIEONICE
BT3, THRBOOED[ - wEEIEHY),
CCHEATHD. [BERCTSICE. BHD
GREEZALPSTEIBERPRICILODIEN,
KR TIRRZODEF EODLDE] EH B K
AKRBBBEZ ALK 5THLENF EVOT, IE
2,

Here again, to identify the reason it is necessary to examine
the context on both sides of the statement. The sentence
preceded by the sentence which contains the underlined
phrase (2) ends in #* 5 72, indicating a causal relationship. &
EMCTAICE. BROGSEEFTA 405 T IEHHEIC
SEDONEN, - KPTRZOUEHF GV S E (In order to
develop strong bones, it is important to engage in exercises
where the body supports its own weight--- this does not occur
in water). In other words, swimming does not require the body
to support its own weight, so the correct answer is (2).

B Xl e R R A, B BRERE. FRIEO
HEEA T--- 512, REHE. A T428ETEE. 8
SOREEZIANET ZUWHARICSLDODLEH, - KB T
REOBBANBOHGT (BIREM, X FACHIEEN
OB EBRAR - BAEAPERALE). B A
S RAE, FLOERBRAR KT,

0| 2HE 0|82 2& 2X0|22 HF o 23 ol Folftct.
o= "8 @ §o E&o| M- AS5E, 2t e o] FEO|
olgolct. TBA2%< T2, HINEEEXABHNSTR
EBARCIDOEN, - KPTRTOBEFBVASE,
(HE Z5tH st die RHalo] MBS xIFeHM st 2
o]l £go| &lxlgt, - +HolME 2™ E27} ¢7] W0
ch) 2to et Qlct. e AES8 KdstH & B2t 9
ooz MR 2,

THBODEICEFN LRI FEFSA TV
3, 2DHRD—2IZ [£LBBTHAR - &
DEEHF R, - BIFPUIPFEBERPTV] &
HBDT, 2HER.

The underlined phrase (3) is followed by a list of specific
benefits including & { B T2 AR - HFOBEHFEL,
SR i+ H° % Bh & % ¢\ ( regular exercise: - promotes faster
movement and- helps prevent bone breakage or other
injuries ), so the correct answer is (2).

TRIZOMFTE 7 BEMRR. MAMLPZ - K&
B s M - HOBEHRL, - BIPUSEHEPTL.
(BB + - BHERTTEHRER, - FRTEITNES),
BrLASE ik IEgE %

Uz HE @ Holl FAHXe 2NE Bn Q0. 3 Fol sz
TE<BHIDAG- - HOBDENEL, - BIFPUHF EHE
PFV (RSENFSGEMNHER - B £=|2o| Bl=21,
. BEHO|L BAS 27| 4ch) T LSt Yoz 27t MY,
Bl BREOBREOREILEIC [FELDIAILLYH
WBEE-STBWEADI W] &Y, EWE
FEBICRE_BREDIFTR [4X%®F =

I Sw T hEEDEBIRREBEES L
DICTHRI HY) | ERMRSh T WD, LEF T,
3HIERE,

The middle of the final paragraph includes the statement -
EHDZAICLINBAVBEETHEVAEAI VL (Itis
imporiant to develop strong bones in childhood ), while the
first line of the second paragraph notes that 4 >» X ¥ 5 -
LG, SrrTHEDERDRBELISEFILHICHR
#* & 4 ( Exercise involving dancing, running and/or jumping
promotes healthy bone development ). Thus, the correct
answer is (3).

BE-BMRESSA TFEEOTACEIDHENEEZIF->TEH
TN | (FE/IHRE S PR IR IR 4T ), TERE
R, FE—BRETHEET (FVARI =0T Ty
YL OEMIERTEEREDEOICDRYNHD ) (B,
BB SE SR R A SRR . Hil, B=
W2 EHE .

Obx[a &2t B2 B TFEEDO B LBV BEEST
BUWEFFVL, (02 Mo Ect EES HE BHE0| FE
Zdo| EcH)y 2 Uen , EER HE 57| YlMe FHA
BE A B TAVARSY IV, Iy 7R EOEBRRE
BELEEEDIEHCVBEFGY . (HAL F27], HE 59
52 HYE B8 ore7| 8 kvt Uch) 2 MEslod
ct. m2kA 30| BE .

PRISET TEERARTR -oovovrreereerrenerrenens

Section 7 Information Retrieval /[l 7  f§fREGER
2x7 HEHM

B LSDOTILINA MIFRIKRADLE - BE. F

BOBENTVR - XN KICTES, Y—EZX
HYyr2—bFERIKAOL - BICTZE S, U
DT 2D CEBNTERIZ3, —FF.[*]
HOBHr%ERFEEHEVWEICTEIZ L,

Alan could work at the check-out registers on Saturday and
Sunday, when the school is closed, and on Monday, Tuesday,
and Thursday afternoons when there are no classes. He could
also work at the service counter on Saturdays and Sundays.
Thus he can apply for two part-time jobs, so the correct
answer is (3). Note the important condition indicated by the
asterisk.

PR ERRPEERABINES, AR, MTFEHERNA—,
fE =, FAIarLA. TS & ERIR G A LAMEF B B A
75, FRM. B, TR, EHERLS —ikm. BEE,
BTAHH T BAAERR.

HAtCHel o2 HIO|EE Bt 17t 4E EQRY - ULEUD, 2F
£910| G oY 5o 229 tssich. MHlA 7}
e 7 He EQY - U290 £ dct. meEtd F
7tx| 7Hsstez ™eke 3oich, 7HE ofzfel T r ) BAl KB
sHEZn 2 EE Yol R E A

BY ETAICIE [TE] oERAIEL Y. [

TREBFOEECLES V., ZOEEIS, - D
BLAVWTZINA FOBEESHSE<LENV]
ExEHTWVWADT, EfFIE4, 2EMEART
WA, 5B 1 B20BETEY. BEEEHE-
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BAFEHNAR BEEEME N3 —BE - B3 - URE—

TH<{E#I2A8H~12ATH %,

Look at the application procedure section first. It states £ ¢
BHBETEREC LSV, ZOEEIL, - BELEVTL
N LDOFEEE B S £ 723 v (Call first to-+ indicate the
position for which you would like to apply. ) Thus, the correct
answer is (4). Note that answer (2} has the dates incorrect :
the application period closes on January 20, but interviews
( where the resume with photo is required ) are conducted
between February 8 and February 12.

FIRERGIE, RER [FH] ReilF, FR T£PREERETHE
BTEE V. FOEEID, - JBELIWT )WL FOFR%
BHROEEEY, (GEERBFEKR. B0, - FEHFRD
TR, FTLAERAERASIE. RESS
WTRTGEW, W RARMMEEIERE 1 A 205, BHEHGEHX
mifAE2Hs B~ 12 HZ[E.

s2éeiH [HB] o g2 2 8o TEFFesRETEig
<IEEW, TOEERL, - BELEVWFZILSAOBEEES
s EEW ) (HY TE2 =S FAAR . 2o -
S=235 A st ot=2Hlo|lE FRE 28] FAAR) 2l &
of flepz HEHE 4, 29 E2I7| 4l2dl, 8218 20
UTHX|X|EE OIZME 7HX|T 7h= HEH2 22 8 YU~ 12 20|
ct.

PRI 1 R e "\;@4 o8

w1@ fE A2

Listening /Wi #4248

Section 1 Task-based Comprehension ./
Bl ) (AR 281 R olE

0 BOAE [2o5 (=TEEBD 2 BOBREE) O

FHICEKTLhETH] EE->TVWEIDT, ER
i3 3o

% (pharmacy )

The man asks the woman Z -5 [=TEE® 2 O BIE[E ]
DHIZET LI FET»(Could you come here [ to the café
on the second floor above the floor shop | 7 ), so the correct
answer is (3).

R (HIE)
BABAR "Coh (=HED 2 FOBREE) OFIRTN
ET A (PRATEARX B [=TERER 2 BATRE | 1), BTV AL 3.

TR (L)

A} T2 (=REO2EOBREE)DALCEKTINE
FA(01B =0T 259 3E |2 o Fieie?)2tn
a5t gloo 2 MHEe 3.

@ Le, 2—F%HT. Zh (=414-) 1K

EFHBE-TET) [BE0EG (=FD1—-k—
i) BoTLKB] 5, ERIE1EHD B,
2T [Fduwwn] & TR (3-Ee—1)
E(W)5hE0n] EVWIERKR.

1 - E = (convenience store)

The woman says, U®. A=2%HT. Th [=H1F—]
1 &£ H - T % T (Get a bottle of clear soda instead of
cola ), and the man says, fED £} (=021 —-k—F£4)
8-> T <8 ('l only buy a can [of coffee] for myself ), thus it
is clear that the correct answer is (1). Here the phrase #Af o\
Wmeans BA i, [I—E—2] ZE () 55 () don't need
any [coffee] ).

fave=, (#EF%)

I TER. O=39HT. N (=944 —) 1 KZTEHST
=T BREAE S, B 1 IR A 3k ), [MEDEL (=
#oa-r-1E) HoT<da) | IpEL LIk (= TAmNE]
[l | zg, afEAAEERERA 1. XEMN TRV BE
BE TR (I —i) B (V) B0 (HRAE (k) L

MveE=Z;(Hed)

U, O-5%HT, TN (=Y1T—)1FLETE>TE
Ty(ad a2l Yz 2H [ =Molch] 10 A o), TR®
E(=#od—k—1H) BE>T<a,y (W 2= 7
IOk AL Q) 2 Hol HE2 18 o 4 2o, o71oMd TEL
Uy, BHFRR(O-E—B)E(W)sEW(UE[A
e 1 EQeic) o 2of.

BT [ZDAE, 2ObE, TTFRELLEY

hEGWEgAD] EE->TVAIDT, IBELC
[EDUTHIZ 2. BOAY [BDEIFED-S




5. (M LOBKRE) Po&VnTh] £8-
TWBNDT, EDIFE = b1 LOIBERDIR. &
BHB, [RoEVT] 3 [RoTHVT] OF
Z1ko

The question asks, KOA. COdE. ETMELEHL
£ %4 +) € A (What is the first thing the woman must do?),
s0 the key here is fo pay attention to the order. The man says,
EDREIFEDEL. [FMLOBKRE]I P EVWTR
( Go ahead and take care of that [ cleaning the bathroom ]
after you finish with the windows ), so we know that she is
going to clean the windows first and then clean the bathroom.
The phrase ¥ - & W T means ¥ » TH LT ( take care of
[doing something] ).

R  ZOME. TOHE. ETAELEFNEIEOE
AN XA T RE LM I 2945 ), frbAs
ERERERE—TEF. BABAR TBEOESHRDoTL.
(M LORERE) ®o kT THF 5 THIE ek
TR F ), FUAREREITHE S - THMRNER . FPok
WT, B 1(RoTHWT. MEERER.

H2oMTZoAR, cobe. ETAELETAERY &
BAN 1 (0dAHE O] CiSol HX FUE 5% Y2 etEu
T2)ela YEin ez M0 Felsid Ext. S&7t
FrEQESFRHES, (MMLOBBRE)®2EVTR,
(Z20| BLEHE (534 Has )6 &) eln &1 U=B=2
A2 A L, 3EA Hao =40 WE Y S AT, TR E
WTy =Mp2THLTL (&) ol S0| Hatst 2.

@ [ABEfT->THELID. BRYE-T) VD
ZOADREIL. BOAD [FhvnwTTh]
EESTHERLTWADT. EARIE 2,

The woman suggests, 2B T> TH# L I H. BHRYURHT

( How about buying a box lunch and going to the park? ). The
man readily agrees and says, £ L )\\ T ¢ 4 ( That sounds
good to me ), thus the correct answer is (2).

BT AR [AEToTHEID. BRUHST. (—£
FAFEMG, £ EMEY ) XML, BABERMIRE " ThL0T
Th (XRFR). FLERE 2.

FMAET>THESH. BHRLEB2TH(SHIEMN? AR
MM ) 2He of&te] Mot EXIE TERVWWT TR, (OHE
W) 2t #dstn leos e 2

B ZFORRICIELTHII [Lrd. § (X
DADRIZ) FoTHVWWTTL] EVIBD
ADERIC, ZOAD [Wnb&] EE-TW
32ehn, £T. TOADORICKEfR)ICT
L ehphsd,

Pay close attention to how the conversation develops. The
man asks the woman, L&, § [ZOADRIZ]T-TH
WL T Is it alright if | drop by [ your house ] now? ), and
the woman replies, V)1 & ( That's fine ). Thus, we know

that he is going to drop by her house and pick up the book he
wants to borrow.

N FEAMEASNEF. M FAAME Uedb. 4 (X
DADFIZ) o THWNTTh . "HBEEX (ZARFR) W
ARG ), A A "W b (FTLAGE ) SXAEE , R A
FH AR BB

chstel TIHol FolsiM EXF. L%, 4 (RDADRK )
FoTEVLTEH, (2 XIF [0d& Foll) 7hE Euint 7)
Ble Jatel B0 oXE TWWh &k (Eot) 2t st 2
oo2 HX o4x}to] Zo| Mg Weld| 7Hs HWE Y = U

6] 513 48], [58F¥] ICHEHEIICENT, &

BEAEFH>TVWETREWT AV, ZTDAR
[(485) FICI3 (BH%E) BEEW] LH{E-
TW3, BOAD REICI[ZOLET] EE-

TWADT, [4BE] ICSHEHB I EICL

H# (arrival)

Currently it is 4 B . The man has to go to the airport and wait
for a client, who is scheduled to arrive at 5 B3 . The woman
strongly urges him to leave soon, saying, 4 B30 [ %]
H % & v ( Make sure you leave [ the company | in 30 minutes
[ by 4:30]). The man ultimately says, 5 L£ 9 (1wil), so

we know that he is going to leave the company at 4 B§3¥

TEIF ) (BE)

DIfER F4BF L. PG TSBEE ) RMEINBEEA, LT
7 NIRRT [ (4 BE) BT (SR ) HEEWL) T 8D
LEF (AT RABARERT TZ5LET ) (BBHA4
#0), FTLABGE (4 B9 Bl

THE. (2%)

K22 r4ms . "SE¥, ofs 3Pl SHHMM &HS 7ICH
Bix| gtow oHEICH oRHE (48 ) ¥ (2t E ) dikE
Wi ([4Al] Erolls [SIAFE ) L7tMIR ) 2t B 25T QI
AT obx2tols TESLEYL (2T stau) 2t
YD USDZ M4 FE, ofE SINE LE|Z B

PRIE2 KA NERE o ‘,’,E}@

Section 2 Point Comprehension
2 B 22 Zel=olE

M TwnD (= —Y) BPHo-AEITES

WEIhb»->T (=8h&hTLE-TV)] B
TWabZend, EIE 3 [ThEh3] &3,
LMW TELL LS &

IN—4 >t —JV ( bargain sale )

The man says, WW\D [=WWX =Y FH o AT EFTH
Phbse 2T [=5hENTLE - T](There was one [ suit ]
| liked, but they were all sold out ), thus it is clear the correct
answer is (3). The word 581 £ W means to be completely
sold out.

IR=H =)l (3T

A IO (=N —Y) BbofzARGTERD N ER -
T (=N ENTLEST): THIFH (TR ), BEERT ) X
HER, U FREER . [fEhEhd ) HEEAET

FIX—4>t—JLs (HZ MY )

MOV (=VWLWRA—Y ) FH2EAEGERNIASE® 2T
(=BhEhTLE>Ta(ES RN [=F2 g5 0 AUE
ol cf EedM [ =cF Zed vlgdd ) ) Bt 92 2ol HE2 3.
rEh&Ehs, 2t ™2 O B2 glojxls .

ZIEBOFIC[ESLED.SHIR?IEMPNT.[F

BOZUEETELSANDEIIRETHE L (=

19




HAEEENEHRE SMEME N3 —8E - 829 - HEE—

¢ N3 %110 #X

BREHER (X7 - B5®)

1 2 4 6 8 9 10
3 2 4 3
11 12 13 14 15 16 17 18 19 20
1 2 3 4 2 1 4 1 2 4
21 22 23 24 25 26 27 28 29 30
2 3 3 2 3 1 2 2 2 3
31 32 33 34 35
2 2 1 3 4

EEAH cop) - Bl
1 2 3 4 6 8 9 10
2 4 1 1 4
11 12 13 14 15 16 17 18 19 20
1 2 2 3 4 1 1 1 3 1
21 22 23 24 25 26 27 28 29 30
4 3 3 3 3 3 4 2 1 4
31 32 33 34 35 36 37 38 39
3 4 3 3 2 2 3 3 4

SRR

fe1%8 1 1 2 3 4 5 6
3 1 4 2 3 2

fe]%8 2 1 2 3 4 5 6
3 4 2 3 1 2

fgE 3| 1 2 3
1 3 2

ME4| 1 2 3
1 1 3 2

W78 5 2 3 4 5 6 7 8 9
2 2 3 3 1 3




BAREHENHE RE MK N3 —BE - B8 - WFE—

EoTHSo7%)] EE->TVWBIELERDL B,
FEt 3 (to give someone a ride )

The boy asks the girl, & 5 L/=®. S$HIX? ( Why are you
so early today? ). She tells him, FERODZ L THL I ADE
ICHEETHE 2k [=%>THH 2/ ] (Mydad gave me a
ride ), thus the correct answer is (4).

MHED) ()

HMBEEMTES LIz0, $BIE? (SKREAT ), MEEH 2
ROZEETHEREADRICERTEL - [=E>Th 5o
7o) | (BB EFREIFFREHT) 2B ol LURIE Ry 4.
T®E5, (&)

HaololdAFES LD, £AR 7 (T Yoo} ,2=57)
ote H20H "¥ROTEXTHEREANELELETES 2 £
(=E2TE520 ), ( &a 2XTRI ofHE|7} %2 EfQ T
o[ =2l gloi]) 2t st HoRr B8 o £ .

Bl BOA [Be> TVWWRAESESHIC (E—
NE) BBl OT. />T7Ha—-IVE—- (=
TZIA—LUHA>TVWEVE—I) &AL
iy,

& ( &) 2 (tobedrunk), E%5k (on duty, working )

The man tells the woman, B> TLWRHNIE 3 LHIZ[E—
L% | BRE ( People drink [ beer | so they can get drunk and

feel good ), making it clear that he's not really interested in
trying non-alcohol beer.

TEE(K) S (BE), T83 ) ( B8

EAB AR (B TV B2l (K —ILb%) #kEs)
A TSR SRR AR T ("8 )) | FFUABRERATR
A,

TR ( &) S (Fsich), "@8+h, (2F8)

HAE B2 TVVWRDERB IO (E—LE ) R, (5
Zl8 =7 Y [WEE jokiich)ole2 PR MR =
YB0| E0f K| o= WF ) = abA|Z Hoistx| bt

A [ 5FEAFB-TKNEATTS] EVWSE
B, BOAR [Z2HBAFEGE, SBRED
FTh] EE->TVWADTERIE 3, BAL
DRBEOADESA ([RA)) »bLAKVH,
VA H;E%%-ﬁwa?béo

The woman asks the man, 5 FEAF B> T NhEATTH
{ Did your kids buy you that tie? ), to which the man replies,
ETIGAETE. 2BRBOFTH ( Yeah, but actually we
only have one kid, a son ), thus the correct answer is (3).
Though the person that actually selected the tie may have
been his wife P ( word used to refer to one's wife when
speaking with others ), the present was from his son.

MTF I BFEANES>TINEATE D) (REBETHEEN
My AR, BB ARER [Z22RARTE, 2BIEED
TTH- 1 (BN, RNFZMFEZ- ), AERERL 3.
ERYLEALRATREESANRE A THEN] (FTF). BAR
AR AL F.

FEFEANE>T<hEATEAN, (RHEO| A Fal
ThH?) BHe HE0| HAtE TESRARHE, 553B0FT
R... (2% gd 2| T2 olEol2tM ) 2tn Zetn ele
o2 WEE 3 12 He G| oflh TRi, [ DA Yxl
T 2ELt MEE olE0| & Zdo|c}.

B [BOAFHE->TWEZE] 11, IEE%E’&%

EEATEELTVET] #5Hp5, [25
SICRTAEREEIPVEW] A BAoTWVWDER

BoTWELY,

The question asks you to identify SO AHFE-> TSI &
( the thing with which the man is having a hard time ). The
man says BEEF*FVEBATEFLTVWET (| seem
to get on the wrong train everyday ). He doesn't say that he is
having trouble because he & 5 5IC12 F £ REH UL E L ( still
doesn't have many friends in Tokyo ).

EREETMUN "BOAMH->THWET E, (BAREHTEE)
A GAEHEFEOMBATHEHILTWET ) (GRANFER
WMEMEE L) PRAE, BRIET TCBESICEERENN
e (FEBA L), BHFEAREIAIN.

FEQANE>TWATE, (X7 BRslstn o %)
rEABEEEY MBI TERLTVET, (Y HYS F
2 B TAST YAUDH) 2 L 4 k. TCESCRER
REH VL (0f7lolE OFX EI77} gich) & Reke Hol
2lme 53 QK| STt

6 &y [ER- AP —BABLEE->T LS

Th] EOT. [—BXE] X [BICXE] ¥
DRBIEELVLTHEHI I, [PELVWEETE
FIRET LY —FBLE]| LE-oTwadaeh
5. 1IEfZIX 2,

=E £ D3 (to assign points; to grade )

The question asks, EE L fIFf —BXFLEBE--TVWETH
{ What does the teacher--- say is the most important thing ? ),
so the key here is to listen for expressions such as — &k
( the most important thing ) or 4312 X35 ( particularly important ).
The teacher says ¥ & LWEETLFICET I & —F KX
= (- the most important thing is to speak well using words
that are easy to understand ), thus the correct answer is (2).

TEHEDIB) (T4

EARERSL (i - FRXFL LT TVETH
(B2 BRAREEN? ) , FUEEE (—FELH (RE
=) fil TRcKE) FEE) SEEFL N T-RELL
EETLFREIT LY —BAS) (REEMLAGRMTES
FFE) FEEVTLUREERL 2.

TaA®E-HS, (M5 E i7|ch) . 20| "R&EF. AHF—
BAXBLEESTVWETH,( Mdde Fool71E 82
stcho 2etm QUSLIZH? ) 0|22 T—FAE, (718 82)
LI TR KE( 56 52 )2 22 B Folsto] EAL.T...
PELUVSETLFLHEILF—BAE, (4R Y2 55
stAl olobz|stE ZHol 718 &2 ) 2ln 31 UE ez Hof
o2

PRI 3 MEEER e @“‘f@

Section 3 Summary Comprehension ./
) 3 KPR 2H 3 7120l

Mz Al R BVWABEBLEALITE B

ERTELT NS?] EBOANHEESE
WLTWBDT, EfEIE1, [A—. BAICHSE
SEBD?] EVIBOADEENSDH. ZD
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APHBEBEATWAIED DS,

ABRch (hospitalized ), $85% ( written report )

The woman asks the man to help her with some work, saying,
BN BFOEREBAALIE, Bro2ERTELT(NS?
{ Do you have a few minutes to look over the report | prepared
7)), thus the correct answer is (1). Another hint that lets you
know the answer is the man's response to her request, in
which he says A —. RAIICHES £ 3D ? ( Huh? You're
asking this sick guy do some work? ).

Ty (Fe(EBR), TS (RE)

R AERB AR (RSN RETFEAIULE, Sk
FRTHLTNS? | (XEHREWIEY, HRERRL—T
M2 ), FAEVERE 1. AB AN 2 —, WACHHFEEZ07
(R ALEEE? ) EhiED, ATLARIE 22 AR TE I B A M.

TABRS, (UHE ), "8LE, (21M)

AR TN BV BEBRALHYE, 542 RTELT
<NB?2 (U7 £ EnMdelcl & E1 21X a7 )2ta
SxiolAH e REED Yooz HEg2 1. BALCH
B30 7, (0l BxoH AS AMAH? ) 2t X2l Y
2% ofxl7 Y2 Herstn e e g £+ ok, .

2) [N bFALATTL o TIKEBLAY

=L, BEDALMBELTELALTE] £EB-
TWBZ EHLD, BEE, NHRICEXSESD
LA Do (=hSHDEIFBHLAD L)
ZENRDB, [HEL [B2DLEBLAV
OHhEB-TELE] BEDPS, FERLTWLER
EBLLALE DS e DB, [PLD
FHLALED o] EBT-2TWVELY,

@48 (impression, thoughts ), 1 =% £ 2 — (interview ), Ex
( advertising ), #i%¥ ( expectation, hope )

The woman says, N bBRALATT L. Fhe T2<( 5
LAn-#L. BREDELHMEL TALAKLGE . (| was one
of the people that read the novel. It was really engrossing, so |
had high hopes for the movie.), thus we know that she thinks
the movie wasn't as good as the book was. Though the
phrase ending with ---13 ¥, and the speaker's comment, b
SPLEHLAVONER-TE LA (| expected it tobe a
little more entertaining ), indicate that she didn't find the movie
as interesting as she hoped, she is clearly not saying that &
Lbsb LA EMok (it wasn't good at all).

TEE | (R, T2 a— CRI), 8z (E8), THItF
(SATF)

M INBEBAFATTX, Fh. TT{BBLAN L. B
EOHFLEEL TIARY E. . (BEED/NI. RAEE,
AFERIFRPNE.) XATFHES, TLIRE A/
To (=/MREEFHE) M T 7L TEIPLBELAVO
e BoTELE (RFLCABIFEME) SiEiEd, LA
EEERAENSTNEE. BFRFRE TPLEBELASC
ol (—REAEFR).

T, (gah), T1raEa—,(2ER), "B (4,
TR (7))

FAHESARATTL, B $TKHELBN L. BRE
OHFEBMBLTEAEFE (LR 2ol , X . HUE X
olelolMd YstE Zloig=d . ) et U2 2o, ¥%E, &
Aol bl ®DIQK| &okch ( = Aol o Xo|ict) & R
go 4. F . HEL, T€52LBELAVDHLERE
TELE (& o MOl Hetn ¢zigllolg ) B2 &

= i /‘c"
RIS 4 REERE oo \21/™! %

of oijArE] BHE XIOIQUX| IRtE & o & URIEH, "HL
EHLLE<EN 21 ( Z2E MoK gglch) 2E st
x| edct.

BENOANOEREMSME. (b1 (=HAR) %

ELLT RITEOHEEHERLTIELWY
EVWHIDON, BOADOER., [RITEHRENREWVS
SEBABY H-THVW] H. RITEEIE
VIBERZBEVEEI TV S,

BAE (in-flight meals ), FRITERRE (in-fiight time )

This question asks you to identify the man's opinion. This can
be found in the following statement the man makes : h [ =
BAE] 245 (LT, MAEOReEb-ER(LTELY
( I'd like them to eliminate those [ in-flight meals ] and make
the cost of fiights cheaper ). He also remarks that fRATEFRE A
EVESEHEARY B~ T HL ) (it's alright to have in-flight
meals for longer flights ), so it is clear that he thinks they are
not needed on shorter flights.

TN CRHLLRIIE), TRITRFR]) (RATRYED
XEANBEAMNTLAEH. Bh (=#Nf) £#&<LT.
FITHEOBSFE L LTIELY) (FHEENET =€
BB B4 | SRFEE KHLEMMH) XAEERSB AT,
fisihl TIRATRRIAS R VG IIBH LS > TE VW] (T
RIRIEHCH A A IR R ATEL) , (AREMEEAER.

Favg (7ILHAL), TRATERM L (HI” AlZH)

HAel ol7dg E= M. THh (=8AR ) EELT. R
FROBEEE>ERLTELV (2R [ =74 &
ojm v 228 M & FH F2ch) 1 st Wo| &it
ol ol TRTHMABRVEAIBRNARNH2TE WL, (H
a# Ajztol Z! ZeE ZILiAol 2oz ) EXICH, HIY AlZtol
T2 des go dctn Mzstn flct.

/CD
; \
Section 4 Utterance Expressions
o) 4 EE Rk 2X 4 Wet 2H

M [HEAETLE] B BFELEEIBDoL

R Le B
XICESEE, [#BELELA] &, SAELL
ECANLRBEZRILEIEE.

K727 1 F (volunteer)

The expression HE T L 7 ( good job; tharks for the hard
work; see you later ) is usually heard at the end of work. B
ME(L+3F) LT LL (Excuse me for the intrusion) is said

when one is preparing to leave at the end of a business or
house call.

TRIVT4T (GEEE)

TBENETLR (EES 1) RAT LIESH G £L
. TBIRE (UoF) LELE GTHET) BENHRT
Bt 7 E R A L.

RS T 472 (K SA, AH SARH)
refEnETLL, ($ostddauc) = Y 50| BdE moll
BEY TERPW(LUeE)LELL(H BO 71U
EWE RojlM ot mioll ME

B [~TbbAatear] 3. HEMArLrEEL

T

BRHIfED TRERBR,
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BEEHEHRE BRLHE N3 —FE - F3 - HRE—

~TH5AEEADIs a polite expression used when asking
the other person for assistance.

[~ THEBAFTAN, AN TR T HIEERRR RS
HIiREE.

T~TE8AFHAAL, £ Yol FAIIE FEE M 4
gEd Y.

B3Ik, KFLPBEOYHFLE., FHEDMYH
TERIFEORRLEDT. BRATHI Do

¥ 4 I (cancel)

It is important to note that this English word is also used in

Japanese when cancelling reservations, such as for a hotel or
train ticket.

T34l (E)
3 R AEEEEE N R AR S SN R, E5id.
Ty vli(FHi)

32 3EHOILI WHE So| oYS 48 mo A= EFH0|2
2 7|8 FAF.

[ [~ (&) #TH5VAEVATTH] i1 BE
D AICFFE] £ Kb BREDTRBL,

Theform ~ (Z2) B THSWAEVATTH (| would like to
--- } is used when asking a superior for permission to do
something.

[~ (&) BTEEWZWATEY] (EIEERTFHR ~) £
L2 ATH B A

T () BTESVEWATTH,(~5H & Focd &
Licigh) & £3MEH 5718 78 mel 2.

fi:E ‘€D
DRSS BEFSE oo (28~ 5

Section 5 Quick Response
AT 5 EPEYE - EX 5 [AISE

[ BELETROTWBEEROHT . EUC
EsTWAAIL [ZODF, ZVWTWETH?)
ERWVWTWAEBE, (&, (ZOFEDOAR) SH
AULIZTF->TWBATT] &) 2 HERE

Imagine that the man is on the train. He spots an open seat,
s0 he asks the woman sitting nearby < DE. BWTWET
7 (Is this seat open? ). The most approptiate response is
answer (2), &, [FDEODAR ]S FAILIET-o2TWV3A
T% ( Sorry, but he [ the man sitting in the seat | is in the
restroom right now ).

EAHRERIEERATM, MAERERAL TTOR.
BNTWETH? | (XTMIAEEY). % (H. (EOFOA
) HFAUIT>TWABATY ) (W, [BTERXTAEMA |
FMART) #2 RIEHER.

TH solM Hlof e At2lE YHstn siof oiof U= AF
HAIFCOE. ZVTVWETH 2., ( Ol A2l Hiod [U&LITE ?)
gtn 2EE Y. TH, (TOROARG ) ShALEF2TWV
PATE (O, [T &2 A XIS gHE ol o ) 2t
2 UAs27H BH .

T¥
EVWHBHKRENDT, HAZE:28HB113ED
LLWoEAEAE—FOLTAMIHTWEWVLWDT,
3bEH,LLL

The expression B Z &l o7 means HE3 Z & vk -
7z ( she has been picked to enter the contest ). Answer (1)
is inappropriate because it would be strange for the boy to
recommend that she enter the contest. Likewise, the girl
hasn't taken part in the actual contest yet, so (3) would also
be strange.

THMAT biciiofz: MEBE THAT LAREST: (2L
BEhE), FTUAEEHIESN 1 A3, dTiERa2 L,
FREA 3 kit

MMaceiChoka e r&%-_tifﬁéiﬂf‘u{u?}_ ’JdDI
Hafixich) el ste oojol22 Urte ZHE st e

2 egolct. o} & Anjx| 2E|A =0 L7HR] giRt7] EIH--OII 3
= orLict.

BIBOAR [FEEs20] (~&5») & BSD

SFEVWEBRLETLNENDT, ZhiICHLTEH
?L&.:.-a'(uéSb‘IEﬁo ZZTIB»3] &L
[#ichkD (DT #ELL\)J sV BB,

The man offers to help the woman, asking F{z$ 5 #* (Do
you need a hand? ). The most appropriate way for the woman
to respond would be to express her thanks, thus (3) is the
correct answer. In this instance the word B 2 means i
LA[DT. ELLW]([to be happy because ] it makes the
work much easier).

B (FEBEIH @FERFD) , AARMACENIRH
B, LTSN 3 RIERER. XBH (5. M
BRE (8ohkad (0T BLV)) (REERACHRE (AL
RES%)).

HAE TFESESHL(EEM?) [ ~&5h | eHH 2242 &
2 7 x| Mo, 2ol cisl ZokESE EAlSD Y
£ 30| ™Y . o47[ollM "BIA B, B, "TRLED (0T, EL
W) ( ESiRICH 2™, 71sch] ) @l elo).

[WDfE272] B WODPRHENEBATWE

WO THEIALTWS, [RARKIETSI-TE-T
FHE] HEb BEDETHENI ENADS

The phrase W27 -7 ? is used to ask for confirmation in
situations where one can't remember exactly when something
happened or is going to take place. For this particular
conversation we know that the speakers are talking about a
future event, for the man answers by saying EB#ET 5 -
S - T /11 € (They said they're getting married next month).

NSz | MEERE, BACHEAAHEmERA. ATk
AKIET 2->TH-> TR E: (FRETTITAZE) X0
th, AT EARLE R LLATRY 3.

rL\'Jx:'J 7, B ixlx| #AlEt 212{0] otLiztM Holst
E EHOICH. TRABEITZ 2 TE>TLHEL (TS ol
ZAgstotn sield) ) 2 2ot 5749 ojok7|7t ot g &
pois 8

(¥
Moz &ichok] B [HEZeHRES] 20 %OltHWZHTTHR] X (BoTW
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EVWOTCERICRAa»SEWS) EEETFEL
'Z’??'i)'f'b“%So

The woman says 20 ¥ Okl E& +) % 5 TT # ( This seems
to weigh at least 20 kilograms ). It is clear she is making an

assumption about the weight of the suitcase ( because she
hasn't actually checked the exact weight ).

20 ¥ kS FS TR (FiHERD 20 A7) AWML
(IRAFRBF U BN AN Eit,

roo *OLlEHYES>TER, (202 oja2 H A FUR)
(™ 2x| ehotM Hesle 22x|gh ) FHE o 4o Zét

o Rict.

6 “DAFEDAESET [V ULIKAL S 2]
LEELTCRTWANT, ZhICHLTHIL
5E-5T\W3 3 WIER,

The woman is being considerate to the man and asks him
b LtkA 75 ? ( Why don't you take a break? ). The most
natural way for the man to respond would be to express his
thanks, so the correct answer would be (3).

B A B AR EEGE (O URARED? | (AR
thE—2)L? ), FilseRmisng 3 2FERER.

oiRbS WRIE MZHM THUKALS 2, (& 41Xl 221?)
2t o metst =3 97| W2l 2730l CiE TOFE S AT
ol 3 0l g .

[ZhEZALe V] EVWHIDIE. ZhETD

Cr3dd
EIERETRAEVEVNOIEMR, 22T, (it
ETETHMLLWEE) BREVFREShB3RKRRT
AV EVIE,

The expression £ & 25 U » kv means to not be ina
position to do something. Specifically, in this instance the man
is saying he can't go see a movie right now ( because work is
really busy ).

[FhECAUpil) MEBR, IHEAZ LMIGIERRRR.
EXRMEERE (RALERS) FRESG I aiRE.
repEcale»aly, 8 228 & a¥ol oiete <ol

o{7loll M ( O| D¢ Hiwct= E0| OIRE )YEE & =
Ue dgo| oliek=s ©fal.

BOAKR. HEORICREAESEWHADLELT
WBDT. ZhicHLTEATWS 2 PIERE,

3 ( business trip )

The man is worried about rainy weather on the day he leaves
for his business trip, so the most natural way for the woman
to respond is {2).

THiTR) (H2)

BFABAEROCHEMAFESTS T, Fdifm g
2 REHE R

TR, (EE)

GxHe A 7he ol HI7F 2K E0 dedstn U7l s
ofl 17dof chal cHEHEtn lE 2 7 HE .

[ BOAIL. EREEFOHBIEE [BSTT
it
Bl EE-TWAENT. TRIEHULTEBLT

W3 3 HVIER,

The man says & C7 4 (it's a shame ) that Ms. Tanaka
is quitting. The correct answer is (3), in which the woman
indicates that she shares the same sentiment.

BEAMFHPZMHHRNE RETTR) (R, ALl
FoREIERM 3 R IERES.

GxHe BpAAEo] 2B FE HE TBETIR, (FHO
) et Yatn 7| M 27 chal SstT Al 3 0]
BY.
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BAZEENRE EREHE N3 —8% - B3 - YRE—

5] [HSE] BRRARII A 2RRIESE,

a1 =E& : =
w2m FEEHE  BAEIC [%2] EBOCEEUELOT. B
Language Knowledge /pt"ﬁhﬂ/‘ﬁo{ Xl‘f‘-l @ )
|_ X5 - B The correct answer is (4) 8= , meaning ambulance. Note
Kanji Reading and Vocabulary /35 - iiC./ &%+ 0] 'HJ that in Japanese thereis no kanjiread as ¥ 1 .
THEH | MERESRLSRAMEHHAZEERYE, BiE
}ﬁ:ﬁ% 1 ﬁ$§ﬁ¢?} ........................... FREAEE (2 BE, iR T.
Section 1 Kanji Reading /[ 1 iR /3% (R, TREE, = e SR RAKE Heloz 2 3. U
ER1 Hat el . o2 T¥a, 2lm ol BAHe glou Yl S

(0 [EB) GEEEDT. EUOEAOKT. [B] . (5 [HF) REPGANEE. @HTEBOLS

B [Fa7] CREIENSVY, [EB] OB | —F0A, MBIR[VYI] EHEZENBVDT,
Bl IU%] IChBDT. X8, BREZLZWEDICLE D,
The correct answer is (1) iE & , meaning serious or honest. The correct answer is (2) 485 , which indicates the other
Note that E is generally read as 3 7 , butin EE itisread | person in a conversation or fight. Be careful, for the kanji 48 is
as % . oftenreadas V%7 .
NEH) MEBRRER, MAENAMET. (5) BREE MEF MEBRERE, Vi, URET2SEMNER—5
18 1Fa s BERN TEE #E 1%, FTLLRmMEIES. MIA. T 2E TV, BHEHT.
EE, & ANYSX %0 S EBSE FHC B E . rgE, ool WS 5, B SU0ITHE S Aol
F73%, 21 e dol pfout, TE@, o Zeol= o+, | T, 2TV, 20 9= Yo| oL E2|X] S5 = =05
gto ejesz Folgt . A
[%EA] BR-LBADZ &,  [MIEh3] BECEBIE, 20T [
The correct answer is (3) 58 , which means smiling face. h %)_L 3t HE?“%_L 41t Hﬁﬂél ECE,
MRH) MRERRENE. The correct answer is (1), which means to become dirty and
T, =25 o whose dictionary form is 5113 . The dictionary form for
answer (2) is & h % , fEN 3 for answer (3), and B 3 for
[(RRICE-T) BIn3] RRENFECCEBG - Tswer@
H I FEl B Eo s 4]
BLABTE: 110 (MRS 30 (gthal, | INA NERAFL A-ANEEEA 1BLE), R

SIS (NS, BILEEMEE (BN ).

b b=:4
41 [mh3] &< FEhD E CIRIIXIE 2. 20| JENE TBAE, 32 TE

The phrase (FRRIZE - T ) #Bh 5 means to become ill and 3, ., 4N, 2ln 20t
unable to move, so the correct answer is (2). Answer (1) is
written as 0 3 , answer (3) is written as 3l 3, andanswer | [g] [RE| IBEXFTREEBNBZ3E2D L, [~ft]

(4) is written as FN 5 .
" [~&] [~¥] & HEesRTEEIRRL(D
[(RSICE-T) BNz MEBRBUTRY, SRAEEEHT.

BORMEH (RN5), BIEWSE (NN, mENE PHBZNT, BRLTH L&,
G THN3 1. The correct answer is (1) & , which means rent. Note that
MHESECB2T)@ns, = 20| o FolA] S=IQ) £ oy there are several othegr characters used to denote fees alnd
S .18 T@hB, , 38 T8hB, , 4= Hhd, B ¢ charges, such as ~fC, ~# , and ~¥}, so try to memorize
= each reading and usage correctly.
_ = =5 w M58 MEBRME FHRMR. [~ T~ T~H %,
(4 [BR] BEREAEBCET L, 4EME | srmimeanll, REsek.
ARTVDTERT S L, BR] BH355E | TR, S WolLt TS Wels £8 YTt T~R, T~ M~
- = s,2388% = e Hels £
EHOTRC, TOBTHRLTERASIE, | oy SHE USUE WS 07l yov ol
The correct answer is (3) 8 &R , meaning translation. This is
often confused with answer (4) & 2R , which refers to inter- b ﬁ:ﬂgz iga .................................
preting. Section 2 Orthography /&2 £5 /282 B7|
MR HEBRMESAEHINE. BIGEARESHREN _ _
MOER. NBR MEBEN -MESRURS —FiESE, ¥ . (O] [HE8] BANEBEICHAE2RLAL I E,
ﬂ. = L ol o X i = - 3 g
SRR IR [ea] & [fil ran & [l B2hZh:0R
T@R, € &8 AF0{=2 1x|= Yook, 49 B MY .
Folg . TER, £ of@l o8 iR olojz 2 &y | OBTBY. AURSHNFHIOTEEA LW
Heisto TEstE Yolct. J:-jt:i_,c;:jo
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The correct answer is (1) B&% , which means to submit or file
an application with a public body. Beware of the pairs & / {#
and A / i , which look similar and have the same readings.

THIE ) MEEARATHESEIELN. () M (), TE)
(57 ABIEHRMBMIE, SRR EE, MEEHHE.

Tk 2 35 7lgof s{7HE MMsE Y. TR, D T, T
o T, £ 2z 2x 2¥o| Hl2d D, ¢lE U 42 TR
7t ey ge2lxl =5 FolstAL.

i1 ~3ikzhzh [R (GL)LTE (WL T
(TH)] ERBG,

The correct answer is {4) & (7 %) . Answer (1) is read as &
(L), (@ isreadas & (L' L), and (3) is read as & (T &) .
ME—ETFIEERARA B (L)), (L), TR
(TH) o

1-32ZZd (L), "TAB(WL L, "B(TH L
o oo,

(5] B8 T52E, 1. 2. 4NEEKR
WS, EnbHRXEZICEAFRYN HZEFE
DT, BhahGTwnEIcLL I,

The correct answer is (3), which means to study or learn, The
dictionary form of this verb is %5 Answers (1), {2), and (4) are
not proper conjugations, although the characters are related
to studying or practice.

5 MEBRYS. BEE—, B _MBRERKYEAIFA
A, BENSEIREIERONT, PEHEE.

%5, EZRHEL. 1, 2, 49t 22 gdxg, 03
S} Agof @At UE BRI R 255K A5 5 Stat.

2 [Z6] HEBULAATALN—CEBZ E, [§]
E 8l Bl &£ [E] BxhZThFoORBA
THY., BLEAFPFHZDTHSI DLV,
@l 1k laewl M5 R BIZLEZ]l O
£, ThZhERIEIDOTER TSI &,

The correct answer is (2) & § , which means to register or
apply for membership. Note the similarities between the
pairs 82 /4 and & /&, which have the same readings but
different meanings. The character £ is read as # £ ¥} , while
ZE(A)iseadas 2k 3R .

(&6 WEBRAMEFRAISR. (G W 1], (%1%
SRERRME, BiEEER, BARESERE, B &)
B THED), M M (R)) & TCiA ), BREHAHAR, K
LA .

B, & AMEi Wt 2l Yolck. T, o T’y TRy
o M%), £ 27t 2x 20| HixstD ol HE 22 ZR7t
olojd EE57| Hxler, TR, ET&EY,, "B (A"
foZa St Zol iz ook o2y Folg A

[$BINE] 3L >— b, RPN E, 2~4
DEZEERLEWY., MELRIEERDBELLR
ATLBNT, EVRLEATICRLZE,

The correct answer is (1) FX#F , meaning receipt. Do not let
yourself be confused by answers (2) to (4), for though they

may look correct, they are not proper words.

MRS EBRANT/NGG, BF. 5 ETRHINGHY S
AHAHFE. BRERWE, SREGDBITHAER, Bk, 7
B AR R R

TENE, = ¥+5, 2Y5olct. 2~ 41 A2 Y2 glRE,
A 2 o e 24 2olu| LT 2ol x| YD E A

[(FE%) B3] 3 [ERT3] cLWOEK,

1. 2. 4DOFERLEV.

The phrase [ & % | & T 3 (to raise a scholar ) means
the same as R ¥ % ( to train or educate ), so the correct
answer is (3). Answers (1), (2), and (4) are not proper words.

T(#F%) TTH) (05 [ %% ) MEBE MERT %) (#F).
T4 8T, 5 " RTHUR S PO N S A AR AT A

($&EE)BETH([HRE) 7I1RC0H) = "RATZ, (¥Y
sich) = 2lojoict. 1,2, 42 EHE T2 8ict.

PRAES STRRRIIE +ooovosesssrsrsasessonsssns

Section 3 Contextually-Defined Expressions .~
AR 3 BEEX K E2H 3 Budd

MEMIE[5 AR T EEEH 100 AAICA 3]

EWVWOEEE, 0%V, SOBF£IZ95 HH, 2~
413 [BE+T] Ev-LsicEDEV,

The sentence means 5 AR T &P & 100 FAICE S
( After another 50,000 yen I'll have one million yen in savings ).
This lets us know that the current savings level is 950,000
yen, thus the correct answer is (1). Answers (2) to (4) cannot
be used in the structure 3 & + T (quantity+particle).

EREHEERE s ARRET RSN 100 AR (Bmts
JETTHIE, R 00 BT). B, MRS 95
FBt. BRGNS T# i+ 7T (FhiE+
T) —iR{ER.

2rlE s FARYEHEN 100 FAKLES (5 0l C5H
Z{20] 100 Btelo| o) & olglojct. &, TR HI AL 95
BHOl, 2~ 4 THB+ T, (2T + LE[AM] )9 ol A
28txl gect.

(6 [55%%Lwv] BEADZEEZVWEHERD

THELNZ L, FEBASPEATVIVED
E [RE] £EE-TVWBDT. |BIELLD
DEELTELTWS,

The correct answer is (4) 2 5% % L\, which means envious.
The writer states that living in the countryside is A~ {&
(inconvenient ) in comparison to life in the big city.

T3 5RFLL ) MEEARGIANRERFOIEE. EABR
EABRECHEMRA T AE (RAE), Frlirif Rmh E .
55%ELV, £ OHE Aglel Y8 FAUCtn Y2Asts ok&
olct. Bt X717H &3 Y= AIZE TR{E, (8H ) sichn
sdngleaz TAE F2 Rolgtn oi7l= Y8 st UCH.

[FEeN 5] B [EVEENN 5] £V OB

1REENPHIADZ L, 21 [~HFHB] &v
IWTIREDEL, SREENICEEDE L,
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BEAEENER #RAEME N3 —8BE - B - WKE—

kg

The phrase FHED % % means the same as BWEEAN & 3
to be gifted or talented, so the correct answer is (4). Answer
(1) means a talented or capable person, answer (2) cannot
be used in the ~#¥# 3 form, while answer (3) is not used to
describe ability.

(AR D2 NERLE THWENNSES . (HREMED.
SIS EAEERANN. B IBRTARE [~2'55
B T8 = AA R E TR

TFeEN 2, S "BVEIFHS, (Hold 5ol 2ch) &
olojoict. 1& =o| AUes AlFES Uittt 25T~ ¥ %%
cl= 8@ 2E Hﬂ et 38 sHols 4x| gect.

[TF—E—FIEEFBEVEEDT & [EE]
[A=) [470-F] ZELHEB/ETLL
#F58%,

The phrase ¥ 7 — % — F means to set your mobile phone to
silent or vibrate, so the correct answer is (2). Other words

often used in relation to mobile phones include &{&§
(incoming call ), # —J (mail), and 7 >0 — K (download ).

Y+—€—F MEBRHETEERSS. (515 Ckd)
FA=)b) (HBEE) T4y m—F ) (FH) SRAFNSEER
A% id.

FRF—F—k, £ A2 UXl o= NS Yot TEE,
(BT X—)Ly (HY)THIYO—k, (Oe2c )85 &
CH stol M & me 2olct

19 [>T Iv] BEETERI LW E, [T

WETHAL] @ [RFETFHA] E3FED
BIRICED, [1A——] 2 BRIE][2 &Ky
Mo TEW]L (4 NoyE—] IE TEH] W
2 Bk,

The correct answer is (3) ¥ > 7'Jl, which means simple and
without waste. The phrase & > 7 I & FH 1 > ( simple
design ) has the opposite meaning to fkF & 74 1 > ( gaudy
design ). Answer (1) & —/Y— means B# & ( excessive; too
much ), answer (2) &« k means &\ { hot ), and answer (4)
/vy E— means #+# (happy ).

(Y7 MEBRAREE, BAZEM. (VY TLETFY
A7) (MRNBGE) 5 RFETHA ) CEMRIH 8
M. F—am A4 —1—) HEER AR (BAK),
T TRy b BRER (o) (R, TSNS Ty
Y MEEE 188 (EH).

FYL T BEESD OO ¢ R TY L TR
YAy (MBS CIRQ) 8 TREATH A (S2det ol
AR ) BH= whoi ojalzt ok, T 1 H—/Y—, & TEEE, (2
ol), M2 kv h, &8O (ZAUOH), T4 NvE—, &=
rEt, (85 ) ofzts ojojolct .

LOMNFLU BB EERICIEHZDIE[2 AL, 3.

4i3[~%1LHB | OFTIREDE VL, 11E[FE]
31k [H] EBLDTEFLEATHELELL,

The correct answer is (2) & ( breath ), as in hold your breath
while having an X-ray taken. Answers (3) and (4) cannot be
used with the ~ % 1L & % form. Note the kanji characters for
answer (1) & ( voice ) and answer (3) i ( chest ).

22 ERTEIREHE

X OEATERR B R MRS TR T AL (FEIR). 8E =T,
FEIREFALL ~Z kDD B"]iﬁ‘nﬂ‘ﬁﬁ] BTG AE 55
(5E), S=gmEE TR (W), NENEBNED.

LM AEIZ 22 ool HEE ZW2 ™2 Bu (&) olct. 3,
4 T~ZiIEHD, o B2 = MX| gl 12 TH, (5
42l), 321, (7t& ) oletn MU BhrtE 5] §H Fo}.

I [4 Z2-<0)] BELBETWBZE, [1 Toh

WlRTeTll2 >k [B8x52ERD]
[3 EoFh)] (3 [BAREIC] &5 ERk,

The correct answer is (4) € o < ¥, which means to closely
resemble. Answer (1) 9" - 7 +) means € T ( all or completely ),
answer (2) o744 means 5 & 3 &€& J (just right ) and
answer (3) 1 o & V) means BRRRIZ ( clearly ).

FIGEE "o D) MEBRRMAM. F—%W Tdomb )
MEEE 12T, (&%), F &M Uofch: MEER (BX
IEED ) (EFRIE), B=EM HEo%h ) MEBE M
<. (BATE).

M4 F2<Y, = HOIES A . T1 o4y, =27 (H
). T2 U= LN =ETE5L5ERS5,( B Y}), "3 o
&), = TEIREC ) (B SHAH ) 2k 2ol .

] & [EZLAESH
L, LEWMEI W] EnSTE, 10D
BEW [XO] BEAEZROONGWIE, [2
HESHB| ETEHEVWEBIVYEZE. 3 H
3] BESLTLWLWAbESELTELE S L,
[4 H5DHT3] BRELLESEHED T ES

The phrase X 5~XEH E 3 b means the same as ES
LEES DD, LEWLES P uond ( whether or not to
progress to the next school level ), so the correct answer is
(1), which means unable to make a decision. The dictionary
form of this verb is 3 . Answer (2) % 5% 5 means to
abandon or give up, answer (3) B % means to be troubled
about what to do, and answer (4) 5 T% meanstobeina
hurry.

[HEETEZENE 3] BERE EZLZIES BV,
LEIiE I Ao (GREREE B/, FEAR F8iE), B

SRR R (5] WRER, AEATRECHERE. B
TN HELHD KB EETEA T, $=5%mH
5| MEREAHIEEAMFREN. MEMER (HbT5)
MTEASHEBERIM.

TEFTINENESHN & TEELLEESFLLA, LV
B3HVW0A, (Tste o] F27L, stx| g 2ol F2
7ty et Folck. 19 7|2H T3, & 428 Hatx| 28
ER. T2 pEsKhd, e HBIE A, M3 @5,
£ o{EH SlHof & x| S2tM DZNSE R, T4 BHTH,
= ¥l ofddT EZ 8 st= Holct,

B3 [EPRIAREHABE S| BB LWLLBRS>N 31

BREMATLESZET. [BHREEI N3]
EHE I 1. 2. 413 [HED ~] O T
EZ W

The phrases BHHAR Y B E 3 and kIR Ih 5 are
used to refer to something that has passed its use-by or best-
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before date. Therefore the cormrect answer is (3). Answers (1),
{2), and (4) cannot be used after HARRA ~ .

[ERARANAE 3 | MEERCESL 1 el LAERM =R,
A [EEERAINS . TB—, B, MErEEHt
AETEALL THRMRAS~ ) myIB{EH.

FREHMBFIBES, & AU HE 4 2 7|82 AT
Ches So2 | TRHEBEBRFInd, etz #ch. 1, 2, 4
THIERA ~, ol Hoz2E: & £ gic}.

[$3%EEC] BBBEANLSD I E, [1 #B<]
BEHFELEDT, [~&h<] EREALWV. [2
BUB] BovT7—DOBBEBOLIC. 25IIH
W32k, 3 BED] B—HOIC [HFHE~]
DR TIEDE LV,

The phrase % %% < means to pour hot water, so the
correct answer is (4). Answer (1) # < is an intransitive verb,
s0 it cannot be used in the structure ~% H < . Answer (2)
B U % means to pour water, etc. on oneself, such as when

having a shower, while answer (3) i % is not generally used
after BimE~ .

THEAEC] MEEREANU. FAF—%RM H 28
hinl, FrLAARGERRR [~%DL . BN MBUS) ME
BN R M RGKAREE, EHAes. $2EW TRES
FEALL [HBEAE~ ] MELEH.

TEEERF<C,  EIHE ES 9= 4. "1 #<u = ABA
OlERr~%h<,2lnE & £ 8id.T2 A3, & A
& met ol Malo 7%= 23. 73 BED, & Yitzez
TrEl%~, o) o2 MK| BlE=Ct.

25 [3 XA REFICHTIFRENIZ L. [1 R
HEES|EWVWIHIEVWAIRLEW, 2EBBSDER.
[4 DY) FBHI—MEINT S EVIEIC
-

The correct answer is {3) 3 8 , meaning complaint. Answer
(1) 3% & 5 is not linguistically correct, answer (2) refers to
one's own opinion, and answer (4) #{XH }) means to have
an additional serving of a meal.

=R ORI R AR X T AR S SO S D
BRI AT, M5 EWE R H OB, SBIET "5
b ) MEBREEA .

M3 X4, & ool i gete g . "1 RRESS,
ghe EHe gict. 2E XeloloflH T4 SRPY, =& 2
% o @atn s ojal7t Eict.

PRIEEA BUMBLIEE oo
Section 4 Paraphrases a4 iE3E, 8R4 ReEH
26 [REBIC] BIEALA, PLTDEVIBKRT.
4B LV

Answer (4} is correct as /& 55 (C means gradually or little by
little.

TR MR RIEEEY, A Al ERENENEE
WEE.

TS, =Y, =24olat= ol0l2 47+ %ot

@ [5-o#MT|R3ECREBDIZELDTIVIER,

1@ [RIC~] OBTREALV, 2-IRTO
£ ICEMEOREIAES DT, BAOKE [
£5] EBEALLV. 41 [6BF) EHTHL
DRSS

The correct answer is (3) because the word 5{># ¥ means
to move house. Answer (1) cannot be used with 2 IZ ~ .
Answer (2) refers to a short stay, such as when going on a
holiday. The dictionary form jH¥% % ( to stay or lodge ) is not
used to describe staying at one's home. Answer (4) is used in
the structure (357 ) ZH T .

A 15l-o@d ) MRERIENEMNRBRFRTZE, Bril
FERMR ERER, B EIOEALL TFIC~ ) M.
BN F TR B bR Tk R R B R T, 8
CRRFHFARE THED) (L) . MBMEMEL TR
EHTIT< ) B,

rgl-o#v.,e Me 22 &7/ Yol=22 30| HE . 12Tx
o~ ol EHog= & 4 9ict, 2& oi#n} Zo| et7lztel |
ol M= 2 | X}7| Ro| TRES, (=uscH) 2tas ¥
£ Qich, 4 "B ) EHTT<, 8 o £101.

B8 [EzarHW\] BEAIPTRHHEIELEDT,

4BRLEHERSEV. [1 (FAY) G0 B
FRTSOERICEhEVTE 3 TIES LW
BETHVWTE, 21 [(EAH) FHLW] &
BHFEUEDEL,

The phrase & A #*H 4\ means to not think carefully enough
about things, so the best answer is (4). Answer (1) [ FZ " ]
L\ means conservative or out-dated, answer (3) T1¥5 L
' means excellent or splendid, and answer (2) [£ A 5] $i L
\\ is rarely used.

EH (ZZHHV MERESRIFARE, FLEMEN
MREEEOEIE. B ((FADY) dv ) BRERREST,
SEIREASR. $ =M (95 L0 MRBAMRE. B2
IR TCEADY) FHLW e

TEZHFHV, £ Y20l 2&Esicts £22, 7HF Y07t
e W2 4. 71 (EFEAN) HV £ EFHoR XIS Ao
of &x] gt 21,73 FES LW, & ofF FCh= FoIo}. 2
EN(EaN)HLV, 2l BHS Ooix| 3 Mx| gEeC.

29 [TE| B EBAELTWVWAZELDT,

ANDREANIBE. 1 FRHEKRI L,

The word T 2 means to carefully and precisely do something.
Thus (1) is the best answer to describe explaining something
to another person, for it shares a similar meaning.

Ry T T BERBARFE, A, FTLAER AR,
B EES 2 S,

TTE, & MM & "alEo] s U2z, eldA 4%
g Zeols 10| 2hE ik olo|7t €.

BO2NREW [ty T3] BVWAVWALERKRD

HHP, COBETEEEI BrALBHELIC
BELTHLZE [1 2y FT3] BEb3Z
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BARERENE MHEEME N3 —BE - B - WEE—

E.[3O7142F3] BaALE21—42D%y b
T—0%E52&. [4 VDITRAMTB] 3B
WPEBKETEI &,

The dictionary form of answer (2), £ +3 3 , has a number of
meanings. In this case it means to set up a machine so that
it works properly. Answer (1) 2 v ¥ % means to touch
something, answer (38) 0% 4 > § % means to log in to a
computer network, and answer (4) J 7 T X b ¥ % means to
make a request.

AIEMRET T2y 45 BRAREHEL, HXEE
9 24 PL 2R SF R T AGE RS B3| (4w F9 5.
MEERAERME. =81 0Fr/035) HEEEEHE
PRI ERER, SPLEW () /TR 9% MBERERESE
MER.

22| 7|28 "tv hdB, £ ody 74| 2lol7t 2l=d), o] H
2ol 2147 M2 2SS EE TR S . M1 2y
FE2,EUX=H, "3 O0V409%, = HHE HES
SMESE X, "4 UOTIAMTS, £ REo|L 872 5t
= Zdo|ct.

PRIFES [ -ovveeerveriremmisneeninennienn.

Section 5 Usage /a5 fi#k /85 89

[FIC] BEESFPENTE, 213 [HEY ],

413 [\Wob] ICEWBASNS, 11 [H%IC)
EEVIEBREXICL 3,

The correct answer is (3), because 7= % IZ means occasionally
or with limited opportunity. The most appropriate word for
answer (2) would be & % V) , and for answer (4) the best ward

would be L 2% . Answer (1) would be correct if 7= ¥ - was
removed.

Megic) MEEBRIRM . FRMalLlT (HED ), T
SBIEIAT LAY NoDd M8k, & ETmR RN MeFic
B, MCAIEWAIHT.

Me®RC, =712t e Holck. 2&T&EN,, 45TV
Ly 2 HRH L A0 12 TEERL, B WY AHARS
=2%o| gt

BY [B|RATTREL RYRT VI E, 118
Lal, 213 [HE8IC]. 413 [RAL<] IC%h
FhEvw#zasoh3,

% means easy or not hard, so the best answer is (3). Answer
(1) should be written as % L & ( looking forward to ), answer
(2) A BLLZ (simple or light ), and answer (4) 2 & L < (easy [ to
understand ] or plain [ language ] ).

[5¢) BIRERA S, RAHM. F®IAATLAS (4LH) (8
2, M ERT L T I ) (BT, SR AT S T LS
(F5) tHER.

%, & HEXI AD B7I 42 K. 12 THL&, (EHE,
7Ich), 2 TREBC, (S, 4 TREL<, ()
2 27 ube U8 4 Qlch

B [TE] BDAERDBZ &, 21 [FHEE].
31k [EE] 41k [3TH] CFhFhSvniaz
5h3,

32# means to substitute or replace another person, so the
correct answer is (1). Answer (2) should be written as &
( exchange [ money ] ), answer (3) as Z % ( change or revision ),
and answer (4) as 3Z i ( exchange [ personat ]).

TR MEERASHANER. BT TEE (),
BEWATLLS TR (X)), BIEMATLAS (383 (423)
.

Fx#, = CHE AMRIE mcsts Zolc. 2& TEE, (E8
B, BH), 3R EE, (HZ), 45 TXH.(DF) 2
2t2 uh¥ 2y 4 2ch

[BE] 13 [(BBALBRLT) &b3)] &)

Bk, 1 [EEEAV]. 3R [BENIFALDS].
413 [Bbo7) ICZhZFhEVRZIONS,

G means [EB5ALBRRL T]E D3 (to settle a matter
properly ), so the correct answer is (2). Answer (1) should be
BEE v (want to finish ), answer (3) should be BB
A 25 (when the meal is finished ), and answer (4} should be
#1 - /= (finished ).

[Hs) MERE (ZFBALMILT) #b3) (| 28RE)
e 1. BEMWELT (FEEin) (g, B=ikm
LS (RENFALS ) (BER), MEMRMERLLY (&b
7z) (57) WEiE.

FRC = E5AEMRLT IR S ([ RS siZstod)]
2iict) et ool 12 TEER LV, (OFRlZ ACH), 32
FREFEALS, (MATL BURE), 4= T8b2 1, (BY
Ch, RILFZECH) 2 ZH2Zt bl e 4 Qlot .

B BV BB TEITE. MINESTE, 2

R [&E-7]. 3R [#FBE&bEELLL 412 [£]
KZhZhEVRASN 3,

H=\* means to meet for the first time or become acquainted
with someone, so the correct answer is (1). Answer (2) should

be & > % ( met ), answer (3) should be 5 &5bhbe % L /-
( arranged to meet ), and answer (4) should be & .

MHeU ] MREBRPKLE, AR, BRRHALS (2o )
(Rit), BSEMALLE (F5ADRELE] GEFTRE),
TEPRETATLL, (£ MR,

FRaW & MS Bt 2, 97 s Zolck, 2= Tao Ry
(Brdnh), 32 T#5AhBELE, (Aol BHvIE st
CH), 4578, 2 22 uh7 U8 4+ ok

r. Xk Grammar /iBBY ._T

PRI XOSLE1 CCERROHM) -

Section 1 Sentential Grammar 1 (Selecting grammar form) /
1 AFERER: (BEMHED
EAM1 E2e 2H1 (SHEA )

BIEEMIE [5FEEVWHREE. BEICEATL

Joo LU, BARBY I V] &SI ERE
DT, Z#WICIE [DIZ] THhE] & EDFEED
SENADS, 1~4DFT, HEERTOIES
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Do

The correct answer is (3). The meaning of the sentence is 5
VWS ERBE. ARICEATVWE, LAL, BEENFIEL
%\ ( Though she lived in Japan for five years, her Japanese
isn't that good ). This sentence requires a contradictory
conjunction such as @< or ¥ 1 £ . Of the four answers, only
(3) is a contradictory conjunction.

FARENEERE sF20I RIPR. BAIEATV . L
AL, HEBNIE RV G FERXAKMITR, E4E8H4,
ERBAEBEFAE), UESALEZEEA (O] Th )
SRR A, TR PR A S =ik .

BAHE S FLEVSREMN, BARLEATVE. LAL, B
EHFSE<AEV, (5H0eE 7 7IThe e Ao, 2
U YEo|E & Fiich) £ 2ojojaz Bl ZETOI, TH
he) o e oy Be Yol sofzict. 1 ~ 4 FH2ColA
9HE LEILE "2 3#o|ct,

BHFHEDOTTHEHTT--DIEEBEY» Lo 2D

5THP, LEN->T. ZRMCBIERERTE
BENPAD, 1~4DPTERERTDIE20DH,

The correct answer is (2). The sentence describes a causal
relationship: he left the room in a hurry “because” there was
no time. Of the four answers, only (2) indicates a causal
relationship.

fufi R ENE AR, Bk, 284N EARRE
g inl. T PYAET SRR SRR R AT S
a7} S{SOiod Lz 242 Alzho| %] MEo|ct, kA

ZrolE OlR & LIEHHE Yol Sofghct. 1~ 4 SolM OlRE
LietiiE e 2 #oict,

B4 E2ap] & [~TlrEL, HS~] &n

5B, ZWIC1EANSE [ELY LAV,
3 38T 2BICIEVDH] EVWHIEEBRICH Y,
BEOBMREEDEW, 2 [BETTHE+E
Ho] O TES.

The correct answer is (4) £ Z A b, which means ~ T34 <.
(=~ ( not --- but rather ---). Answer (1) means #5& L » L
£y (all he did was study )} and answer (3) means #5487 %
EFlZ {2 (whenever he studies ), which is inconsistent

with the latter part of the sentence. Answer (2) takes the form
EEEITHE+ENG .

ST [ X T A MEER [~Tidad a8~ (FE~,
MR ~). EEHABNE EMAESA @ L L]
23y, A SRTMIERCh ToET AEHCRVWDL ) (FH
MEHE—E) MEE, ML 0A%. fs el 79
WMETH+EHD ) MERAER.

T4 ¥23h, ET-TREL, B~ ( ~7Hotdat 273
B{- )ets oo, Bl Zhof 18 S TMELALEVL, (S
Sdtofl o Bt), 32 THBTAIBLBV L, (SFE O
ol= g4 ) olete 2loizk £lof #ete| ojojg} oF it 2&
IBREIR+BFS, 2 Haz &0},

[~HEwnwdsic] @& [~Ich3d, ZORIC] &

WO B, 213 [BBW+TZAIC] OFTES
DT [BLEBEZIC] £HELLV. 34 [F

Fic] EVWIHIBRRIEILVWOT, ELL AL,

The correct answer is (1). The construction ~EWL 3 BIC
means ~{Z% 3, EOHIIZ, ( before something occurs ).
Answer (2) takes the form B&F+ £ A {-, and could only be
used as B < &t 5 % A {2 (before it gets hot ), while answers (3)
and (4) mean E#IIC ( beforehand ).

T~Ip N3 bic) MEEE T~2ix%. TORIC) (Bi~, &
A, BEMERE (HEH+ A KBAER,
FrEAR A (8 A E RIS ) (BRI W) KIS, NIATEMRE R,
i 55 SIS PSR (S0 (BR) HEE, L
AER.

Mr-awssic, 8 MN-Cas, TOHK,(~7 ") et
olnl. 2= "THEBE+RAL, 22 M2 TECAEZTE
AT 5( Cx]7] Hof yebe groh. 3, 4 o TEEINC . AFEol)
gt ool gle=2 %X ootk

Bl [E556EBBALWV] B [EB5PE-ZNL

W] VD EBER,

The correct answer is (3). The expression £ 55 & HEA L
Vmeans E55H 1o &N LAV (to not clearly indicate
one or the other ).

TEBHELHEARVINEER 1 EEohEo2 0 LW (B
TERATERE)

TEBSEEEARV, ETEB8AR2EYLAEV, (0=
ZIx| & dstx| efch) = 2lojolct.

(6] [(&FE+0/BFELH) £5] 3 [HOFEM

AT LEWT] EVIEK, [£ETHHVLLY
EEABY. [EIZHLWLW] ERBBALEVDT
1D ER, [~&sW] ik [~ERBL] EVWHIE
BREDT2., 4IELLEL,

The correct answer is (1). The form [ &5+ O /8538 = |
£F means M bLFEMA 24 L & T ( to leave something
as is ). You can also say £ TH & L v (it's equally good
eaten raw ). Answer (3) {2 H L L Ly is linguistically incorrect,
while answers (2) and (4) include the word & 1) , meaning
~ & [ L (same as ), and are therefore semantically incorrect,

[(Eml+0 /i) $5) MERE MItFeEmAbL
BT (8T BAERRE [£TLE LWV (£
FHHARFYZ), ERFAANARRBE EiCB L, TS
—RHEEWER. W (~&BD) BB T~LFL) (5
~iE) MEE, LS ML ER.

M&FA+0 /BRALE) TF, E"@EFEMALYLELY
Ty(olFH B six| gfn ) 2t Qo). TETERBLL LY,
(g2 Ho{x Qlch) o & & YUXRIE, TELHWLLV, Bt
Ed+olonR 10/ HE.T-&HYI ET~EBLL(~
1} Zol) et= olojo|22 2, 4= ¥X| ¥t

(&R BERLNEOB > P EREEEENSZ

Eo BN [TFoBEVWTVWADRFER] &
WOEKRT. [T o&] EVWIBHRIREDINDIE2,

The correct answer is (2). The word & & refers to a person
who feels more energetic in the evening than in the morning.
The sentence means § - EEA VT3 D EFSR (| have
no problem staying up late at night ). Only answer (2), - &
{ continuously ), denotes a continuing state.
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¢ N3 %£2 0 #E

BENR xx-=9

1 2 7 8 10
1 3 4 4
11 12 13 14 15 16 17 18 19 20
3 2 1 3 1 4 4 2 3 2
21 22 23 24 25 26 27 28 29 30
4 1 3 4 3 4 3 4 1 2
31 32 33 34 35
3 3 1 2 1

SEHE cup) - R
1 2 3 4 5 6 7 8 9 10
3 2 4 1 3
11 12 13 14 15 16 17 18 19 20
2 4 4 2 4 4 1 2 4 1
21 22 23 24 25 26 27 28 29 30
4 1 2 1 3 4 3 3 2 1
31 32 33 34 35 36 37 38 39
4 3 3 3 3 2 4 3 4

JiEg:

fEi%E 1 1 2 3 4 5 6
3 1 3 3 1 2

RisE2| 1 2 3 4 5 6
2 4 1 3 3 4

BIZE 3| 1 2 3
3 4 2

bR 4| 1 2 "3 4
2 2 1 3

BEs5| 1 2 3 4 6 9
3 2 2 3 3




AAGERENEHR HECE N3 —BE - B3 - EE—

) HERERAR FHAXEANBNES. IENSER
(TFobFRNTVBORTR) (—EAEEESRE), MR
ok (1) BREEMIAS Em.

&8, = of2Ech wofl o BS2o| 9= | Wolats =0
Ch EXE "F2BEVTLA0BFE(AHS o Xtn
E A2 oifEXIE St )= oDIZ , T F o & AlSEM Z)
olztE olOl& Lehd £ 2l ZHe 2.

[~&ZBEok] i3 [~LEI3EB-£H#F, L
&ﬁ"ﬂt} tb‘?ﬁuio

The correct answer is (1). The form ~ & Z 5 2 5 = means ~
L&3&EB o714 LE#H -7 (was going to- but ultimately
didn't).

[~ BT MERR T~LE3EBoihh Lishoiz,
(B~ EEHD.

M e CBEa2 I, ET~L&SERB M, Lahak,(~
st #ixlgt, o Fct) = ejojoict .

@) [~ICEk>TUN BN EIBS 2 &5 ET,
BIEXIE [RPB3EC3653] EWVWHEMK,
[EZAILE>TIR~TLEI] BESRFHTL
{fEbhsREyXH,

The correct answer is (3). The phrase ~{Z & - T (13 ) means
that something is different in each case. This sentence means
that B35 & 25 6% 3 ( Rain will fall in some places but
not everywhere ). The form & AL L > TR~TL &£ S
( probably --- depending on the place ) is commonly used in
weather reports.

[~2 kT (1d) )| BRBERERENELTHAR. HEN
BEL (WAMBLCALHS] (WETFHMEH). (LA
EES>TE~TLES | (BEMARAR, Tiks~) BXS
TR 2 R s A

~K&koT (@) & A%l M2 OB 28 Ledn 2
He TBfR3LcsE55, (H7l 2 2% 9o}) & 9
0. TECAL&>2TR~TL&S, (2ol Melde ~ #a
LiCH) & 7] 6 2ojM X Mol M EHolct |

[ELT] 3 [~DIAJT] EWS58Bk, 4¢&
EEXSHLWVY, [ELTIR] 1 [~DEH 5
EAI1DE] EVIBMREDT. COBSIBEL
Cdgin,

The correct answer is (3). The word & L T means ~®irig
T ( being or as ). Note the similarity with & U T it , which
means ~DILEH 5F X B & ( from the perspective or
position of ), but is inappropriate in this case.

TELT) MEER T~OI8T) (KA~Msr). SPEmie
BEHHEE, AERH TLLTE HEER (~0uwEhn%
AB L) (WE~WSHEEEME), FrUMEX BHALH.
TeLT, ET~0OXFT, (~9 LTolAM ) et olol. 49
28T 4REHTEL TR, ET~DUBHSEZDE,( ~
o] elgoilA d2fste ) ol2k= elnloj=z |, o] Hofle ohx|
gect.

[~&8Z2~E/ 15| BVELEEETT, [H
£EZHNE] 3 [B2EGHEIE. ZLODB

DIFVSEL] EVWIBBRICE B,

The correct answer is (2). The construction ~& A~ /7= 5
denotes a necessary condition. The expression £ & A & h
i (if | had money } is used to convey the proposition ; & 7%
Hhhid, EBrOdOIRVSLEW(If] had money, | wouldn't
need anything else ).

~ER~E D) REVERST. T BETibhuL (B
EHEHMD BREE (B2 0b0hE. @Erotoins
Tl (MERR, HABARE).

~EA~EF /5, £ HRE EHE UEdh . TaeEx
HhiF,(Ed USH) 2 "E2EUBIE. Brotor
LWszw,(EQAed e 22 22 oict )& oot Ect.

(2 [EBhESHV] B [~ERDDISEL,
BNbH2] EVIBKR, [~hBEVST] &
Wo LSLIKEIZENFBULDT, [~hd e
T ~ERBPESHEV] EBATHELEL,
The correct answer is (4). The expression & lZHhE 5 T
means ~&RHB 2 ShEWV, FHABH S (not necessarily
-+ there are exceptions ). It is frequently used together with ~

75 &> T, so make sure to memorize the combined form
of these expressions ~H#5 &V T, ~ERPES T,

TR ELTV ) MERE T~LRbHDFonixy. Fist
HB | (FATEL~, WEHMN). RIS I~DEELST)
—REANERRE, LN T~h5E 0 -T. ~&i3Hh
EbLizl) #Figd.

FERAESHVN, E T-LRODUIShEV., At
(~2tn Y=oz chude 5= gict, ofQE fich) &= olajol
Ch.T~A5&EWT, 9 Z0| ME Ryl Qoo M- p
SEVW2T, ~E@GAESHEV, 2ln Y TH T}

03 [(BEEER) C&dbuw] & DBV, 2

CETLELTEN] EVWHEBR, [1 Lz
B [~LauhiEgssawnl, [2 260 idH0]
BI~LESERBHAEWVLIS hpku]izlid
THEW] EWIEK,

The coiTect answer is (4). The expression [B AR &N =
ElAvmeans BELWV, TZETLAEL TLW (not
necessary to do [ to such an extent | ). Answer (1) L » & u
means ~ L i+ IE4 5 B0 (have to do ), answer (2) 26
itdvmeans ~ L &I & B DKW (nointention of
doing ), and answer (3) H i1 &7 4 vy means & ¥ 45 & L
{ unlikely to do ).

N(BERERTE) Chiddy) BNREE ToER. FCETL
FLTHYY (RADE, AHMBIHEHIEAR). S—%% 1L
Ew ] MERE T~ Ladhdabinn) (RA~HRe), &
TIET (D& DAV MREBR (~LES5 LidEbix (B
TH A~ , FE=1 bl AR BREER I3 h e u ) (F
EALR).

(BHRNEE) ZEBAV, ETHEEN, F2ETLAEL
Tk, (B ik, J8HMK| x| gtotE Elct) = olo|
olct. 1 LABL, ET~LBthERSEW, ( ~8tX] &
oot gn}), M2 26y aL,E0 -L,Jtotliﬁib’&b\
(~8 4Zr2 9ich), M3 hUAM BV, ETETFREL,( ~
2|7} gict) = 9jal.
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PREIE2 MXDIE2 (XOBHKALT) -
Section 2 Sentential Grammar 2 (Sentence compaosition) ./
[AIEE 2 fFEE: 2 (TR

25 2 230 2 2( 25 8ET|)

[BRR. EELVELAZERILTIN . T
DI EREAE AL [~2EiR~]
HEICSEEBVELT. WokABHIER
NDEWH. Z0#EIC [~TTH] [LhL] B E
NEEEHRUTRABTEIED B,

Bl EFLNELACERTLTTN. To0&{E-
=¥ 145 & ¥ ¢ A ( The economy has improved somewhat
compared to last year, but it still hasn't recovered properly ).
The form ~Z & &~ , with the same word appearing before
and after, is used to acknowledge a fact and is generally

followed by a contrasting statement linked via ~T¥Hor L
# L . Thus the correct answer is (2).

MRS, FEXDFLECERELTIA TomDE<E
REEEAE A, (BF, LREFRAHEK, BFE5R
B4, ~Ckid~, X REREEE, BFox
iNE# k. MERREA (~TTH. "LAL. F8iE, &7
FEigERbR L.

TREN. EFLUELAZEBELTIN . T2 &<
REBEREEAL(Z7IE HHECD O UotX|7|i= Lot
guicto, gtEs| FolmictnE # + Haud) . T~k
~1 £ %S Ys tEsol YE Y m e EROI. 3
cEoll T-T3H, TLAL, ot 22 U8 OloiM BEstE
A7t e,

8 [EEE AR, EEINTERDEEDPYT,

BHULALTEELEVWEDITE,] [(@EALH)
hY | RELBEIrE-TwEnCE, (B
HTH) o hwdlETH~E] &V I BB,

GEa AR, TEINTERDEEPYNT, EHLELCT
=% 5 frv & 5 7 ( Sato has just taken up golf and seems
to be really into it ). The form [Eh53 /=77 ] 1Y) denotes a
recent development, while the form [BISETH] L5450
means the same as & T &~ 7 (very or extremely ). Thus the
correct answer is (4).

EEEAE. FEIONTEEDIZENDT. BLULALTE
F5H0ESTY. (EENRFFGITERE, FRIEEEIT
). (BER) 0. RENERALIRA, 1 (BT
) ek, MEBR TETH~EL (FE~)-

rEBE AR, EETLTEROEENNT, BELALKTE
£5HVESTT I AE ME OF 2Z& of AISe #olg,
ROj2loiM ofm B B2t 2 Zole ) (BELK ) EA Y
= obx| Alztol XIUK| g2 W, (BRETE ) LESBLV, £
reTe~#, (01E ~ch) 2h= elnl.

6 TBAALEDPDEVWST, BEEBI#EASNS

EWIbBTREV [#5EW-T] B [~&
WHETTIR] EVWIEHKRT, #IC [DUITR
] [ERRS BV HEDBENTEN < D,
[3 &) ) OFREEMEDT. [BAEIH
AbhaEVnd] E&Elo

AEALEDPSEVST,. BEBFHRAShIEVIDUTH
%\ ( Being Japanese doesn't necessarily mean that you can
teach Japanese ). The phrase # 5 & L - T means the same
as ~ &LV 213 T3 (just because ), and is usually followed
by a negation such as b Tld & vvor & IZBRS 4w ( not
necessarily ). The phrase &3 (3) is preceded by a plain
form, which in this instance creates the phrase AR/ H A
513 &3 |, Thus the correct answer is (4).

THAAREASEVST. HEBAZAGNZ LWL S3DIITE
O (ULEARBAEAN, TR -EREHER). [hEE-o
T. WEEE (~LLI R TIE ((UR~), FmiA iy
T3 TEEBSEV ) (A —E) FEREENRIE. 1
FRE =M [ &S ) MATEBARRE, FTLUaHEE THASD
MHIONBEWNS L.

TARZAREASEWLT, BAZEFAIRAShHEVIDEHTE
FW (YEQlolEln s, HEE 712 s N
ofLict) . TASLLWIT,, E MT~EWVSEWHTEL( ~ghe
Ziptez ) olgte oo|2 , Holl "ThHTEEWVL( ~ e
ofLicH) TS AL, ( ~2tngt2 & £+ g 59| 8%
x{ol gto| 2.3 £S5, o Yol EEH0I2E TAXKEE
F#Hz5HhdEWS5, 2la olo{EICE.

[FfiETHEICEBERI2ER>TVWERN

¥, LESTHRAEDTEERD UL [&R
U] Bl [(FRE) LESTHALL P
S5HENDT, BRERT [OT] T2HVT (L
BL{THBAEDT] &fE<,

FHETICEILLEIEDIEB>TWwAEThE, LEL
THBEAEDTIE > EZD L % (| thought that | would have
to have an operation, so | was much relieved to discover that
| didn't need to after all ). The writer was %> L 7= because
(FHi%) L { THEAK . OTis used to illustrate the causal
relationship, which in this instance creates the phrase L % <
THiFA DT . Thus the correct answer is (1).

[FHETACEILELEAIEB-oTLRINE, LELT
LFAFOTIE- L TO LI (BRNATRESHTA, BE
B RSRAERF, BTLABEELD 7). AX TR L] HER
B T(FE) L TBAR), FrilEkiAEAam (OT) H
R, B LR THHEAREDT .

FTERETDROLLERBEE B2 TVWEHhE, LEBLT
EBAEDTEEEOLE, (T2 M € Holgtn
ZhaHQAR|CH, OF ST EI%17) mEo] AR AR TROLL
Iy 2 olRET(FHE) LESTHEAR, 2t W02,
OB Uetl=TonT, 2 o8 TLAK TEEALNT,
2t1 o|o{EIct.

[TH. WEBHBVWEWV-TH1TAMEERLEW

EBWET L Wb~ TH] B [~D
Bhh3P EALIC~ELTHIEWS B 1
FRIELEVL] 1 AARMTENIZ &

Th. W{BBLEVSTH1I IR LEVERNET L (I
still don't think it would cost any more than 10,000 yen ). The
form LW B~EW->TH means ~DEbH3HF, EALIS
~& LT (Yes | know that, but even so--+ ). The expression
1AM L v means less than 10,000 yen. Thus the correct
answer is (2).

TTHEVEBENEVSTE 1 AFELENEBVET X (H
B, ZESUESUAR I AATE). TW{b~L1>TH]
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AARZENRE BECHR N3 —RYE - B3 - RE—

>

MEBE (~DiXbha M. FALIC~L LT (BRFHE~,
HEXRERE~). "1 AMIELEN. (FAE 1 ABT) HEE
£i51 FHTTLLF,

Mz, WKSBLEVSTEH 1 FARLAVEBLVET &
(otxigt, ol 2| HIME B 2 otEr HoR ). TV S~ e;
WRTELET-ORDABH, EABC~ELTE,( ~
£ X2 exjgh, of22| ~si= ) 2t <Jn] . M HFEHIL,’&L‘J
(B 22 ot 5t ) = Bt ol ofstels Eolct.

TR 6103 ¢ SR

Section 3 Text Grammar - [8l513 CERES:
22X 3 29 29

AN [BEEHNRLUAEBBEESATLE L.

HROBMLLEVWOT, BEEFEEDEELES
IC~] EVWOREDFENTH B, ZONRRICES
D34,

The answer that best fits the context is (4). This section of
the passage means B MR L BB ESA TL 20,
ERbLMhEVWOT, BEEs8DEE LB~ (Id
forgotten the time we were supposed to meet and couldn't
get in contact with my girlfriend, so | decided to go straight to
the restaurant and wait for her there. )

AXRR PLLHRLEBMEENT LR, S%ERA
TNDOT. HEFLBEDEELEHIC~ ) (ETRLHAAS
HIRd1E], WIEASURSEAZ M, SaEXTEREMEE).
LU Z A A 55 1 ik T,

BEE2 TRLEMRLABBMESAhTLEY, EELRAL
L\O‘)'E\ EESFSEDEELLBC ~, (2L 53 A

2 HoiH2|n =T oF Elo{M, EIY DJ'LUIE & Ao
~ )2} ol HIHEt. o] 2ol Y= 22

0 F—EEEICIH. BLXELARBICEYBEFEELT

BT, LAV, $3& EOA
» [SEEABALES D TEBO:] &0
ZEDBPNT VS, ZDZE@BN2 &) b,
BERETREIBADIEERVHLTWS.[2
IVAE] BHBZEND, BICHEBROHTRS
ICEIDT, 1 HIERE,

The correct answer is (1). In the first paragraph, the writer
goes to the restaurant where he has arranged to meet his
girifriend on Sunday, but she never comes. S HIBEERK &
S5 LD TR (He is surprised to hear one of the staff
saying that today is Monday ). In the second paragraph, his
sense of bewilderment prompts him to recall the events

of Saturday. The expression ¥ 3 u' # If is used when cne
thought or idea causes you to remember another.

8 -BBL T, BRRE rALMAY RENEE, B
B REUIEEMNR S HIZABEE L o0 TR
(WA FRERASRREM ) R MHXEN (BERF) T
AR, B BRREANERTHEZ. RN E 2
VAL, BAHERTEMLRARMBHRMEM, HrolaLiis
HF—R I EREE.

N EEfolE oo e ohd k&g sa stAlof 2|
Bt Jl4e X iotch, 2R 7kH Helo| TSR A AL
EE2LOTRVE (252 HRYUoRtT siA =3ict) o

@ [(F—E%) BEALERo1

o Qict. 2 9 ( EE* o) 2 FHm EeholiEs Egelo)
Y SZE WD k. TES VAL £ ofHE Y2 Soiyia
Azsf] @ ool M2 2 | 10| Mero|c},

5. £lZBER
ol (BZEBEN11TH) LBHE. BE4H
AT, RICTEONFBADERBI A1) &
WODHEDFREN, CZHEEZSNBDIE,
BREADESHIARICB-TET. £E/-0
BABBE7-&W52ETHB, D%V, 885

CHRSTHEBTWAEEWIZEERS, E
&34,

The correct answer is (4). In the first paragraph, the writer
believes it is Sunday when it is actually Monday. At the start of
the second paragraph, X H. $BEEHRAT. RIZE- 1D
HEAD 58 Z 5 72 o 7= ( the writer recalls going out drinking
on Saturday night and coming home at five o'clock in the
morning ). It is at this point that the writer realizes he slept
from five o'clock on Sunday morning straight through until
Monday, which is consistent with answer (4).

NH—E%) ARHREEE-G. EiHBHE -7 (B
EE0117R) +BA. BEEZKAT. FICR-ONS0 s
BCAKE 2Tz ((B—EB) IWHARIR B AR —.
(B _BE—17) BN, LB, ARGHECLEE S
BAT) IZRCERC. MOXTTLIGE, ERERME LS
SEARFRE, BRET, MEANZECE2E—T. it
MEE s SPGB ER, FrUAEBS S S IIET.

(E-—B%) BRAZES -5, BRABES s k. (=
BEO11TR ) 15ER. $FEBRAT. KRB LONFTHO
SIRCAEE 21, ([X UE) Yadoletn Mztsied, AMA
2 geololict. [FH m HEte] 3im £ ) EQU &2 o}
Az Elofl 7t 7;10l o}ﬁ 5 Al &o|ict) 1 olok7|5tm Qict.
047\ M Mzbet 4 W2, 429 ol 5 Al Zof| Eof| 7hA]
x}H lojt f:‘ ‘HR‘HOI&‘}E}E Ziolck. E=, ol&l 54
25 LU Xta leictE Zoj22 | FHEe 4.

CONEILHE., PBERALLZDRKER

WHLTEVWTWANETH S, LN -T, 3.
4RBELLBV, £ B—ERETHERIZARER
EOPHTEY, CCTHRDTRRZVE L
WDT, 2HBIEL BV LK ST, EEfEIE1,

The correct answer is (1). In this passage, the writer is
recalling a time when drinking foc much caused him to make
a mistake, so answers (3) and (4) would be incomrect. Looking
at answer (2), we already know from the first paragraph that
they had agreed to meet on Sunday, so there is no need to
repeat this information here. The only possible answer is (1).

RREXERAR, [EIZEEHERG M S M. AkE=
BB IGERAA £, 55, B—BRYELSIANAS
REBMK, EXBHBAVERREGE 8, HLlEkm
WA ER. A, FHEELAH L.

0| 32 #, =2 0§ mol AmE s|4stof £ Zolct,
metMd 3, 4= $xl gk, £ A BEofMd 42 de ozt
kW QUUT, of7[M CHA| IS Y ERE glesz 26 9
X gbch. metMd HE2 1.
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BEEO ITRIC [RARMAED -#HYE LA,

Tb, Biz--] £65, chid [EFREBT
ICE->THEHY VDS, BXiE---] EVWDIEK
DT, CORBIKELDIE2HELLV,

The correct answer is (2). In the third line of the second
paragraph, the writer explains BAIXIES---#MN XL L, T
%, @zid- - (| apologized to her--- over and over again. But
she- ). This implies that the EE R HLICE > THY LD
(Z.fEZid - - - (writer wants to meet his girffriend and apologize
to her in person, but she':- ), so given the context the only
answer that completes this thought is (2).

FORMEZEE REMES - #DFELE. T ik
W e (B - e B ) ). BAIXRAE THE
FRHIICL-> TR VOIS, i - ) (EEERLN
KREREER, BELHEA ) BER, UGEBRARNS
TR ERER.

S ot MR Sl TREAES- - BYERLE. TR @
Lo (LE % ol -+ 22 Yaud. sxigh, O
e -+ ) olgtm URCH. ol TEERHZCL> THY L
oL, HEE- - (EHiks 28 s Atmsta Aed, 3
L& --- ) olake elnjol=z | Fo oloixlE Ze 27t Hot.

===
%28 R
Reading Comprehension ./ [#i%E#, S8

PRIEA PITERER (JEIC) -wovveeereeeeeees

Section 4 Comprehension {short passages) /
W4 RAFES (ERXE) C2R4 U8olE (BE2)

A1 TEOZEIC [FFEI2R1 2 ML MICEE

EEEESZE]. 3TEOERFEIC [BEEDZ
N—ZEEBICR.ESHEVMERTR] 655,
2%V, BEERFII-DICRESEVWHE
BTT. T38RI ERDNIESLVDT, IE
B3,

The correct answer is (1). The end of the line 1 states
BEffaRS M, MICHEEFEED I & (The key to
maintaining order in a room is to allocate set places for
everything ), while the latter half of line 3 adds EER O 2
R—ZEEBICIE. BESEVWHER TS (In order to create
space for everything, it is important to get rid of things that
are no longer necessary ). Thus, to maintain order one must
discard things that are no longer necessary and create set
places for things that are needed.

EE—HEREA BRI VM. BiEEERES
T & (AEEEE, BEAREHEENME), BTG
LB (EREOAR-AREDCIE. EEEVHERTS.
CHT RIS EROLESE, SHEANRNETNN) Hb. Wt
B, AT B FEE A BB R T, SR i3 7T BRERF,
Bt EREERAF AT,

el & ohxldoll TR 3RS hE. MEERREESC
L (Helste ZoEE 2Ho xHME ftes W), Al
Z FU0] TERROAR—REERDLR, ESEVYERT
B, (XIgAo] BE oHEY| fisiME ER Sl 8UE o

gich) 3 uet ok, &, ¥ Felsty| fisiMde g2 ele
Evg ugln, H2lE TAE YH EI2E, HE2 1.

P SHRONONIE [20L512] E2hETIoHk

RIE=CERSEDHIEELDT.CZITEAT 0
AN TIE4EY. B, AOFRBELGIEET L
AT, (D&, EMEMIERS h -tk
ND—BE. TICRTHPHDIDE] £FEHT
W3, LEF->T. SHIELL,

The correct answer is (3). Note that the final sentence begins
with & @ & 9 {2, an expression used to sum up what has
gone before. The passage lists examples of the amazing
powers of plants, animals and human beings, then concludes
with 2O &2, EHMICITMYVERS h A kO—2%. i
BT HHFH 3D (Inthis way, living things have the capacity
to regenerate parts that have been lost ).

Brmfa ATk [CoX i) B0 ESUEMAA L
ghm iR, X RN MR, WX CEAR T, 3,
PAR AR AT B i FROEE BB T o k51, £Bicd
PhBLNIAO—E. TICRTHBHZDE) (HUEH,
A Sk BT A TR RIGE ) AnLA RS
P =R IERER.

orx|et 2% Halol Too&SC £ XSRS WS
Helste golez, of7|o 5. 2E2dME A48, 8
E, Mo (7IE o E o, TCokS5IC. £EWCETY
WMShin—8%, RLRTHHFS20OL, (012 &0l H
SofAlE o U7k Al YR E HEdZ FEels 8ol e
zdo|ch) 2t Halsta 2ict. makM 30| ¥t

@8 gD 1 FTEIC [£E3TCRENIF-TWVWEED

ZLELED] EBB, Zhid, EERICIHEH#D
WEWIThE, ROPICRENF WEANET S
EWDZELDT, 4D R,

The correct answer is (4). The second sentence states £2 T
HEHFTF2TVWBE - LEL & I . In other words, pretend

that you have family waiting at home, even though there is
actually nobody there.

EMFHAME A EDTREM>TLEESIIC - L
FL&x3di . EAXEENELR ERMEWEA, BiE
EREERPEFEA, FUSMHENREEHER.

ke & Eof| TRATRENFF 2> TVALSK -LEL&
5,4 2= lct. ol , ANIZE ot gixIgt F etof 74F0
e AxH gEdichs Rol22 | 47 HHoICH.

ZONEBRE EHREH P TIKL KL —

Yar] KHEL-BD, THHITHNREFIS
[FEIC, BERICEIHLOF—ELTOFIA
ERF S TVWELZELEVWERVWET] &HY.
INER, 13AH2Q7B 36670, H20O7T
DREFEFHS->TVEHEL, 2RIBEFETION [
T a4l ¢ [KLa-KL—-23>] T
v, 4i3Hha05 58026552 E0D
5V, 3Ty FEWVWIDEESTHLWVEWVR
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BABENERE B ME N3 —8% 83 - HEE—

Aoz,

The correct answer is (3). The letter is from ¥ & ¢ HX <3t
Yamato Co., Ltd. to JKL 3—HKL -2 3> JKL Corporation.
The end of the third line from the bottorn states $F&EIC. &
BFRICEA DL - LTOHBEERH A E T WAL R
W EBWET (We are interested in using it as the calendar
we distribute to clients in the New Year). Answer (1) is only
partly correct; Yamato has received the catalog from JKL
Corporation but not the samples. Answer (2) lists the subject
as JKL Corporation instead of Yamato. Answer (4) mentions
three sets of catalogs, but we do not know from the passage
how many catalogs were originally sent. In the passage, the
three sets refer to the number of samples requested.

BEHIHE (PEeRALH) &% a-El-v3v.
B EECE =ATHE LR SH R B ERICES AL V4 -
ELTONMERFSE TV IS L BunET) (EiEA
PFRATIHE — TR EIE AR F R ELAREMRHORE) —f,
FRUBZEMA ERER. MB &R, RESETHSEH,
BHB ARG H AR, FIUARER. M8 amhess
R 77, B TR, REMR (DT LR AR TKL
I—=Rb—a v, MHAMEES 7 EARRER, FUS
P oA BT, i 3 BRERE S kMR E RN L
B,

ol BME "P&EHRALH, 7 TUKLI—KL -3, of
El 23 Yol Mm| & Fbto FFFIC, SBBIEDHL
o=t LTORMAERHZETLWAEEEVEELE T,
(Aol &ollH WIS & E2o =z olg8Y 7218 HESIR
giict) et oL, 30| Heolct. 12 slet2 s wot
X|ghFIE R0 HER OF WOITH, 2= HESE e Tox
A e, olx|, TIKLO—KL—3 3>, ojofLict. 4=
IR 28 Wobu LAEXIE O 4 eict, 3 MERS He
Y uUlgeln sts HEolct,

PRIEES HIBIERE (B3 oovoeeeeeennenn.

Section 5 Comprehension (mid-size passages) ~
FIELS AAEME (PRI S2Hs gold (52 )

BI117H TAICESOhAY BB I LN TS,
Lot NAESTHEIEVWSREBICE S
EREDEEIE S,

Answer (3} is the only one which is consistent with the main
idea of the passage, which is found on line 1 ; AIZE®H S
EHHTBENENTIE, b PAE-THEIENS
S#F B4 B (Praise or expectation from others encourages
us to try harder ).

SR TACEDENI OB E N DT 5L, bobt
AESTHES LWSEIHFBICED | (YAERESRRINGE
HIEHE, SHIRENS R BENTY) ORI EEN S
=&,

Al ETACEOShEYBEEhALYTDE, E2EHA
o THESEVSER/RECHD, ( CHE Aloij#| =l&tojLt
7IiE god, of WAS| sl BAcs 71E0] Eoh) et g
oloj= 3.

[BHEICAB] & [KETELL., OB, [F
ABDE] X [HENL<EW] EBS> 1@
8%, TIHRBOWR [KAN 253 FEHE
FLITELN, BOHTEBDIRLLEN] £

BHTHY., ChICENRMIVDIE2,

The best answer is (2). The phrase S&#8(Z % 3 ( becomes a
burden ) is used when you think something is AZF T L\,
D51 (extremsly burdensome or difficult to bear ). £ A H®
72 ( not so sure about that ) is a phrase that can be used to
say somethingis % ¥ & £ &> ( not a good idea or should
be avoided ). The underlined section (2) means ZAH 2 5 <
BREEHMELIELY, BHTEBIOR L HW (Avoid
excessively high expectations or overly lavish praise, which
can place an unreasonable burden on the recipient ).

ABIKES. (BRT A1) MEER AT TELL.DOLLY
(FERFE,B). BALOE. (BENR) IEETAN &
EO L A0, (FEMRLF) MRHRSHER. FRILCHER
B AANOLBBEEMFELTED. EHTEZDIRL
SV (EARNESHE TGRS TR, §45), S
ZEBSAI RS .

ABLAD, (FHOIED) ETABETELY, 250, (8
B0 D50 D8ATCH), TEZEOL, (MU B Y)
2 MBEYE<BV, (B2 FX| ct) T 42He mof M=
golct. UE EE @ E "RAN DS ABELHBLTE
Y, BHTEROR LV, (EQo| 12 HEZ |
P 7IcHst AL XILbx|A FEtetE 2R Fxl ofch) = ojnjz |
olof 7t ZHe 2.

[ET<)F HR] CRBE-BE1TE [

U)?li?%éiiffft‘EU%‘héCt'"l'.CJ:'D
T. RBRCENPMU2RE] THd, 1~4
DhT, [TEIIET ] EELTVWADIE1 &
DT, ChHIERE,

E7 <% %% is described at the start of the second
paragraph : CDFR TEBRTLEEELShBZ & -+
LoT. ZRICENIHBU 3B (If you believe the child
can do the task- then his/her ability to perform the task will

improve ). Only answer (1) includes the key phrase T 3 i1
T 72 (1 know you can do it ), so it is correct.

TETVAHER. IENAEE _BE TR E COFIITE
BUETELELEhECE - IckoT. EEUZEEHBMHETE R
Bg, QXN ETFHRGEEET -, MLREAHIEeH
Bg). W smich, ERBE T TEIRTE. (FEMD B
REF—Em, R EREE.

TEJIUA R, B SHE D2 M S TcnFRdTes
BEFEEFUSHhBIE - IC&2T. BRI BUEE
Ri(ololol= & £ Q2 Heln AFME 7 ... o2 ol
o, AMZE S¥o| MEEl= HA ) olc. 1~ 4 BofM T
DRI E = US ot )eln Y Y 2 10|22,
OjZdo| "Het .

AXDBEIC [FENEVERRICE B AN W

%, %KH. BEETRIP I EAMNF 258 51
EHDB, DFN [BEETE,I I L] i [F
ENEVWERRICEBA] THBHL5. 4HE
Bo [RrT1—NWiiB% 5] EBFEN /K&
AASTWVWEREWVNSIT &,

The passage begins FEHF G W EFRRICHE S AN NS %0,
BRETRL U -4 d % 5 25 /= ( Some people aren't
completely comfortable unless they have a full schedule. | saw




a woman like that at a coffee shop just the other day ). The B2
EETR ALt isa FEFEVEFRRICES A, sothe
best answer is (4). 247 ¥ a2 — A% B means to have a
busy schedule.

AXMBIFLSH (TFEMVEALICEZ AN S. KR,
BFETRMI LN T 57 o0z, (HLHNE, %%
BFR%E. ALK, BEMMIERZIN M ERAT). a2
WEN TEFIETRE RN R TTENMEVEAKIC
BN, FrUSIEmE ERER. 1Ay Va - UhES
(HEEHT) RARS IS,

£ Mol TFRABVEFRCRDAN VD, KA. B
BETREAGLEEF TS 212, (oTo| glod Sotsix]|
= Al2tol Qlck. ok ®of, & ElollM & ofxizt 2CH) 2tn
L2t &, TERETRNM LN, £ TTFEA BV ERE
KAl 0122, 471 Y. TRATD1-LFEES, (L&
A Z ol tix|ct) 8 cllztol gol Eof Qlcte KOIctH.

BITHBONXIS [HLit. E-RICIEHS
NR—SERDHT. BRBRZICEBEAAL] T
H53, [(FET) EoBICIEHSINIEN=-T %
RUEBR] VWi, FENFIBE-TELL
EwHokiErs, ERRIT3,

The underlined section (1) states &Iz, HoRICEHSH
Er—CERDOHT. BMREETIICIEIZEA AL (She gazed
at the full page in her planner and beamed with satisfaction ).
[FET] H-BICB dhfan— T £ R THER means that

the woman was satisfied because her planner was full, so the
best answer is (3).

TRIEDWAFIE (L. H-oBIBHOhR-T%
RO®HT. SBEESIEEAAR ] (R F SRR
—W, HEXRBHEMHET). MEA (FET) AR
BoNAA-VERTEE; BN, FEHEHNENEREY
—B, REMRTRL, BrEAEME RS =ik,

UE BE O o BY2 MExE, HrRLEDShIAR—Y
EHOHT, BRTSCEEAAL, (2UE MHFAH HS
Zl Ho|x|§ E1, HFAME £ DIAXIdCH) ojct. (&
T)E-BLEHShER—TERTHEHR, 2t R2, o8
ol = xtM 7|wch= Ziojl=2 , "WH2 3.

B3 EmEsEn 1 7RIS, FAOFIRICOWVWT [FFE
FTOBEICKR (FEH) WALWAEHILATL
50, SAPSEEEHTAK] LdX5NT
WANDT, EMI3,

At the start of the fourth paragraph, the writer states FEH £ T
OBEICIR (FEVF) VAVAIBIPATVINF, SHP LR
i3 % 3 TE#E ( Up to yesterday | had plenty of appointments
in my planner, but from today onwards it's completely blank ).
Thus the best answer is (3).

FASNEBES - fTRaRs, FXENAEL HBXTOHE
T (FEN) WANAEHINTVDD. SEIMLERIEES
THE. (BEX LA T3 | TH | 5 EHN, BASX
FIEEHERMEBEAL), FLUETE RS =kIl.

Limg B2 & Zof, L} $Hol Cfsto "TEERTOBRECE
[FEFIVAVABHINTVDN, SANSEEEZTHE,
( ofmmx]| 2] B0l [olEdol] o 7Hx] HE YUR|EH, @E
SE g obx] Wxl) 2t Elof oo HEE2 3.

PRISEE PIBIBRR (BX) ooveeeeemeeees

Section 6 Comprehension (long passages)
e AFEM (KEXE) /Exd6 UEols (B=2)

B CHEMMBABACMHEZORNTETEIRHLTH

V. TESBOIR [FRER[LE,PEELWV] EHD. 2
nid. AEIEIPSVWEE (FET55H) %
B3O HLWEWIZEEDT, EREIE S,

The correct answer is (3). The company described in the
passage finds jobs for foreigners. The underlined section (1)
refers to the phrase R £ » 5 L v ( having a hard time
because of the recession ). This means that it is difficult to find
good jobs { at the applicant's preferred company ) due to the
current economic conditions.

I ARRNSEANBIMAT, FHEOEH [KEK
FBRELL | (RARRSAE). XEE0REARRA,
FICUHREIIFBI THE CRGRAIZA E)) B, FRUFBISR 2%
=L

o| M QjFlolH Yg AdlEtE SR LEFE O S
TFERENSELV, (2A72 EE0t) T Liek 9. 0
= 2Z7etd £2 o (algste sA) 2 #7171 ofdnte
Hol=g , HEHe 3.

BIFHRBOOBEIC. [(5%LHVWTTHR) B

AEREDBDIR] EHD, chlidbraAttSE
PREDBEVWHIZETHY . 1~4DPTINIC
RHEKRIEVDIEITH S,

The best answer is (3). The underlined section {2) is followed
by the phrase [5% CHVWTThR | BrALREDZDIX

(about 5% are successfully placed), meaning that only about
5% of the applicants are placed in their preferred position.

TRIZOMFREAN(S%SHWTThMR) beALREZDIE
([ HESZHAEE | HIERE 7)) 0. X BENLIIE
HREITHER, FFLAETP, S22 RBERRIEN RS —E.

UE HE @ FHl ([ 5%<5VWTEHh) ERALREDD
B, ([5%HEUNR ] Mch2 Halixle Ze) olztn L2
c}. ol MCH2 YU RO| HalZlcHs F22, 1~ 4 BoM
olofl 2+ ojoi7t 7t Zie 30lct.

BY MIEHIEHERIVWBEATVWEWIETH S, T

BRRBEOOXIE [BICHBEICTVEVWATTN
ARAEDTRERFIEYEVWEWVWSZET
T EHB, ] B [WAWAHBZPFTULSE
iFA] EVWOEKREDT, ERIEX2,

The correct answer is {2). The question asks what the
company president most wishes to say. The underlined
section (3) states BHICHBLEICEVWEVATYTY,. --+H
AAEDTRBRBIEYN EVWEWVWDI T ETT, In particular
what | would like to say to overseas students-- is that they
don't have enough experience interacting with Japanese
people. The meaning of 4%(C ( in particular ) is WAWA & B
1 Ty 5 1E A ( the most important out of a range of options ).

A A R AR AR AR, FRISOMEEN TRHCE A
KEWEVATTH, - HEALOZRERNEDZNEN
STETT. (BFREMEAEERNE, - MHAANLRE
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BAGERENER BEed®E N3 —BE - B9 - HEE—

RNAB). WA . (FHIR) KEER WALAHET
TWEEA ] (FREWE) MRS, FLUEREELS M.

EHE ME0| 7t Zatax s o, UE 2B @ 9
S TRIBREECSVAVATTYN, - -BEALOXF
BBARYBRVWEVWSZETT, (55| Rt MolAH Sstm 4
auctet, - YEolnte] DF Aol RFscheE R
2t Lot Rt TREL (B8 ) ETVWAVAEAhTLSE
A (o4 7HRI7E 2l 7H2delM 713 ) olgte olojol=z
MY 2.

BITH5 5TEHDE¥EL 5L, [TT- 1)
EE->TRILDEVELAEThISRHESY %
Th] EHZDT 1, 3BELLEW, 20 [
DEETEVRASKhEL] ZEICDVTIRE
KBRS NTWEVWDTELL BV, 41 TFTH
5 41TEDARIC [EEODRUAED., - FD1IE
DFEEIDBLHEDL, Z5VI2HFEVE--
H-oTLED]| £EHBDTC. 4N ER,

The corract answer is (4). The latter half of line 5 states &{EE
b, [TT-57] 2> TARLOEVELHEThIER
Y £+ A (Though polite language can be difficult, you
shouldn't have a problem as long as you use the “desu/masu®
form and try to be courteous ), so answers (1) and (3} are
clearly incorrect. The content of answer (2) BIOSE TS
# X 5 N &\ (unable to be paraphrased ) is not explicitly
mentioned in the passage, so this is also incorrect. The fourth
line from the bottom states FERADREUH EH, - FDHED
FEHAOELAFEYL., Z5VINFEVE---BoTLES
( The inability to choose appropriate topics for conversation---
and assess the mood and situation-+ can lead to problems ),
which is consistent with answer (4).

FABESATNEEETAE MGEL. (T - £9.2 &
THRIDEVFELIZTNEIMEShEEA ) (EHGED,
RAEMER TTd - 92, RNREINERNE, sti@m,
Fr LA — IS BUAI 88 =% A IE 8, Mt —ikm rRlows
ETEWVRASNE (BRMSIRGRS ) Bk, i
TERAMSUE, LML A ER. FERESSNiiMETEs
EEEOECH L - TOHOFEAOBRCTEM 75
VARG - Ao TLES ) GEBEMAES, - B
YIHSFRIT R, BAXKENNIE - £RERER),
LUSPRI R PR .

LollA CHAm = Fgtol THEE, FTd- £9, 2H27T%
ADBVELFEThEEESY REA,(ZUETTT- *
¥ B MM delisix] gfA 2stH 28 et ) 2tz L)
ooz 1, 32 UK. 29 TRIOEH S \MRAI S
BV (O U2 B 2etR] Retct) £ 2o disideE 5§
3| 20| glem2 Ux|grt. 4= YoM U & 22=
o "EEOBUSLY, - TOBOERESOBUSLEA., *
SWHIAFBWE --BoTLES, (&A Meio|atEs}, «--
3 x2iel 278 =7 gHolglezt, o s3o) gie
™ .- ZEEXICH) 2tD Lt ooz 471 Xeto|d) .

’ Fﬂﬂg 7 ﬁgﬁ*ﬁﬁ ...........................

Section 7 Information Retrieval /A58 7 ks E,
22X 7 BEHY

32BD [@] OBAHH—FDEYHHFED
NTW3, [H—EXHYI>LE—T--- HBLIA

HEl [BULIAZBRIC. a1 - EREL %
RRATBLEUTHRLAATEET), [BALIA
AR Y —EZAY 2= ICBVTHY T
EHBDT. INIERR,

The correct answer is (3). The third ( @ ) explains how to
makeacad: Y —EX A2 ~TC---SPLAZE; 8L
AAEBIC, B - ERELEERBATALAYTEHLIAA
TZ XY ( Simply fill in your name and contact details on the
application form ) ; HLAKBER Y —-EXHY 52— |CE
WT &Y %7 ( Application forms are available at the service
counter ).

EFE=mN e, 8950, SHENFIERE. BhEg Y-
VRAAD#—T - BHLAZE . TELABRASIC. 851
B ERRATERITBHLAATEE Y (EHigE
t, B EHFERBE XA LAEE). B UIAL S —
EAAT2—cB0THhEd. (ifRlERSERL), FF
LASE =8 ERER.

M Fe,; $250f 7lc Btes Yol M5 ot TH—E2H
VB —T- - HHUAKE) "HUAKBELC. F§7- g
RBEETATAHLEGTHERLIAXTER YT (A 2xlof
0|5 - 3% B8 st ZWote 2 ARE $ lauct),
THLAHAEEY —EANI 29— CBOTHY £, (A
H EXxl= MHIA st2E o] g0d l&UcH) 2to Lig} 2loo
2,30/ 3.

[BEBVHEC> N #2635H8+ 105 T 25

RAP[R—F ARSI 2] D20 K12 b,
[FV=2RAU R F2RAL 24 DT. &
GH47T RA L MTHB, LN T, ERRR4,

The correct answer is (4). BB VK 1 > k ( shopping points )
= ¥2,635 + 105 = 25 points; £ —F XK1 > k 2( bonus
paints 2 ) = 20 points; ¥ 1) — >3 1 > k ( green points ) = 2
points, making a total of 47 points.

TBHEWERA b (8RS 2635 HIE +105 43 25 453,
il MAR—F AR b2 GERIBRS) K 2084, BIMER F
V=R A 7 b GGMER) XATEMs MBS, FFLSiFa
47 TR B, FHEREFNER.

THEVHRS (LT Z0E ) 7} 263520 + 105 2 25
EQIE, TR—F ARSI b2, (EHA XQE2) 7l 202
QE , TJU—RA b (28 ZRIE ) 7 220E 25
Floz  BAH 47 ZRlEO|CH. MatM HEE 4.
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Listening ./ U k.~ & &

VT T )
PREIRE 1 REEE oo 'lgz,}“‘{-\gn )

Section 1 Task-based Comprehension
Bl | )RR EA 1 BHAols

M 8BOAY [2h (=DVD) £2FB /5.
FAIELTANET P ESBEVLTWVWEDT,
IERRIR 3

The man asks the woman to do him a favor, saying Th [ =
DVD ] 2BRALL, FHZALCEL T N ETH ( Could
you send this [ DVD ] over to Nakamura when you've finished
watching everything? ), thus the correct answer is (3).

FABARRMER (Th (=DVD) 2HALL. PHEA
LT NETH IR (DVD) BT , TEARRS P,
FTEAESRE R A 3.

X7 TEn (= DVD) £HRLES. PRHEALELT<H
ETH ([ = 0VD) Ct 2 sffMolAH U] F iz 7)
o1 FEstn Qenz HEE 3.

2) BBA. HBICTFLEHXASHAS (=7LED
WEr53) 0T, RBREBLCE ST, %4
B BLERBEE LETHD. RS-
TETREN] EESTVBDT. ERE 1,

The test was cancelled because TV cameras are going to be
set up in the classroom { to shoot a TV program ) tomorrow.
The teacher tells the students, & L7 ZEEELETH 5.
HEEBEBEE > TETL £ & (We are going to have class
tomorrow, so make sure to bring your texibooks ), thus the
correct answer is (1).

AAAXHE BEEGQIEE - BRFE), FIULESHT.
MTEME (HLIERBEEELETIL. BREZRH-TE
TLEEW, (HAXERR B E ), FLUERERE 1.

WY, DA TV stHak7 §0i27] ( = TV #Yol 27| ) o
Sof AlHE 2|47} SIQiCh. MM THLARBRELET
HS. BABER > TETILEEL ) (LY 2248 stUM
IoME 7IX|D 2HIR ) 2t Yatn e 2 HES2 1.
HET [ADOARZOHERDIMELETA
EhWEBAD] EE-TVWADT., IBEICT.
DUTHET Y. BOAY, [BEICTCEFELT
(AW EE-TWAZENDIEREIR 3, 4
2%k
EFICEBNBLSIC] VWO DI, BREANE
Hi
ABDAB. [Zhprb~] EE-TVWEADT, #
L
HEHEZTETCH->-TWLDIE, BEFELELEHE,

The question asks, ZODARZOH ERMME LT ThiL
4 £H AD (What is the first thing the woman must do? ),
so the key here is to pay attention to the order. The man says,

BEICT CBEEL T < £ & vV ( Call the department head right
away ), so we know the correct answer is (3). R ICEMR <
h 3 &5 ( Tell him to call the president's office ) is the
message the man asks her to convey. After he finishes telling
her what to convey, the man says % h #* & ~ ( next ; after
that ), indicating that she is to bring the business cards to the
president's office after she calls the department head.

BRI E (D AT 0 LB iE Liittudix
DERAD (EATEEZSE , BRUMEH R4 ), FTbIE
TR MBAGH BEICTCERELTLIEZ WV (a2
HATRCITHIE ) XAED TLAAEERERE . MHREE
CHEG AL (BRELERMEHE—T ) BHTER
BiE. FEAET T2hh b~ (8BF) BilsHeh X540
R BB,

ARHMTZo ARG Cns BNl MELETAE R EE
AD s (HAE ol Ci 3ol RUE MY HA dof LM ?)
2o 2D Qleoz =M FaolsiM E&. X7 THE
CF<CBELTLLLEEV, ( BEYAH v2 HMeEts] FAHR)
2l &1 Qe oz Hof HEE 3. "#RELHEE<ND
&S50 (AR Ao HEEIE S ) ol2l2 st Qi WE RE
oAl MEsteE WS . TThhs~, (222 LM~ ) et 8
I ez dite AEANK 7IX|D 7t A2 HEE 8
ctsolct,

[4) F4£31000A%x 20 A=2FM. KA1 AD(=

1500 ) &Y%\,

Ai5# (entrance fee), Bl (group)

The student entrance fee is 1,000 yen, and there are 20
students, so the total cost is 20, 000 yen. There is not enough
money for one adult { the entrance fee for which is 1,500 yen ).

TSR (T15), THEMK) (BifR)
FZHMITER 1000 B %20 A =2 FAE. #Z K 15RBEA
= (=1500 HE ).

FASHE, (YER), "H&L (BA)

M2 1000 Q1x 20 H=2 021, 08 & HE ( = 1500 2 )
ol 2X}2hC}.

B TO A, ERENIC/INy TEBWIITFE L0 E

BoTw3, BEOALBREICE Do E&, (B
WVBIC) DEHHILIEFE>TWAD T IEREIL 1,

BREJL ( station building ), 2 & & 7 (to accompany ; go with )
The woman wants to head inside the station building and go
buy a cute bag she saw. In the end the man says (b - 7= &«
[BuvihiZ] 2& &5 &), indicating that the correct answer is
(1).

TBREIV . (BHREE). TOESHS ] (BE)
L ANEREFRHIELE. aTBARFR TDhoicd. (H
WD) DEHS &, FILERE 1.

TREIL (A LLY), THESHS, (BHsicH)

ofxts o ol 7HEE A2 7t HoiEtch. ERT OFX|Z
o fbhr2icdk. (AWK ) DEHS&, 2t 5t Qe
Dz EEES1

(6] ZhZhORRXICAT SFBAE L <HI o

LML [-RURBYEEA] 25, BY
Bhhh oD 3, 1A MBERIH—
MZIFBYDTSA bV, O—XHZRiT [F
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BABENEHR M HE N3 —m% - 83 - EE—

ENFRICESD] OFRIELEY, BICEVDT
FEHZEILLE,

EE &3 (togetaseat[onafight]), 751 k (fight)
Listen carefully to the description given for each answer
selection. When asked about the Sakura Airlines flight, the
travel agent says B LER& W E¥ A (I'm sorry---. ), so it is
clear he wasn't able to secure a seat. He also tells the woman
that there are no return flights on Monday for either Lion or
Tiger Airlines. The woman is a little worried because the Rose
Airlines flight 238 2" {& (Z & % ( arives in the afternoon ),
but since there are no other available flights she decides to
purchase the ticket.

(M2ED] (ITEN), T754 k. ()
RUHRTRTEMEAMGRA. WBEMZE - FLRBHD
A (RBHEE-) b ATLARE R EIT 2 6. SEBAL
SHFEHMERAPENMIE. HERATBAL 2ENTE
I3 (B 2], BRARMARIBAAMYET | FreAstiedF
7 FeHR = F L.

ME&E, (A28 Fch), 7774 b, (H1")

ZiZkol MEx|o pet MES M EXF. AIF2IEI2 T BL
RHVELA, (CIES] ESEhCH) 2 Hol xl2l7t gis 2
& & + it 2lo|2 31 Elo|HEE 2 EolE Y|
7t gict. RXYZ2 THEFFRICED, (A0 2%} &
Ch) 7t Exl0lLt 2 Htofl g37| mgol & 7|2 #ct .

: /€D _/CD
PRIE2 KA NBRR oo (g9~ 78 )
Section 2 Point Comprehension .~
i 2 ELHE 2N 2 ZoIEO|5]

01 AP E-T30EREL] »5. RIEIR BRI
ICHDZEN DD B, [EZADPBLHDIE D
WTBWARTPEVWR] EE-TWVBZE
»5, ERRIE 2,

¥ a3y BT+ % —(shopping center ), + > X ( sense,
taste )

The womnan says, A#"8 - T3 D RBR & (1 meant the clothes ),
indicating that there was a problem with the AR ( clothes ) at
the new shopping center. She elaborates by saying & > X »*
BLWLOE PN T-BOARTLLE VR (- most of the
clothes weren't fashionable at all-+ it's not the kind of place
young people would do their shopping ), so it is clear that the
correct answer is (2).

[raw@ritra—) (W), TR, (&)

M TRAE->T20EME ) (RIBARKRIR ) gD | a5d
FEARMAE T (4 ) L. A TEXZABEVEOIE-Hb
T HWARThIVR] (SRBEREE - FRALS
W ) IXAES A LAEEER 2

T2ayEvder 28—, (AL HE), T2, (da)
TRHAE->THOREEL, (L7 25tn &= Ze Rolob) 2
Hot EXe "Ry (2)YUS & £ 0. TEAFEVLED
H2ANT BVARTHZ VA, (HAT7} L Zigte]
He Nge o 7ixl) 2 Hol Hete 2,

R TERICEVWTHB] L3, BEoTwnaZ e
priles

FEICERTVBCEEES, DAL BO
ADELESIZLTVBDT. REFRE -7

E:‘ﬁ}‘zp‘j t:o

FABE (to getajob ), B (report), Bifl (simple)

The phrase EAIC® T % % means that what you are thinking
is reflected in the expression on your face. The happy look on
the man's face lets the woman know that he got the job.

HRER: (I{E), . (GER), BB (%4
HICHWTHS; HRBANTREEMNENTERETR .
TAMB NG RETRET T, AEEERR T T -

TR (FH), THWE.(BED), "B, (BE)
THICEWTS2, B 4Zsta s 2ol BHe Ueis A
= Wttt odxts ERbt 71 £8 A2 2 st3 QloiM 2=
Ol Yali &l g oretct.

B MErEEFEbathiEas b s ELE]

EEH2TWAZENS, IEEIE 1,

RES (tovisit ; to go see)

The student tells his teacher, EFEX* FEbEIhEES L
<% 4 & L % (I have to go back and help out at my family's
restaurant ), thus the correct answer is (1).

TREED L (B

M TEDSEEFEDRINEL SR AN Ui, (BRAEF
BIEERIC ) X wiE T, LRI SRR 1.

TRES,(g2e 7t
FRAEEFEDRTNERSESEYEL L, (X7} 2HHIB
EX| gfo etElA| Ell&Lch) 2te Y2 Eof Hete 1.

@ [fIHc—BRBZZLED] EE5TVBDT.

ZOFHF—BRBNTWVWAZEISEELTHS 5,
ZOFEB RED [HALICHEIFE 5 -DIC]
BREXD LI EI—BR W [E7X] (ZH8
LTI, [, ZhBHVVALEITE] E—FBEW
TWBDhUITIREW,

E7 X ( piercing [s] )

" The question asks, fAllC—&EW = $ L /= ( What was most

surprising? }, so make sure to pay attention to what shocked
the girl most. She is surprised to hear that her friend dropped
out of school, because & A B IZMMBIFE £ 5 DI (he
really loved studying and learning ). As for the 7 X , she
remarks ¥, Z h HL\WA T 1F E (that's not really a big deal ),
so we know that she is not all that surprised by the piercings.

TeF R (B4T)

oA m AR e — B\ E & Uieh ) ( BT RAH45),
FrUEGER HR TR ERE. tBXRNBA TdAkic
ehiFE ot mlz, (LT ERES), RS bilsn
HWEEEMTIF. XT TE7 AL BT (F, ThABLLAR
FE (B IMBERRR ), B EARE NS,

TE7A (Z2 M8 #ael, ME7)
TAC—EREXLL N (FU 71E s=taUnt2) 2ln
St Qoo ofxtzt 71E wd&t 2ol FolsiM Ex}. odxlE
R THABRCHBRELE > O, (2TH 285718
=otgied ) nsstnE ¢t £ Zoll 71 =324cH, TEFP A,
of #ElMETE, ThELLWALRE, (B 21%s giged)
ch3 stod 71 &2l UXIE gt

Bl BOANFREDTTWBZ LI, [FAEF £ 74

SADKEICLET] [[Fruv-FunHsdL>S




WCLET] GELSHD D,

23 (nutrition ), 7T %& #* < (to sweat)

The man says AT E ALK EAPCEICLET (1tryto
sweatalot)and FHFV S IFVHB L IICLET (| make
sure o produce a lot of sweat ), indicating the things he tries
1o do to get over a cold.

He®. (), TaRHLO (RIT)

BAGEHBE AT RIESEADSEIICLET ] (kS
REZFHTF )N FROEOIE XS LET . (LT
¥ ) EiEiEH AT LARTE.

TR, (UY), (FEAL, (HE &)

SR Folstn e Re TRRTFELSEANSLSLL
¥, (M= @2 gol 23D o), TFAV S FVE
B&5LCLET,(To| po| Ltxs Hurch) S22 & #
Qict.

6 20 &5 L BEORATE. S TOBMBOM
%ﬁ#ﬁbmﬁ%@&uﬁ\wmﬁﬁ&ézt
BB, FLOH—FoR [ETHELTET
WADT -EEREL G EEA] [ZhEDIZ,
(ROAHL L) BEOPRIFRALWV--] &nd
e, R 4

This listening task features a woman introducing a new
product. These kinds of product introductions often discuss
the problems with the past product, and then highlight the
superior points of the new one. The woman says that the new
curtains ETHEL{ TETVWADT - BEUR LY XL
A { are exiremely thin--- so the room doesn't get dark when
the curtains are down ). She also mentions that £ h & MDIC,
[ROHD S | MEOFIER A &L+ even though they let a
lot of light into the room, they don't allow people to see inside
[ when looking into the room from outside the house -+ }.
Thus the correct answer is (4).

B A EEANER , —ARARRES N ENERNEER B
AEETRORANIIERZ. NERET ETHLHETE
TWAOT BRI B EEA . (RIHHRE, BEFF
SR, FHEDIL, (ROMMr5) BROFERAEN .
({8 [ WSNET | BAZIE FE), B ABRD . aTLREERE 4

0| Z2 AE A7oiME Ea 4B EMH-MER tE2
z2 d, o M2 FleElE ZeVt 8ok, MER2 FE2
reTEB<TETVR0C . BEGR<ANELEAI (ISP
gFAH BFEO0{X{ QoiA . We o{FXIX| gaUTH) TThiE
Ok (Ro4AHS ) BEOREREAELV. o (ITEE [H
gloflA{] % ot ot Bolrt) eln &t Y=z HEES 4.

DRAEE S IR e o

Section 3 Summary Comprehension -
[AIfd 3 AREME. 2R 3 ols

[$BTH BAREAL) Lo L&IC (BREI)

EERS-FEUTTHRE] EE-TWVRZEDS.
&F
[BEICFEOICFKE] ZEFaPr3,

R4 ( classmate ), 2 (to stop by ; to drop by )
The man tells the woman, 38 TH [HARKZ ALV L £IC
[BRES) EB-EER T, S (1 was just wondering if he

[ Suzuki ] wanted to go out for a bit [ and have lunch together ] ),
indicating that he BEICFBWLICFE /- ( came to invite his friend
out to eat ).

ESRE. (A—FFERER), (751 (£ ~)

M TBETE BAREAL) Lol (AREKD) LR
P TThE (RARBPRAR K] R (¥)) XS,
AR RFISFENCHK] (R ).

rEiRE, (S24). "§3.(820)

THEBTE (BRETAL)VW2LEIC (BRNED ) EB2 LK
HTTH S, (HMolEtE [#AMet) Zol [Haein ] &zt
e olole ) B Bof TRBICHEVICKL, (ZOl AAtst
gty E WS ¢ + k.

LZDOAE [BEBL»HEVD. TSI NICEDOD

2] EE-oTwBZENS, [BERFED] &I
BoTuhw, UL [BEESTHBVWALS
=5 (=B|ENHE-75) AEEkiEH 31 bh]
EESTWVWBIENDS, IEARIL 4,

#REB kb —F A > b (championship tournament ), ] E &
( chance; probability )

The woman says, BB LU » WO, 73 JNICHED2OR
{ You don't really think they'll beat Brazil? ), revealing that she
doesn't think BZ&A 2 ( Japan will win ). However, after
hearing from the man that all Japan needs to do is draw, she
then remarks, BEA B { THVWWAE 25 [=B|2F U E»
=5 |, PIEEMENL & 5 » 1 (Well if they don't have to win [ if
a draw is all they need ), then they have a chance ). Referring
to these two statements, it is clear the cormrect answer is (4).

TRl —F AN (PBE), TATREME) (ATREME)

M A " \EB L kD, 75 VMO0 (RERA
ATHENE ) X ANET , TR AN TRAAM D) (HAS
B BN B E THV WAL 1B (=51 F /T EoTeh),
WS EH b (IRFRERNE (= FRIIE), &80
fE) XAES , ATLAAEERA 4.

FREsh—F X b, (WS EUHE), TEEHEL ( 7H5E)
ofxts TREL Y ALO, TSVILCHEY>OR, (el ol
of , HatAstE| o]7|E N2 ) dte Y2 2ol TAXNFBED.
( Yol ol Zoict) etnE MZx| ef=Ch. sXIEH TE
CTEVWVAKI LS (=BlIESHE2 LS ), THRERSD
e, (O olHE BCOHH ( =H|IZICHH ), 75 H2 UE *
T 22)cte U2 Hol T2 4.

@B [E3HIcP LBRATHT, BATHLLWLE

BokbDER>TCEEV] [BRDANS
HEWTHIBDEBIAEICLTLEZW] &
E.[B2] EEDT RKNA ZAEBRNTW D,

The teacher is offering the international students advice for
when they B 9 tea, saying B3 BilC P LERATAT, B
THEVWLWVWEB BN ER - T < £ &L before buying
tea, drink a little bit first, and buy what you think tastes good,
and BEOANBHFBVTHD2BOERRELIICLTLS

L\ ( make sure to buy tea that has the instructions for how to
prepare it written on the package ).

N EHIENCP LA THT, BATELLVEE b D%
HoTL BV, (EZWAR— &, LACKGHEN), (B
EDANTHBOTHELOEBRIICLTIEZN (B
BUETIHELGZE ) GiEED Al LR AERRT (15 X
AR L
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EWVWT AT

o BROBEAE S

RERE TORIEBRELALTAHELL I,
Scoring table Write your score in the table below /4% WETREBICAGS AMEHE ofgiel o SHE 7|8 ZAlCH,

Practice Test Scoring Table and Analysis .~/
BT 0 R 2ol Ay AEEY B

s =

e n %Tgw._na;;;@ %10 ﬁ%z@
. BE1 | 15x8H 8 =
M#E2 | 12x6 6 =
_- ME3 |1&Ax11M| 1A
ME4 | 15EX5H 5=
& 5 12X 5MH 5=
M1 [15x13R 13 &
: ME2 | 15x5M 552
BES3 | 15%X5M 58

At 58 e =

% 60 RICT BH=HDETRIN (E5EH. Language Knowledge /5 B4R,/ 210{ X|4l)

Formula to calculate your score on the 60 point scale /1§4+ 4 60 4303t 5L2k / 60 B2 Y&t AHjptAl

@ @A
% 10 SEME O 855 - 30D R+ 5868 X 60 = =1
[a] [Al
E 200 SEME T - B5% - 0H) =+ 58 X 60= =
o i ERL-EEOS = X

£1@ 20 £1m@ 2@
M4 | 3&x40 12 &
[GIRE 5 4 5% 60 24 =
[E1#E 6 45% 48 16 =
ME7 | 45%x20 8 &
a5t 60 &




BARZEEDSAR BEENE N3 —BE - B - NEE—

4

FTESBHICOLBRATEHT, BETEVWLWEEBLE0%E
HoT<EEV, (A7] o =3 ot 21 E0l0] gre)ctn
HZEt WE AMR), "BEOANLEFBLTHILOER
FESLLTSLEET V(A Bols WHo| Mofx] Qi= e
TEZF M) SES, me TAHS s5ta k.

. cO _¢cD.
PISE 4 REERBL oo 20~ 31

Section 4 Utterance Expressions .~
(A1 4 #XF BH 4 25 B8

292 —BET [ZZTCH->Z5TT] LIk [2

helE, T<EIIBNERA (22T IEE >
TLEEW) ] EVWHEBE,

f#5 L T < £ &\ ( Please drop me off here )

When riding in a taxi or other vehicle, the expression & & ¢
W - Z 5 T¥ (Right here is fine } in answer (2) literally means
FhElE, TCRERHBYEVA[ZZT, kE-TL LA
W] (There is no need to go any further [ so please stop here 1)
Considering that the taxi is stuck in traffic, answer (2) would
be the most appropriate response.

MFEALTLIEE N (SEXE)

FHMEFIME, B (T ->T3 T, (ERRFTHE
FEBE TThiAL, fi<ABERBDETA (ZTT LEoT
SIEEWV)) (RRMEMET | MFEXE ).

FEDLTSEZL (U2 FAL)

A SHMTZCTH2T3TTI(047IM Hoi@ )& Teh
RE, F<BBRHYERA (TTT, kF>2TILEETW),
(2 old & ES glole [oi7IM A FH2]) 8 onjgtct.

HEXPRORELS, [2Fd50WHDTT

5] CHBELTES DN EY, [2%5 45050
THH] B BEOAL Sy b+ES
ETEx BELTSS5EE,

Referring to the nature of the question and the situation
depicted in the picture, the most appropriate thing to say
would be the humble expression 2E S HEWHOTTH .
People say DF 5 %\ & D T T4 when presenting their
superior with a gift or souvenir,

MRREANE PR R , MBS Do aVEOTE
M OAEH. TOELEVEDTEN ) RATH ESEMILY
SR T AR

EE0IL OB Hor THxsRVEDNTTH, 2t
&3 U5t UE ol HE MHEshVEnTTH, & 2
ME SO HE S HUIE mio) e B3

Bl ZOAE [WWEEEAHATHOWEW] (=

[WOEEFEZHY Z0]) OT. FE8&IE 1,

& 2 ( where; somewhere )

The woman thinks, WWEEEZEAHZ TH 5 L0 /0 (| want
my friend to tell me the name of good dentist ), essentially
meaning that she WLWWEEE & HIV 7=u (wants to know the
name of a good dentist }, Thus the correct answer is (1).

rech) (BE)

FAZ AR (WNEEERHITELULVEW ( #8437 8
FEGR) (= WWHEEEDD L) (- BERIFHTE |,

BEAERAE 1.

TECh(oE7L)

oAt TWLWEHEEEHATES WAL, ( BES =D oA
8 2ol FH FAC) (= TWWEEEEDY AL, ) ( BA
2 x|t olAHE 2 Mot ol22 HEe 1,

BDEHDOANICRLSHOADZ L EFTEE

i BADLETE [—BE] ®. 1550w 3]
B EDUBE B,

BEIT LT3 (He/ she is not at his/her desk at this time )
While speaking with someone from another company, there is
no need to use expressions or words of respect, like L' 5 -
L # %, when referring to people in your own company. This
includes the titles of superiors, such as your —52£ ( section
head ---).

IBAEFTLTND, (L)
MEMARMARECARTMAMNEE, BHASCHLS ., t
AMER T-FE) ), WEoL»3, Si0E.

TEEETLTVS, (K2l gict)

CHE 3|AF ALZHOI A X7 2|AF AL2tol| CHEY olokz|E mi= At
tlol HAEtE T -BEL (- oY) olu TWsoLeB, o
U2 Zole &x| tect,

/CD_/CD"
PREES BIRFSE oo 25,734,

Section 5 Quick Response ./
Ffd s BN BRI 5 FAlSH

BEELEVEIICLTLEEY (=~&S1C

BALTLEZW)] EFBENTVWBDT, %
IS L TEATVWS 3HIER,

The man reprimands the woman, teling her ;%1% L Zruv &
PILTLEZV[=~EIIIRBAL T E 0] (Make
sure that you are not late again [ make an effort to always bs
on time | ). The most appropriate way for her to respond is
answer (3).

FA#IREE BAELRNESICLTLEEY (=~ X3k
BALTLIEZY) . (EEFERE (= HHAE ), Frilst
HegEEs 3 EERER.

MERAELEVESCLTSEZ W (=~&k3LBHLTLE
TV (KIS SR AEE 8l FHR[ = ~ATH w245
FH2])eln Fo|g Fn ooz 7o ofs| cis T
&= 3 0] ®HE .

ZOAZBOAIL, ZILINT M EDH =D

EIPEVTVAINT, [FA. VLD (=1
TIWINA M) RO & EBFZATWS 2 HIERR,

A (something ), ~#R2»% (- isfound), ~% B3
% (to find ---)

The woman is asking the man whether he found a part time
job. The best response to this question is answer (2), 9 A. W\
LD [=WWTFIINT b RO & ( Yeah, | found a goad
one [ nice part time job ] ).

L (Ha) ~DEDHB | (FF ), ~EBEDTS (F
1% )
TR BARERET M, FFUEEE SA, L0 (=
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WWTILRAR) RO (B
2 mﬁﬁﬁﬁ

FAAL (D), T~ HROHB( ~7h S}, ~2 T
#XICH), T~ 2 BoH3, ( ~B $Hsc, ~8 P
0o{xH= WXIOA| ok2HtolE X2|7t PHFEX| ofHX|E 2
TRYSBE 54, WLD (=WLTPIL/A K ) BoHEE,
(2,5 7 [ =HaL ol26to|E | 70| ) 2He CHEre] 2
7t e

B (= FER )BT )@

@ FJL.\*L_B’P‘DTL.J ‘1 rlb\ﬂ_( Lli':)fn:_l U)%%‘”:o
[(B3E%) PUHTHNLIE?] 3. HBFICEBEZ

PITHBDZEXBH TS,

®h B o7 is the sound change of ERTLE o7 . The
woman recommends that the man try calling the teacher,
saying [B& % | I THNIE? (Why don't you try [ calling ]
him? ).

TEhbyol, B IEhTlLE- BEE. (BEE) »
WTahide o (3 8o %E%b‘uimﬂ i .
Tmhsy a8 MsnTLE2L2 SO HEEH A . (8

BE)AFTCHRNE L ([TEE] @01 2xae?) s ¢
cherof Al HgtE Holg g Hetm

AARICETEDL bW ERVWTULED

T. 3VIER,

~%E5 (--- year student )

The woman is asking the man how long it has been since he
came to Japan, so the most appropriate response is answer
).

T~ (- 4R

WARMARARAARSAT , frbl 3 REHRER.

M~ (-2 ). e 2kM ol HE KIGEXIE B
47| W20oi 3 0] HE .

B BOAR. ZOHE (=ZOADLE) F5H
RICTE BN E S PEVNTLS, TRICHLT,
[TE3£ (SAHC) PoTaET] L&
TV3 3 FER,

The man is asking the woman if that job { the work she is
doing ) can be finished today. The only answer that works
here is (3}, in which the woman says TZ 3 [SHEPIC]
P> THET ('l do my best to get it done { today ] ).

A RIAT RIS T (= W A TR ) £S5 RNEEG T , Frlh
MHMHEER T TEBET (SHFRIE) ®oTHET (R
BE (£S5 AW ) s ) B 3 BERESR.

a2 Y[ =0ixie] @] o] REEoR JHsEK| o{HX|E
21 9ct, Jo| | FeEALEH [SHPIC P2 THET,
(7tsdt 3t [ 2e5c2 ) 8 Eauch) 2l ciEfstn UE
30| ®HE.

BlZAL (=ZD53FT-1ELY., 2-oBDEDIE
3B HoERY) EHT 5,
[T B (tofeel; to think )

The man uses the above expression in the following manner
: | think so { it seems that this restaurant is cheaper than the

one we went to yesterday ).

MEAd 5. (&%)
AR (= X RIS EZREE MR ) .

FSNFT2,(=Hol &0h)
a3 ( =ofxl 2 7tAH 2ot 0IF 77 o W) =Fo] STt

BOA (SEOAN) BE2UHFEVDT, o

EZEHIPVD (=CEHLVESR) ;b“’t;:l.\(?)ab‘
ZOACEVWTWS, ZhICHLT.[EZH (=
BBEVES) LPEWVWATTITE] L’%Zf(
W3 2 A IERE,

ZEHVEL (smaller bills)

The man [ working at the store | is asking the woman if she
has smaller denominations of bills [ smaller amount ] because
his register is short of change at the moment. Of the three
selections provided, the most appropriate answer is (2), in
which the woman says S h (=EH&VWEE) LLEVA
T ¥\t & (Sorry, but this [ large bill ] is all | have right now ).

rcEdig ($8)

BA=EEHON) BARAEHER, L AARAFH.

XTIH:L!ﬂLH ST (=BBEVBE) LMEVLATITY]
REEA [ BAE ) 12 BIERER.

TCEAVBEL(TE)

SR =7HH AR ) E EEo| gt dE2 W ( =FE)
o] gle=x| ofxtoliH 21 lct, ol CHs T4 Zh ( =HHE
WER ) LABVWATTHE, (KIZ o[H [ =2 %ol &
sdie) 2tn digsln e 2 7F "e.

BOAE, BOACA—IEESEDE S DE

WTWBDT, [E-THEFLE] EFBATW
3 2 B IERR,

The man is checking to see if the woman sent all the mail that
he requested. The best response in this situation is answer (2),
which contains the expression k> THETE L.

HAS AR ARE L TR, FFLAESE E->TEE LR
2 RETEE.

g it oixtolA Hs B EX] o{HR|E 21 U8R
T2 THEEL L 2LD CHES D Us 271 HE .

@ [$ZEbYHUEEHADL] B, ALAVIZES

EACDPED LI EN EVWHEFLHVE
SEE, TR EIPEHINEEZIC, [T
ST (RRTT)] LB B0 REWTE (18
FADBROBEHROEATLS),

The expression € bt H ) £ £ A D is used to ask some-
one you haven't seen in a while if anything has changed since
youlastmet. £HF & £ T [TtRT 7] is a set phrase { which
conveys one's sense of gratitude to the other person ) that is
used in response to this question.

BELOHEY AN, BAFAS ARG SH RN
FEAIE. {ERLEEIFAAITRIEE  MEE TBMNTEET (T
ATCT) REEME (FHRMITIEE).

FrEEbYHYEEAN ) = 2Eiote] phet ALZHA| 7t
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HEH Z0| GEXE S= QM B . HZ K] of@x|of it
HRolE"THATEERT (XA TYT )1 22 digsts Hol &
FHQEH (Mool chEr ZHALY] ololE E#tstD Qlct) .
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b SERRSDIEE
D FECBENT ES

YF - EROMBRNESET, REFSEOD
BISBICE->TWET, EFRELEALEPSEVS
TEAPHHLBIDUITIEHBNELEADT, EFD
MEL Y. BEOSEOFVHOMBEICHEE »
FEEIDDDTL LD,

@ BIRBEXILRED

BBEXELL(RTDEHBAATTY. IELW
ZEALAOBIRBEDHECREL S 2, EFORE
i [38] & [EL [Us20A1 & [UEIVA]
DEHIC, UTWBERTEASH G ENERRICE
BCENBNTT, HHTTREEALZWVWE IS,
FIEES. EIRBEECRELE DS

@ BECSRICHEELES
HEOSEOBVHOMER. AL LS HB%
Th, BHEAPKEFESBANBYET. Mbh
TWAEEAUTAEL, FIROBAPSACE
BY5. BarbhaBanrsyit,

P ET THDOMEAE

@D EFRFEAFEEHK. SBELOLIICERED
EFER. FAH. Bk TOEFEFELLEE

ESDHDETEAZLIIILELELD. BADDIEK

TTTH. ThZhBEERGTEANL, EFFL

FTh{ EBRLEA. EEREOHRICENVET,

@QRATZEZRRLLD

YF - - BRIRANIRAZEESESI RN
BRIETT. LAL, WHEKEARATH, E
BTHEINEESIC DG LA, [(RRIE[E
S, TREEKRI BHIVET, EBALRAL
DESID, BAELEDVOMBTEIZENATITT,
BEMBAEBROAY, ERICAXALCESTHLE

NT30DHLVWTT L. BARBHICOHETERE
7—7AavI7 rELDAR. BPDIT-ABE
PIEULLKEBRENZIDPEIPHALTHZIDDHLW
Tt

r%%ﬂﬁj a)g"-‘l-% ..............................

pHEBRRDIE
DB ERBDESNEVEIIICLED
VEBBEEERARKBREEI M DA TV E
tANS, BHTHBESICEEDUIATAIES
WEHA, BBEICERLTET. BETERZD%
BRATWEEWSIZEFBWESICEEBLEL L
Jo BEDTRRICERBE L ITB I, ERE
IBEDICERNEIDPOWVWTLE D,

@ FMEXDEHREEALELD

ZRICEEE AN IMEER. 2ROMROETE
ICEEBL. MEXLHOEREEANIE. ZTIIC
EAGEEEALDEV WD DD ET, REX
HELE, EALTELLEBMRDBENICES
». BENELL(HEAELEDS

> H T THOMIESE

O MROEBZL2HDYLES
EBFHPERHMEE, R THRELAZEES
BAEBATWEWE, EULLEIZENTEEE
AL. BROBADLHUVER A, LAXILDOEVR
BETBIELAYITTN. STREREL- D
WESELE 26

@ WAWALEKREZBFETRRLTHED

N3 REEMNLIEETELNIEEREI DHIBL
NIWTT, HBEIIBPDBEERAFETRRT
XETH, BIAESHEEZT, KEHBIETICL
2 EXEELICERTEBETELL. BAET
E-oTHELLED, ZLT. EVZEV LD DY
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SENSILZERARTIIMEENET, 2L
20, FATHEFETRBTIHKBETHE. B
ERERBEFEASK, ERCAXNELETHE
ICbBVET,

@ FBEAIcEhES
HEBROWXICEI 3 £DHIC, WAL LEHER
BERNTHEL LI, WARBER N2 LALD
FIBICHET20H 0 WHETT, BEOHRIC
BhTHHE BROEZICLEHBDTEZENS
NEEAL. MBEEBRBEBLEL LB TLLI,

r;&ﬁ J 0)3?‘1‘% ....................................

PABRFDIE
O FEXEZLRIC. BRICBAEBFS
HBIRBOEAI T E>TEABET AL
hEhWE¥A, BIZE, EEOIESERT S
KRN EC K UREEHETAIEESBWVL., 7
N MEEDEE L. DELERZ FEDHIT L
TY. XMERNE, EALRAAEThITLL
BPOHOPNETHS, AN ERCANCHRRBICE %R
LELEL DS

@ EhRZFESMBIIEEOXIGIEL LS
[~&DikES LTH] LI, A %EMH SR
Al AXPOREONXISEELEL LS, Fi
I [~D5TH3] [~bir] [~DTH3]| &
EDEENMHNE, VTV EZDOHBHHERTT,

@ HEREBEONFZM S MBIRIIOXICSES

Tzh)] lfmrl OL>C, IBRIBFIETH
BFEBOMBE. FIOXIEBLEL LS, [20
L] [E2ThiE] BEBRDTICE 2P H B
ZENBVWTT,

@ FHEOFRIZREOBZIIBELLS

ARG ERANDREICEED TIRERMTTS
O —RTT, [EENFROHS VT LI
PlOE S EEOERER S BB REDEE.
FLREEROXISEALEL L,

P ET T HOMMESE
O BEDHZXEHRED

TRNEDIIBICIE., ELEABLDHI—ET
T BRDHIABTES, MSTHSTDIBIC
{EAZDIFT, BHEETHLEBECHA—LT
b, EPCRBIEVERSAENBEFZATHE
L& 2o ATLSEIBIL, BAREDXEICIEN.
RELLRVWIELBZEDZLICHEBTL LI,

@ BRBESIDTICHRATHED

HEEICDEVWTETTY, b WS
BFBILTICHEARTOTIE, G hrEHED
CENTEELA, B THHEETICZEERT
EEEADS, ETEBHEBESPTICHATES
L&de Z2T2L. NEQDEEPSENEME
HBETENFO&EET, FEAE—FHE(ES
TlL&o. HBLEUICHKAT. ThThbhrdh
WERET. SETHETHIBTALIICLELL
Do
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m BIFE 1 FEIERE
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2 [2h1KEUB-TET), 3 [BOBHE
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HRCHbAAMAR, [EFMELETRE
ENEEAD], [COBEESLETH], (9

ALEBRIELB AN ERETTR] DES
KEESETT, BF (2], [Zhh5], [~
kol 5E) v, MBLETRECIELT
flEE L&

" BE2 KA NER

BRI R A hTVABCREZ £ SR,
KA b ER TR ZEFTES P EM S
ETT, COMETR, BHCENYFRLS
ZERHAT, RREERCEHEI S £T,
MY BB SABEFAL, B REH
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BEOE, BF, BMELCHVT, B
T EELERUEL 5 5. BORSE LRR
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Strategy for Kahii Heaﬁ_ing and Vocabulma-ry

(The numbers for the following questions are the same as those in Practice Test 1)

P Things to note during the exam
1). Devote most of your time to the questions in the

latter half

This section of the exam is divided into two parts:
the first half contains the kaniji reading questions,
while the latter half features the vocabulary
questions. Spending a lot of time on each kanii
reading question does not improve your chances of
determining the right answer. The best way to tackle
this section is to devote most of your time to the
questions in the latter half, which ask you to choose
the correct usage of the word.

2). Carefully look at the answer selections

Though it is important to read each question
carefully, be sure to look over all the answers rather
than focusing only on the one you think is correct.
Many of the questions contain answers in which the
kaniji or reading provided are only slightly different,
suchas 3B and &, or & 2 WA and L HWA .
Rushing can cause you to make simple mistakes,
so be sure to carefully review each question and the

answers that are given.

3). Pay attention to particles and parts of speech

The latter half of this section asks you to
determine the correct usage of vocabulary. Though
the meaning of the words may be the same, there
are times that the particles or parts of speech used
together with these words vary. Avoid focusing only
on the word in the question. Remember to pay
attention to the particles and parts of speech that
precede or follow the word, for they can provide
you with hints to help identify the right answer.

» Study Methods
1). Memorize the kaniji readings and meaning together

with the vocabulary

The best approach to guarantee your success on
this section is to memorize not only the readings
and meaning of each kanji, but also the words
in which they are used. It takes a lot of effort to
commit these to memory, but if you can associate
one with the other, you will be able to boost the
number of kanji and vocabulary you can effectively
use. All your hard work will pay off when you tackle
the vocabulary questions on the test.

2). Consistently review what you have learned

The more kanji and vocabulary that you learn,
the better your score will be. However, memorizing
a large number of kanji and vocabulary will only
earn you points if you are able to select the right
answer on the test. For instance, the words X
R and & & have entirely different meanings. The
key is to consistently review as you move forward
with your studies, making sure that you know the
correct meaning and usage of the words you have
learned. Try answering the practice questions or
using previously learned vocabulary when actually
speaking with a Japanese person. Another good
study method is to practice entering words on a
Japanese language compatible cell phone or word
processing program, and then check to see if the
waord is correctly converted to kanii.

Strategy for Grammar .........cccieevienereenens

P Things to note during the exam
1). Always keep an eye on the clock

The grammar questions and reading questions
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are taken together in the same time block, so it is
important to manage your time wisely. Try to avoid
lingering too long on one question and losing track
of the time. Work through the grammar questions
as fast as you can. This will leave you with enough
time to focus on the reading questions in the latter
half.

2). Consider the meaning of each question

One of the question types for the grammar part
requires you to insert the correct word into the
blank. For these questions, pay attention to the
words that precede and foliow the blank, and try to
consider the meaning of the entire sentence. Doing
this will enable you to identify the word that best
fits the blank. Carefully read each question, and
determine what kind of word is needed to make the
sentence coherent, such as a subjunctive form or
contradictory conjunction.

P Study Methods
1)._Review and master what you learned at the

beginning level

Improving your overall test score starts with

reviewing the basics. If you fail to fully learn the
beginning level grammar structures that you studied,
such as the plain and causative forms, you will be
unable to use them correctly and fail to improve
your test score. Practicing higher level structures is
important, but make sure that you have mastered
the fundamentals first.

2). Practice using Japanese in a variety of situations

By the time you reach N3, you should be more
than able to understand the Japanese you hear
in everyday life. Ask yourself: Can | describe my
daily routine in Japanese? Practice explaining in
Japanese, in as much detail as possible, what you
did from the time you woke up until you left your
home this morning. Make a list of the things that
you have trouble saying or describing, and then look
up those words. By trying to use Japanese to talk

about a wide variety of things, you will gain a firm
grasp of the expressions used in everyday life. Most
of all, this approach will help you practice speaking
Japanese in real-life situations.

3). Familiarize yourself with the question styles

Try answering a wide variety of practice questions.
This will help you become familiar with the test
format. A good way to practice is to try answering
the grammar questions that appear on the N2 level
exam. Knowing the different types of questions will
make it easier for you to concentrate and quickly
answer the questions during the actual test.

Strategy for Reading Comprehension ......

P Things to note during the exam
1)._Look over the questions before you read each
passage

The key to this part of the exam is to adjust your

reading style to fit the scope of the questions. To
understand the author's opinion, it is important to
read the entire passage. In contrast, when looking at
a help wanted ad for a part time job, you should only
skim for the information you need to know. Always
make it a point to read the questions first. This will
help you determine how to approach each passage.

2). Look at the surrounding sentences for questions

as!{ing you to identify the reason
In questions, such as ~Z®MIEE 5 LTH , which
ask you to identify the reason that explains the

underiined section, the important thing is to examine
the surrounding sentences. Look for expressions
suchas ~»5TH3 ,~bit#,and ~DTH 3,
because they often refer to the reason.

3)._Refer to the preceding sentences for questions

asking you to identify what the reference terms

indicate

In questions such as [ Z 1] &iXfa] A that require
you to identify the information indicated by reference
terms, the key is to carefully examine the preceding
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sentences. You will often find the answer before
sentences that contain expressions such as Z®M &
Iz and ZHThiE.

4). Pay attention to the author’s opinion in the final

aragraph
Generally the most important point is summarized
in the conclusion given in the paragraph at the end
of the passage. In questions where you are asked
EENFBROE VWV ERMAD (what is the point
the author wishes to convey?), make sure to look at
the final paragraph or sentence of the passage.

p Study Methods
1). Read literature that you find interesting

The best way to boost your reading ability is
to read as much as possible. The easiest way
to accomplish this is to read something you find
interesting. Whether it is a textbook, comic, or mail

from a friend, the important thing is to read things
that you want to read. Reading will help you grow
accustomed to how Japanese is written, and in time
you will be able to read longer forms of literature.

2). Don't rely on your dictionary as you read

Using your dictionary to confirm the meaning
of words is important, but looking up each word
you don't understand makes it difficult to finish
reading something. You are not allowed to use your
dictionary on the test, so to better prepare yourself
the best thing to do is read without your dictionary.
This will help to develop your ability to infer the
main points and pick up the meaning of words from
context. You will also become able to read faster. If
you encounter words for which you can't infer the
meaning, write them down and then look them up
in the dictionary later..

i | sirategy for iistening i

_____ . fo JJ
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(The numbers for the following questions are the same as those in Practice Test 1)

p Things to note during the exam

Unlike the language knowledge and reading comprehension sections, the listening section features a

continuous series of questions. If you were unable to answer the previous question, forget about it and focus on

the question currently being played.

Listening Test ltem

Key Points

Section| Task-based

task.

The question wil be played before the conversation begins. Make sure to identify
] Comprehension what is being asked and determine the main points to focus on during the listening

Section Point
2 Comprehension

In addition to hearing the question before each listening task, you will also have time
to look over the answer selections. Try to predict what will be played during the
listening task and pick out the main point.

Section Summary
3 Comprehension

speaker's opinion.

The actual question is not played before the listening task, and no answer
selections are provided. Listen carefully and try to pick out the main points and the




s - ERL 7-REOK = X
210 =20 =10 Z2oM

ME1 | 3Ax6M | 184
el ME2 | 25x6M | 124
I3 | 3&Ex3M 95
e ME4 | 3EXx4M | 12&
MK 5 15xX9H 95

ast 60 = G <

oDk

& LA B [O5 48 & (80%) T OBAIE. BECHEERATHRLELS (48 HRT
EUlwA
DEDERTHT), 40 SLLEOBEEE. B2 ABOEREP-THE I,

If you got 48 marks or less for A, B or C, please read the explanations and techniques and study accordingly
(48 marks or higher is the minimum acceptable score in this book ). If you got 49 marks or higher, please try the
second practice test.
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Listening Test item

Key Paints

Section Utterance
4 Expressions

Listen to the explanation of the situation while referring to the pictures provided, and
then select the most appropriate utterance. When selecting an answer, pay close
attention to the setting in which the statements are made and the relationship of the
characters in each dialogue.

Section Quick
5 Response

In this section you must listen to a question or short utterance and choose
the most appropriate response. Make sure that you fully understand the other
person’s intent before you select a response.

® Section 1 Task-based Comprehension

This section of the exam asks you to pick out the
information needed to resolve a specific task, and
then select the most appropriate course of action or
identify what you learned. You will hear the question
beforehand, so make sure to identify what is being
asked and determine the key points to focus on
during the listening task.

In questions 1, 2, and 3 you are asked to listen
to a set of instructions given by one individual
and determine what the other person will do next.
The key here is to pick out statements containing
expressions used for giving instructions, making a
request, or offering a suggestion. Example : 1 2> %
DHICETL N ETH (Could you come here?), 2
Zh 1 K#ZHE - TE T (Get a bottle of that,), 3 2
DFEHED 725, X5 EWTH (Take care of that
after you finish with the windows.).

This section also features questions that ask
about the date or time. Common patterns that you
wil hear include £ LA ThiEa ) EEAD
(What is the first thing that he/she must do?), Z®
HELH LETH (What will he/she do next?), BEH
LEUNAREESEWZ AT H (What is that
he/she must do tomorrow?). Pay close attention to
words that indicate the order (such as £ ¢, 21
» 5, and ~ /= 5 ), and focus on information that
refers to the date or time.

m Section 2 Point Comprehension
This section tests your ability to listen for items
that are specified beforehand and identify the main

point. In addition to hearing the question before each
listening task, you will also have time to look over the
answer selections. Use this information to predict
what will be played during the listening task and pick
out the main point.

When you answer the question for a given task,
always listen to the question carefully, and then select
the answer that best fits what is being asked. While
many of the answer choices wil feature information
from the actual conversation, they are not always
the best answer for that question. This is perfectly
ilustrated by question 6. Here the question is %4
i, KBADIAE-FIALTFA RN —FLS
1EEE > TWE T H (What does the teacher say
is the most important thing to remember for next

week's speech contest?), so you must select the
answer that indicates the essential point the teacher
seeks to emphasize.

Another important point to remember is that the
correct answer is often a paraphrased version of
something that was said in the actual conversation.

For example in question 2 the answer 33 ICE T
ED>THH57H5 (Her dad drove her to school )
matches what the girl says to the boy, which is &
MEIADEILELTHS 5720 (My dad gave
me a ride to school). In addition, make sure you
are familiar with the different sound changes of
words, suchas BHEN B2 > T [=TLE-T]
in question 1, for they often appear in conversations

on the test.
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m Section 3 Summary Comprehension

The questions in this section ask you to identify
the speaker's intent or opinion. Though the actual
question is not played before the listening task, you
are given a simple explanation of the situation. Pay
careful attention to the explanation of the situation
and the subsequent utterances given, and make
sure that you understand the setting in which
the statements are made and the relationship of
the characters in each dialogue. For example, in
question 1 two coworkers are speaking together
at a hospital, while in question 2 a woman is being
interviewed ( after she has seen a movie ).

This section also features questions that ask you
to identify the speaker's opinion, such as question 3,
in which the man says RITHEO¥IEEH - &K<
L TIE LW (I'd like them to make the cost of flights
cheaper ). As you listen to each conversation, focus
your attention on the sentences that introduce the
main point or idea the speaker wishes to convey.

m Section 4 Utterance Expressions

This section tests your ability to select the most
appropriate utterance by listening to the explanation
of a situation while referring to the pictures provided.
Using the information obtained from the initial
explanation and the pictures in the text booklet,
identify the setting in which the statements are made
and the relationship of the characters in these short
dialogues. Fully understanding the situation will help
you determine the correct answer. These questions
often feature expressions that are commonly used
within everyday life, such as question 1 & i 1 #&
T L 7= (good job ; thanks for the hard work ; see
you later ), question 3 FHIDF + > I & LBV
L %9 (I would like to cancel my reservation ), and
question 4 & L= HKEL THLVEVATTY
(1 would like to have the day off tomorrow ). Make
it a point to memorize these expressions and the
context in which they are used. For honorifics and
other forms of polite language, make sure that you
are able to select the appropriate style that best fits

the situation.

m Section 5 Quick Response

In this section you are required to listen to short
utterances, such as an inquiry, and choose the most
appropriate response. You will not hear the question
before the task or be provided with an explanation of
the situation.

The key to doing well on this section is to
understand the speaker's intent for making the
statement, and then selecting the best response. For
situations in which someone offers to help or makes
a kind suggestion, such as F{z& 2 » ? ( Do you
need a hand? ) in queston 3 or 2 LKA £ 57
( Why don't you take a break? ) in question 6, the
natural thing to do is to express your gratitude.
This section also contains a number of questions in
which you must select an answer that empathizes
with the feelings conveyed by the speaker. For
example, in question 8 the speaker says ***Rf&5
EWEWWATTIFER (-1 hope it doesn't rain ),
so the best way to respond would be 5 & - &/DE
T4 (1 hope not, too ). Likewise in question 9 the
speaker remarks - F&& T9 4. KX, thus the
natural response would be to express one's own
disappointment by saying & &L THET TIE LW
T¥ 8 (It'd be great if she didn't have to quit ).

p Study Methods

Strive to listen to the CD everyday and further
develop your listening ability. Repetition is important,
even when listening to the same questions. The
conversations you will hear on the N3 exam resemble
conversations you hear in everyday life, and they are
played relatively close to natural speed. Make an effort
to memorize the words and expressions that you
commonly hear within daily life, along with the
different situations in which they are used.

Boosting your vocabulary is extremely important
for the listening section. Knowing the meaning
of the kanji is important, but if you are unfamiliar
with the reading, you will be unable to catch the
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word when it is said. Memorize both the kanji and
their subsequent readings, and train yourself to be
able to pick out the vocabulary when it is used in
conversation.

Likewise, there are a number of different
expressions that can be used to describe the same
thing. There are also times the sound changes
for the words that are spoken. Learn the various
expressions used to convey the same meaning as
well as their contracted forms. This will enable you
to understand any expression or the pronunciation
pattern you hear.
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EESLETAH (OISO AEAH ENR ?) 8
BUAHFAESSBEWZERATT A (LY stot
& U2 FoUt ?) o Zol o4 ZHX|ILcE.
EM (T, TEhhs5,, T~15, 8) L 71Y
of 2t w3tof FolsiA ESAICH.

m 2X2 Z2IE0|3H

al2| MAIEls Sofor & Mg neds ZQIEE
UF0| BEE = U718 E= SALCt. ol 2
HolMeE D|2| AEES E8{FE # oLzt M=K
£ 2|2 Alzto| )isLict. ZERn MEX|IE Sl
LI82 oifs5lH So{of & XQEE & WF0{ &
SAICH.

e Alole gtEA| 222 & 1 EZof CHt
CHEr& DEAICE. olokz(e| LHExt MEix|o] LiE
o| Yxlstciets EEol ol ot BT UaL
Ch. oE EH (6o "&4&E , KBOAE—FO
VTARNTRAN —BABEEFO>TVETH,
(MR O3 F ol ALlx| 2EHAENME FA
o| 7k Ssictn Latm JU&Lnt ?) ets &2
ol22 Mdeo] 7tE S2sctn FES =
Ag Meskx| ofo™ ohELICE .

2IME TBREADEICELTES 2D,
( OFHX|7} xt2 EfRICH Fof) 2he= wratol chal o
Eixlols FRBUICETE>TES2 A S, (oY
X|7} %2 cll24ct FAM ) 2t A0{xq Ql&LICH. of

ob
K
30
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Section1 Kanji Reading
(o ILFRIEF RS2 1 8txl 87|

OI3nFER [EX3] BHEBTEZE, 118 [E
RT) 21F [ARTI 412 [ZHrXRT] B
The correct answer is (3), which means to compare something.
Its dictionary form is e~ 3 . Answer (1) is written as ¥ X T ,
(2) is written as FA~X T and (4} is written as EM X T .
HETIEMMER (%) NEBRLHE. ME WS (1
AT, BLIETMEE [T, BMHERMNEE TEH<T .
39| 7129 "H~X%, £ Hlmste Zolck. 12 TEXT,,
2ET@/NTY, 4="FHXT, 2l £}

2 RLW] AN E 1 I[EBLL], 313
LW, 413 [BLW] &8B<,

The correct answer is (2) # L L\, which means to be good
friends with someone. Answer (1) is written as 88 L. WY, (3) is
written as #& L\ and (4) is written as 2 Ly .

MFRLV) MEBEXRRY. $ M5k gLy, $=
B TRELV, FILETEAE (LW .

MTRLVI = AOIZEF2 W 12 TELVL, 38 THLV,,
4= T&LV, 2l #ct,

BEMTAREEN DL oK%, [FA3L]. [A3L]
BELADETEATEIY, HEBTR1DE
ABFbHB. 2. SOEEILL,

A national university is a university established by the national
government. Make it a point to remember this word together
with the words #A3L (private) and A 3L (public). In this case,
the correct answer is {4). Answer (1) indicates the name of a
place, while (2) and (3) are not proper words.

By KSR MEREB IR ¥. [FAr) (Fn), TAsr) (8450
FEERMDI. ERFHSHEHE, £ AMEEEbAE
TERY. (BEF EMMNE R REE.

SRICHE 2 Liek7r BHE CHEtolch . FRASI (AR ), T2y ( 3
2 )0 Zo| Y5 FAL X|Be2E 11 o] ¢7|z Bt} 2,
3o Ze ge gict.

@ [&EF] BBETREWSE, 1~3NDEEG
B, [EIICRTIZ] EVWIZRABRBBD [
7] EREEELV,

The correct answer is (4) &5 , which means something that
one does poorly. Answers (1) to (3) are not proper words.
Note that the kanji & can be read as ¥ but not 717 .

MEF MR HF . Bk mEE SRR EE. (5]
B 1) Bk, BRERH v MiLHk.

FEF,) £ Aol gin MFE 2. 1~30 Ze &2 gict.
FEs 7420 ele 22 AXIg M99, etne x|
f=ct.

Bl2n#&EN (ZA3] BAFICHISEEZE,

1@ [EALl 3@ ALl 4 [Bar]
EE<

The correct answer is (2), which means to inform or tell. It's
dictionary formis{£A % . Answer (1)is A &, (B)is WA /-,
and ) isEA .

BIEMMEE 225 MEBRELLZ WA, £-EWY
BRI, F=EHEF EA ), MBMEMSIE AT,
29| 7|28 &A%, £ JOigoA el Holk . 12 TE
Aty 32"HAL,, A= THA L, Bl 20,

(6] [%&BI] o2 LhhEnZE, 1~3DEEIR

T,

The correct answer is (4) %8, which means mistake or failure.
Answers (1) to (3) are not proper words.

TRRL) BVRUBREBAEHdr. IR =R SR
#EQ

Mg SHHE AEle . 1~330 22 92 elck.

[AR] BADZ E, 2, ADEEIELE L, 1

DEXERHBY, RIOBKREDTIELLEL,

The correct answer is (3) A& , which refers to human beings.
Answer (1) is an actual word but has a different meaning,
while answers (2} and (4) are not proper words.

FARY MEEBEA. BRMARNENHAFE. MB—ik
W EAFE, BRAZTHEAFNEE, RLOEFIER.

TAE, 2 AZE 2t2lZich. 2, 4op Zr2 22 gict. 19/ 8t
2 oL, ohE alojol=& 2x| gict.

[RTH] BXEOLNPSEHBENDZ &, 2.

SOEFEIETV, [4 BEIEWSEEIIHB D,
ETHEMLEIDOTIELL LY,

The correct answer is (1) ZfTH , which indicates the fifth line
from the top of the passage. Answers (2) and (3} are not
proper words, while answer {4) is written with different kaniji,
FIAH , and has a different meaning.

IH47H ) EERXENLTFHEE T, TH g =
BHHAFE. BUEGNRAA (HE) BER, ERNNF
HMEEMERHARE, FLUFHAER.

FH{TH. £ 32 HolM chadH A ZEolgt= =olck. 2, 3
o e g lct. M4, 2te 92 URIeH, etxtet oo|
7t ci=c.

PEUED SBEL csvsomessvsvssesssssvnnuoivonisn

Section 2 Orthography /A2 5./ Exj2 E7|

O] I8BA] BHFAIERZE, 113 [FHl. 418 (8

Al EFEE. SDEFRRRL,

The correct answer is (2) %7 , which means to endeavor or
to make an effort. Answer (1) is %71 (labor), and answer (4) is




BAGEEENEE SRR N3 —8% - B3 - WRE—

zo| MexjollEs E¥S HPE F2k BosR
FOIRfAICEH. I E3lolME 1] TSR EhE® ST
(=TL&F2T ) & 20| S HEI U EREH
o2 FOIFAlICt,

= 253 7120]5

stxte| oLt FF 52 OlsE & UsKIE =
= XYLt 02| 288 EtiFXls &XIpH
gHerst &g Mol lauct. 48 d¥olLt o
Ci2o| WstE E1 W3le ool ST Q29|
EHE & olSHE Al . o2 ST (TIEAHHIM B|AF
SE7t olok7|st e BH (2 (HElE 2 )
Qe ol CiEhstm Qe & Seluct.

1 Zo| X7t F7F o|HE Tleste ER
HE TRITEOBEEE>ERLTELL, (HI
71 232 o MA S FH F2cH) 8 $txtel 9f
740|Lt FEE FEdtn e B2 FolsliMd &

SAICH,

m 2X4 @ B3

UHAEE HEHA 48 P E7 M5 Y3t
E MEE £ J=XIB = BMlud. X380l &
HFE 48 O 22X 22X MAIE 23 §
i Wato| FHHOL 8 QIE S| BAE F ol
2 Mug 1A (1 "eEnETLE, (18
MaUchH), B TFHoF v oL ESBEVLET
(ollof FAE FEELCH),[@ "THL R HKREET
ESVWEVATYN, (YR & 423 #ict
oh) 5 UM Mo A1 Mol BT & LU
Ch. BA O 30| AHF AASElE FEn &7 7|1
3 SAICH. = Zoi| & THol| 3= HIE Wit AEL

US M = UTF 5 SAICH.

m 22X 5 FAISH

HE 5ol %e watE E1 mMYs SEHe ME
g = ASXIE E= EMUC. D2 RRRE E
SiFX| ot ¥ ofLlet 48 MEE glaLct.

wstol ol & OlaHEt ¥ SEHE 12 W0l &
QELICH. oE S wU3It T2 AHEE=E ()
TFEHSN 2. [ &7 7)) BRLE, EI-E K|
ot([6] T2LkAES 2, [& #Xl Z28i?2)) o

2 ZALelH ZAte| xHE st 2ol Mg

CH B M. BRSBVEVVATTHERL(...
HI7H Ot o E2 HICIR ), [ T BETTR, &
s(c, ®2 sixiol 7|EE Fastes walol chsiA
S5 EAETTR, (B HHolUR), Moo
ZUVTHESTELVTT R, (OMSEX| DT A
o TR ) Y SZsts Cigel Het o
aLich.

PEMSH

Y =24 CD & 1 AUSKEXIT=S #HAICE.
#2 Xt grefMd F= Hol sELCEH.
N3 ol M LUAFQI BrRHoM o7t RtHAR R &
Zof 712 2|8HE EALICH. YaEoR AL
£ Z#0IL} ofzlE 70| AISEIE HHm &
7|5H SAICEH.

0122 =2l W2 Hlol oM nie S8
Lict. £ o|0|& ol= EKIZtE g e 22
& HafolME =80l Zix| t&Lct. BrEA| 2lE
HT 87 2/ o & = AUXF 5 SAICH.

2 LHOolztT o42{7tx| E#0| &L, =
gt ME 20| Heltste 4R AaLict. 1 of
© ZHO|LI WSS S0z OlE = UL S AR
olojel Ro| XLl & H3tol e M A
EAICt.
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&7 (power). Answer (3} is not a proper word.

%)) WEBREN. SWEE Hh) (), %
¥R TEYh) (Bhh). TS ZESFATFE.

Tg2h, EBYSte Y. 12 THH[H5W &< s (1),
4=THH[ESY &L (EY) et . 3 ded
2 it

ERT) i [#E-T] EVWIEKR, 1. 2. 4

DEERLZL,

The correct answer is (3) h T, meaning #-7T (to
accompany ). Answers (1), (2), and (4) are not proper words.

TN T) WEEBRE (foT (FIE). 5§ -, BTMRMNER
F SR AT AE -

T@hT, = T#->T,(Sttstod) et 2ojoict. 1, 2, 4
I Ze ge gict.

i) [EY] & [EYn] v Bk
FEiEhku,

The correct answer is (1) &4 , meaning ¥ ( person in
charge ). Answers (2) to (4) are not proper words.

MAD ) WEER (840 (8). B IRRSIBMETHA
HIE.

TEy), =TEY0, (EEe)etE2lol. 2 -4 22 242
oich.

2~4NE

2] ik [RBICEIEoh] EVWIERK
[2] & [R] 3FORHIUTVWEIDOTER, [F
B [BE] 6&, [R] & [RE] [RU] £E

The correct answer is (2) 2 , meaning RIRICE I o1z
#» (what was the final outcome or result). The kanji £ looks
similar to 52 , which appears in words such as ## (task) and
2 (section head). The character & appears in words such
as JRE (decision) and 30> (resolution).

(R IMERR (BHBICE S Aofeh (Bfa~). TR TR
WS BRI, ROMUAER. #lin SR ) ORE) MR (IR E)
e, i TP WE TEUE) (BRE) TR0 (Bul) FHER.

TR, = TR S22 8 4 0bXI2ol o{% | =I%tETt)
gte olojolct. TR, 9 TR, £ 2K 2¥0| HIRdU Fol
o2 TRE,(UN)TRE(ZF)E . TRy ETREN(F
H)NRO, (FY ) Sol m0lct.

@BS3HREW ] 1. KHLEIMELVE

& ok o
ByzE, 21 RS 4 []RS) &FE,
1OEEREV,

The correct answer is (3), which means to doubt whether
something is true. Its dictionary form is £ 3 . Answer (2) is read
as B33 (& 3), and answer (4) is read as & 3 (2 72 3) . Answer
(1) is not a proper word.

SoHRMMAER TS MEER, MERTERMEFITE.
BTN (IS (25)), BIGETHEE (RS (5729).
i 5 R A F L.
39 ZIBE TBES, & MUK ofTHx| 2lAEHA of7E
H.2ETE>S(E5)s, 4=TES (515 ) 22 HErt,
13 g2 o4 gich.

EX) @A —4—-FB2 &, E] & 1))

E [ BFEORHIRUTVWEIOTER, [H] 13
[ELS-Fayl &34, (D) 1] [T,
[{E8 B &,

The correct answer is (4) 33X , which means to order some-
thing. Note the similarities between 7% and 1% , as well as X
and & . The character ¥ isread as X L 5+ ¥2 7, and
appears in words such as [ % @ ] 4% ( column [of a house] )
and & #% ( utility pole ). The character #X appears in words
such as &8 ( fingerprint ).

T30 MR BRIT R AES, (3 A1 TR, T30 A T80 1
SR, FOZmLAER. ™ T fREN LD -Fa
g, BN T(ERD) £ ([ REM ) TR () (),
e (/) F%.

Y, 2 F2st= 2. TE, o THy, T BT 2 2R
20| Hixst Foj# 2 T, ETRLS: Fao, Bl
olm , M(RM )&, ( Fel218), "B (HF ), "ERL(X
2 ) S0 Zo| aelct,

DRAEES  STHRHTE ooveeveeeerrerersnssnenes

Section 3 Contextually-Defined Expressions ./
B3 BEESCKE2HI3 BYTE

5 BEXIC [P E5VWT] EHZDT, ZH#ICIE

HLBWCELERTEEI AS, 2 LJJEN%-T—
ERTODT2HNIEMR, 1EEIHRTFICED,
d3E LAV IR LT 4{;§E4hﬂf$m%¥®
&to

The sentence states 244 LV T, so the correct answer must
be a word that means slow or measured pace. The only
answer that shares the same meaning is {2), so it is correct.

Answer (1) means smiling, answer (3) means fluent speech,
and answer (4) means rapidly changing.

[FIEIRE N TaARNT ), FTLES AL ROZIUE 2m g i
A E B RE. FAS SRR RN ERIBHET, BTLL
PGB FHER. MBETER R KM TIHER. 8
ST AR RERIT, ARG EA AR

2x0 rafFswe, 2tn Le glesz | gl Fhols BEX|
e85 LIEIE Yol Eoigtct. =B 2¥E LEIUHE 27}
e 12 25 292 UEd o £ct. 32 A Yot
E2Y, 4= eI 8E 2ol

[E2HhLW] BEDZELEEBPVWREBTE

WHTZE, 2~4 [~REBICES] ik
EhEWV,
The correct answer is (1) & 2 #» L v\, a fond memory of

something from long ago. Answers (2) to (4) cannot be used
with the phrase 51 & 3 (to feel ---).

EDir L) RS R 3 R B B A 1 4 I I 14 LART A9 B4
TS AT SHILAMMARERR [~RFbIcad) (El~
‘L\ﬁ)o

rEo>ALW,E oY s M ot E4se Hoidt.
2~ 4ET-ER5IH5,( ~7|80] =ict) 2tne shx| &
et




BFEAEHEE BREME N3 —8% - B - HEE—

[BA| @rrs2BOZE, [1 25 BIE
GLETRLEHEL TSI E 2 HABCE,
fES &,

The correct answer is (4) ¥ A , which indicates the cost of
something. Answer (1) % &t refers to calculating and paying
the bill at a store or restaurant, answer (2) 5t means to
calculate, and answer (3) {#H means to use.

[#A) MEERNEERNSH. S—E8 431 MEEAK
FERE M T Bk, B RTURIEME, FognmEs
2.

"R, = o Y2 sti= Ol = 2 YEch. 145,
E 7HHMIM T2 & Hldtetod X|Bst= X, 2E ME R, 3
2 ASseA.

B ToUy 7 (clip)] BEELERBIATEDS

Mo 21 [E&EFRIZTL—F (brake) £»1F3].
3 [EMEIE— (copy) 3], 4t [+
7 X (mouse) %E{E->T/SVILDREETS]
DESIES,

The correct answer is (1) 7 Y » 7 (clip), which describes a clip
used to hold papers together. Answer (2) means E#ghiz 7
L —% (brake ) & 7133 ( to brake while driving ), answer (3)
means ¥#}% 3 & — (copy ) ¥ 3 (to photocopy documents),
while answer (4) means ¥ & X {mouse) £ {f - T/t 1 >

D% T 3 (to use a mouse to perform operations on a
computer ).

[Z70)w S (cip)| MIEBREGRESTRENET. BEH
1 NPT L —F (brake) DT D) (FETEHRESSE),
BEETAE TERZOE— (copy) 51 (HHER), £
WHE (7R (mouse) ZE-T/3VaA/DERETE . (#
FRLARIRIERA) B {EMA.

To9Uy7 (clip)s & 20| GE 7M DHAIZ|IE 24,
2 "THEEFLCTL—F (brake ) EAH D, (2F S0 =2
clol=2& dct), 32 TEXMEIE— (copy ) T2, (ARE
SASICH), 4= Y TR (mouse ) #E->T/AY A0k
Z9%,(0IRAE A8t ZHAFEE =&6ICH) o Zo| &
ck.

G2 NEEBH I HZ|3HETEZE. 1.3
BE~| OWTIMEA LV, 413 [REHEICZH
NTWAABRETFNELLS] BHIELLWLY,

The correct answer is (2}, which means to check or confirm. Its
dictionary form is HE» & % . Answers (1) and (3) do not agree
with the preceding phrase PIE &~ , while answer (4) would
only be correct in a sentence such as ZHIBICBHAI TV S
RER %Y £ L £ 5 (Observe the provisions of the contract ).

BETRIE (NS HEBEWIA. S—dEmg=
ETAGELL THAZE ~ | MFEUER. BIGERNEL 124
FCHONTOEARRTOELES ) (5T RABHAE
EAEFE.) HNEH2EHER.

20| 7|2 A DS, = YRlstE Holck. 1,32 TRE
Z~, 0 go2E # 5 gic}. 45 TRYBEBAhTLS
RBEFUEL &3, (AIS M Hagls U8 x1ZAILH)
ot 2.

U1 ~4EFFTART [~HHB] OWMTES>Y., R

WEEIZHZDIE4D [HLU ),

Although answers (1) through (4) can all be used with the form
~#"H 3 , only answer (4) & < U (yawn) fits the meaning of
ihe sentence.

BEWE R EABALIHREU ~HHS ) KBRER,
{HRZERBRHRFT HANARTEZ A SRS (H U, (1
R)o

1~4E BE T~ i3, o HoZ mxlph, 3 M 4E
HE 40TH T, (35E).

2) BN O®BE [hhrarBhEV] EH530

T, ZHICIE (3B, TBY] VWO EHKRODEE
HAB, [2 L] 13 [HXYHFEN] W
op 1N

The form % % B h & L appears in the second half of
the sentence, indicating that a word meaning &y, 3L
( strong, durable ) must be inserted in the blank. The correct
answer is {2) TR % , indicating that the #1238 ( body
or object is tough ).

BEAMENEFEE TeehBinian), FEESELN %
BAGERE Tagu L) (B, B MEEHRE. M=
I (57 ) WAL [EPEH L | CHESI R E).

X Fotol T A EREL, 2t Le Qe s 2 | Zho|
= T8, Ex, (dsich, E&sd ) 2te olnje] gto| Eof
doh. F2xtEks, = TERYIEV,( S0l S2Hol Zaict)
= ojojo|ct,

BRORMEBEIEL (VT T (relax)]o 113

[changel. 21 [openl). 41 [uplo

The correct answer is (3) 1) Z v 7 Z { relax ), which means
the opposite of ¥ & . Answer (1) is change, answer (2) is
open and answer (4) is up.

FIRMBOGAR TV Ty 7R (relax) lo H—HETR [change!,
B IEWA lopen), MFUIETRE fupl.

Zigo| BoiY R "U Sy U A (relax )1 . 12 "change. , 2

= Topens, 4= Tupy .

AEEEART VY, [FBEHS5] LLS(E

WAHIBEW, [~ oRBERII3]) EBALD,
FOBEKk: [~IcHBE523],

The correct answeris (3) S 774 ,asin ~» o EBETIT5 .
Although answer (4) 5 3 is similar in meaning, it would be
incorrect to say 228 % & 5 5 . Answer (1) has the opposite
meaning, suchas ~ICEHBE51 3 .

BIRBVGETRA LW, WML TREEL55 ) AR
MIFATFIE. MZICENE [~ oERERIZ), UREX
HETYLHN B BEE525 1.

42 8o|7| 20, TERELS S, o ol MXx|= gL,
T~HoE@e2Ta, 2ta AUs{ FXb. vl 20l "~ 8
Bi25x23,.

R BEXA7ICTADIE [BEEWS ), R

BREEANITHDIE [EREANS]), 3. 4
i3 [BEE~] OBTIREDEL,




The correct answer is (2). The phrase BE % 115 means to
switch off the power. The opposite of this is the expression &
E % AN 3, which means to turn on the power. Answers (3)
and (4) cannot be used with the phrase B &~ .

BEE A (BEEES . MERAHHIHTIE ElE
ANB o BEREARSGETHAL (EEZ ~ ) AR ER.

MAUS DE W2 TREEYD, B2 TP HE L2 TR
FEAND, .3, 4" BEE~, 9 o2k Mux|grt,

[3 #54] BRIAOHEICOVWT, ZZITK
BABDEVIENK, 113 [BEV] EVIE
BT [BARL] 21 [AMVWTWSAR] &
S5EW%T [EBRX]. 41 [PLEEF&Z] &
WHEKRT [RRTH%R] OESICES,

The correct answer is (3) 72 5 V¥ , which is used directly after
a noun to indicate a large amount or number. & 4 I in
answer (1) means together or mutually, such as in AR %
( lovers ). Answer (2) means BT W3 7AME , suctras in FA)
% ( facing south ). Answer (4) means & LIEBI#" % % , and is
used in expressions such as BBk ( seem to have a cold ).

BISMW TS BESFNEE, REAREMNESR. @
—EWLL (BEHWC ) NEEEE (BARL) (HE), F-
EBRLL TAWT WA R MEBESE #ERZ) (38),
TOSEMmEmEL UMD S 5 | MEERE TRk (8
SILER) FER.

M3k sit.E BA Fol ZoiA gtol 2lct= 2|0|& LIEHHCE,
12 THEWMIEHE 02 TEARL(EYTE ) 2E™H
WTWaAEMH, eHe Qo2 "mEE, (EY), 4 TPLE
[ &3, et o0z TARSEk, ( E7| 712 )t 2ol £t

PR SUMBTIEE ooooeeeeeemeees

Section 4 Paraphrases /a4 e/ EX4 FoAEH

[¥EX| (2 [AE. AFMIC] WO EKRT M1

Wob] H—F. BHERIIEW, [4 EEEX] &
[WwWobl] LVEE. BEHFPEV, 2. 3E
IRICEKR T, EZAEWVWIT &

FEE means AE. HE/IC ( regularly, on a daily basis ), so
the best answer is (1) LW 26 . Answer (4) & £ £ # implies a

lesser frequency of occurrence than L 2% , while answers (2)
and (3) both mean recenily.

MR MRER THIE. BEMIC (B, T, S8
B0 | 52 ERERE. SNEHI L8 5M0D%;
AR, REEL. SNSRI R ERAHR, B
Rl 2.

TER, STHE, ARNKC, ("4, 4oz ) ele 2ol
2T Vo4&, 7k 7HE ool7h 7HZch.T4 &EEE, =TV
2%, Bt BT S50 Ech. 2, 32 Hel AR iz 2
&olgte= =olct.

SEMBARTUVY., [EEI B HLEILTX

R3] DEIC EBRCES>TRTEEICR [T
ZhT2), RUBBIZEECR [2 Frv7y
T3] #E,

The best answer is (2) ¥ 1 v 7 ¢ %, meaning to check
something by looking through it. While confusing, answer (3)
7 A ;7 % means to test something by actually using it, as in
B E D E ST X T B (to make sure the machine
works ).

B R BRRELEE, BE (BENEHIHEIRLT A
15| (B —TURETIERE) 28, EEFEFREITHY
BHEMR 7 A RT3, maEETHARRHMERN R 8 e
(Frwiddl

33 E27| e, "BRAB<AESHATANTDI(2IAH
7t S5et=X| HAESICH) 2 Z0] ME2 AHE8t0] A|TE
molle FFARTS, B gelgmosr2 FIv o493,
g &},

28 &l 1k [FRr»» 3] EVWIBKRT. [2

| PEROLEKRMEIV. [1 Hk] BRFZ
phECBIELEEVWEF (3 TF] BEFTHE
Ko, [4 Bl BELEVEVLD B,

&% means FE#H »* H B ( troublesome or bothersome ), so
the best answer is (2) #8%%# . Answer (1) Hi%k means plain or
subdued, answer (3) FF means not good at doing some-
thing, and answer (4) f&f% means dangerous.

(EfE) MERE TFHSYDD ) (B, SE R EHE)
HMEBECHH. % (k) BYEIER I A 2R
FIEM (FF) MEEBARE, MEPNER Mk 0
BRAfER

"Ef. & TFRAF AR, (07 ECH) e o0IR, T2
#a, 7F obE olofp) b T sk, £ SRS Rl dT =
o =lx| gt= 2%, 73 TF, = & otx| 2,4 Sk, 2
Hestct= elojolct.

I [(B2%) bIUB] BALEBIET. [2

pe <] FERHRENSEN, [4 (52%E) 193]
REFLTBZE, 1. 3RBBREIIZE,

(&% ]H I3 means to profit or make a lot of money, so
the best answer is (2) A*t <, to earn money. Answer (4) [ &
& % ] /=% % means to save money, while answers (1) and (3)
mean to pay money.
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(HeE)E511%, £ 2 ES HE U222 T2 HE<,
ol ojupt HALL. T4 (B8 ) £HD, EXMIHER. 1,
32 Eg xEdE A,

(2] BFTHIWVBRADEI ISV E, K

FCMASLNEHF BN EE [FFE] 0D
[3 FI|3BETHE T RMER4 8%,
[BFofF| & [FIIESHEE] REDETRA
THEI I

2 7F means surplus, such as when revenue exceeds
expenditures. The opposite situation, in which expenditures
exceed revenue, is referred to as F=¥( deficit ). The best

answer is therefore (3) Fll&&, which means profit. The opposite
of this word is answer (4) 8% ( loss ). It is worth memorizing






